Mechanically Jointed Rodless Cylinder

Series Y1

A

High

Accuracy

S High Rigidity
High Precision Guide Type

Series MY1THT

d

High Precision Guide Type

Series MY1H

Cam Follower Guide Type

Series MY1C

Slide Bearing Type

Series MY1IV

== Allowable moment Large JIE=—
Series MY1B

Five guide models allow a wide range of selections



Minimum siz:

e
cricsilV

_ Sarizs W71 B _ Sarizs WY1 j‘/j

Can be combined with a variety of guides to Integral guide allows use in a wide range of
acconfmate nditions. .
Simple design without guide . -

conveyor systems.
facilitates space savings.

) Me m load
Bas‘ type &> &)

™ e

Basic t

My1B

1 MY1B106 - 200 4

' Even when equipped
with a floating
bracket, the heightis | &
only 28.5 mm.

5

Simple guide

type allows direct
mounting of

work pieces.

Wide variations from
@ 10to @ 100

Series variatic

Series Guide

MY1B ]

= 1
Cam Follower Guidetype 5=/ /// /] | High Precision Guidetype 5<.r7=-5 1)/ /1 [~/

Makes smooth operation possible even with an Small and medium sizes @ 10 to @ 40 are ideal MY1M . o

off-set load. \ for pick & place. _' —
=, 4

C High precision type P MY1C I _C

MY1H |
MY1HT ;.

Uses a linear

- //l>\>/|oment R [ -3‘ S ‘ guide to achieve —
b high accuracy @ | S E— high repeatability |
e and long strokes et a p;g =
o ._ i
. N2 ¥

D ... i-.c; 710

High load, high moment and high precision
Ideal for transfer and pick & p f high load
work pieces

High precision in guide type

Higher load
I work pieces
{ can be
accommodated
by using two
linear guides.

Stroke availability
Strokes are selectable in
1mm units.

Stroke adjusting unit

Stroke Adjusting is possible
on one side or on both sides.
* Adjusting bolt

Centralised piping

Piping ports are
concentrated on one side.

Side support

Prevents cylinder tube
deflection in long strokes.

* Low load shock absorber + Adjusting bolt (L unit)
* High load shock absorber + Adjusting bolt (H unit)

Interchangeability

The bodies and work piece

mountings are interchangeable

between series MY1M and MY1C.

O
2




e of @ 10 introduced to series MY1B/MY1H.
Height 27mm

/pe

10

High precision guide type 75§

my1iH10

[ N ) ” [ MY1H100 - 200H

n = T eam U uacomss [T D
‘E = | QM sem O
. _—
- — @® [
A The stroke adjusting unit (H unit) does not
@_) protrude above the table height.
Bore size [mm] Air ag‘&g{:ﬁ Side
Nete) 10 16 20 25 32 40 50 63 80 100 cushion | *UEM9 | support
q Note 2)
Basic o W o W </ J -~
Slide bearing o W W W - - o/
i Centralised
am follower guide piping wh W v V@ > / o/
Standard
gh precision guide e -l - ) ) )
High rigidity
igh precision guide o, @ o > —

Note 1) @ 10 is available with central piping only. Note 2) @ 10 is available with rubber bumper only.

Uses two linear guides.

7 Max. load weight 320kg (@ 63)

series MY1H.
High rigidity/High precision guide type

my1HT50, 63

& @ -
The cylinder can be replaced .-~ a I
without disturbing the .-~ -~ " @
Eyebolt mounting T work piece 1>35e7” g )

Dimensions same as
standard

Can be locked on one
side or on both sides

threads are standard

for convenient
installation

Using eyebolts

P

“

Stroke adjusting unit
can be mounted

o

NoZe 9 .

q" 4 [~ 2

Centralised piping type
(standard)

Floating

bracket | End

lock Order made

Intermediate
strokes

Long strokes

Helical insert
threads

Dust seal band
NBR lining

Holder mounting
bracket

End lock type introduced to

. o
- P,

*:7//’ 2 -

Lock pin

Allows fine stroke control

®



Series MY1
Model Selection

Following are the steps for selecting the most suitable Series MY 1B to your application.

Standards for Tentative Model Selection

C%g'&%?r Guide type Standards for guide selection 25%55‘;&‘;’52{?}2;‘ Mz: Rolling o
MY1B |Basic Guaranteed accuracy not required, generally combined with separate guide | ~ Refer to page 10 X Wh: Pliching
MY1M |Slide bearing Slide table accuracy approx. 0.12 mm Note 2) Refer to page 34

MY1C |Cam follower guide | Slide table accuracy approx. 0.05 mm Note 2) Refer to page 54

MY1H |High precision guide | Slide table accuracy of 0.05 mm or less required Nete 2) Refer to page 74

MY1HT | High rigidity/high precision guide | Slide table accuracy of 0.05 mm or less required Note 2) Refer to page 96

Note 1) Use as a standard when making selections regarding guide accuracy. Consult SMC when guaranteed accuracy is required for
MY1C/MY1H.

Note 2) Accuracy indicates displacement of the table (at stroke end) when 50 % of the allowable moment shown in the catalogue is
applied. (reference value)

Selection Flow Chart

Operating conditions
m: Load mass [kg] Mounting Orientation:

Reexamine operating conditions

V: Speed [mm/s] Accuracy:
P: Operating pressure [MPa]

U

Tentative selection of cylinder model

MY1B : Basic

MY 1M : Slide bearing

MY1C : Cam follower guide

MY1H : High precision guide

MY 1HT: High rigidity/high precision guide

@ Select a guide suitable
for the application.

Select larger cylinder size

Determination
of load
mm max

@OK

Determination of
allowable moment
[Zogt

@OK

[Examine cushioning]

Change guide type

Select larger cylinder size

Change guide type

at end of stroke

Select larger cylinder size

N

(]

External*
cushioning
unit

OK @OK HOK OK

Examine port variations and <
auto switch mounting (model)

Stroke adjusting unit

Standard or centralised piping

@ + When using an external cushioning unit, we recommend installing a suitable unit near
the load's centre of gravity.

Model It is possible to select all models of mechanically jointed rodless cylinder (series MY 1)
determination according to the procedure indicated above.

Refer to the separate instruction manual for further explanation, and consult SMC
regarding any questions.

SVC

O



Model Selection Series M Y1

Types of Moment Applied to Rodless Cylinders

Multiple moments may be generated depending on the mounting orientation, load and position of the centre of gravity.

- Z
Coordinates and moments 1 )
| Ms: Yawing
N\

Mi: Pitching

=

X M:: Rolling

Static moment

Horizontal mounting

Wall mounting

Mounting orientation| Horizontal Ceiling Wall Vertical
Static load m m1 ma2 ms myg Note)
‘é Mi mixgxX|mzxgxX —_— mixgxZ
<]
1S M: mixgxY mxgxY msxgxZ —
2
©
& M —_— —_— msxgxX | msxgxyY
Note) mais a mass movable by thrust. Use 0.3 to 0.7 times the thrust (differs depending
on the operating speed) as a guide for actual use.

g: Gravitational acceleration

Dynamic moment

Oh:!gﬁgg?n Horizontal| Ceiling Wall Vertical
Dynamic 1.4
load FE —100 xvaxmnxg
M-E 1 xFexz
Qo 3
§ GEJ Mz | Dynamic moment Mz does not occur.
s ©
€
e Mse ;— xFEXY

Note) Regardless of the mounting orientation, dynamic moment
is calculated with the formulae above.




Series MY1

Calculation of Guide Load Factor

[1] Operating conditions

Operating cylinder ............ MY1H40-500 >
Average operating speed va ... 300 mm/s 3
Mounting orientation .......... Wall mounting Whb: MGGLB25-200 (4.35kg)

MY 1H40-500 2

<> 4. Vertical x
We: MHL2-16D1 (795g) mounting
y
Wa: Connection plate t = 10 (880g) Wad: Work piece (500g)

Refer to the pages above for actual examples of
calculation for each orientation.

[2]Load blocking

42.5 150 Work piece mass and centre of gravity
5 65 -
Center of gravit
_Work Mass : g y -
n piece no. mn X-axis Y-axis Z-axis
T z Whn Xn Yn Zn
] - | | = Wa 0.88 kg 65 mm 0 mm 5mm
- Tyo Wb 435k 150 mm omm | 42.5mm
vigg g s 9
— Y We 0.795kg | 150 mm 111 mm 42.5 mm
- il E] wd 0.5 kg 150 mm 210 mm | 42.5mm
L n=a,b,c,d

[3] Calculation of composite centre of gravity

ms = Xmn
=0.88 +4.35+ 0.795 + 0.5 = 6.525 kg

_ 1
X ——mSXZ(mnXXn)

1

=6.1525(
Y =WSXZ(mnxyn)
1

~6.525
Z =—1x2(mnx2n)
ma

— 1 (
~6.525

0.88 x 65 + 4.35x 150 + 0.795 x 150 + 0.5 x 150) = 138.5 mm

(0.88x0+4.35x0+0.795x 111 + 0.5 x 210) =29.6 mm

0.88x5+4.35x42.5+0.795 x42.5 + 0.5 x 42.5) = 37.4 mm

@ Calculation of load factor for static load

mas: Mass
ma max (from 1 of graph MY1H/mM3z) =50 (KQ) +..uvuvviveiiiiiie e
Load factor o1 = ms /ms max = 6.525/50 = 0.13

M2: Moment
Mz max (from 2 of graph MY 1H/M2) = 50 (N-M) ...oonininiiie e ee e
Mz=msXgXZ=6.525x 9.8 X 37.4 x 10 = 2.39 (N-m)
Load factor oz = M2/M2 max = 2.39/50 = 0.05

O
2



Model Selection Series M Y1

Ms: Moment

[5] Calculation of load factor for dynamic moment

@ Sum and examination of guide load factors

Ms max (from 3 of graph MY 1H/Ms) = 38.7 (N-M) ...
Ms=msxgxX=6.525x9.8x 138.5x 107 =8.86 (N-m)
Load factor 0z = Ms/Ms max = 8.86/38.7 = 0.23

Equivalent load FE at impact

__14 __14 =
FE= 100 xvaxgxm= 100 x 300 x 9.8 x 6.525 = 268.6 (N)

M-E: Moment
M+E max (from 4 of graph MY1H/M1 where 1.4va = 420 mm/s) = 35.9 (N-m)
MiE = % x FEXZ = —+— x 268.6 x 37.4 x 10 = 3.35 (N-m)

3
Load factor 0ls = M1E/M1E max = 3.35/35.9 = 0.09

MsE: Moment

MaE = 1T xFEXY = ;— X 268.6 X 29.6 x 107 = 2.65 (N-m)

Load factor 05 = MsE/Mst max = 2.65/27.6 = 0.10

20l =0l + Oz + O3 + Ol4 + Os = 0.601

The above calculation is within the allowable value and the selected model can be used.

Select a separate shock absorber.

In an actual calculation, when the sum of guide load factors Za in the formula above is more than 1, consider decreas-
ing the speed, increasing the bore size, or changing the product series. Also, this calculation can be performed easily
with the "SMC Pneumatics CAD System".

Load mass Allowable moment
MY1H/ms MY1H/M: MY1H/M: MY1H/Ms
= T
1 2\ |
50 = 50 = 50 = 50 3
40 ‘ 40 4 40 40 | |
S m— " 30 (
30 30 30 (== = ol -k‘
0 20
20 i 20
20 i\
?\ 10 MY1H40 '
10 T MY1H40 e e 10
i
MY MYTHA0
§ 10 N\ N\ N_[MY1H40 = 1 e = 5 MY1H257 I MY1H32
2 vtz A 5 z 4 S s
g / = 4 O MY1H25 - 3 MY1H20 = 4 . MY]H25
£ N 5 H 5 I3
g MY1H25 5 3 X E o g W
S 5 ‘ = \ = =
4 j 2 : Y1H20 2 - MYTH20
s MY1H20 [ 1 MYHi6 H
L] m
‘ 1 1 1
5 MY1H16 1 0.5
m ;
MY1H10 = MY1H16 0.4 i MY{1H16
05 L 03 A 05 .
0.4 r 02 0.4
1 0.3 d 03 -
L] ]
02 o MY1H10 o 02 MY1H10
100 200 300400500 1000 1500 100 200 300400500 1000 1500 100 200 300400 500 000 1500 100 200 300400500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s]

O
2



\)



Series MY 1 B

Minimising the unit size (dimensions)
and combination with other guides is
possible.

Bearing




series MY1B Prior to Use

Maximum Allowable Moment/Maximum Load Mass

Model Bore size Maximum allowable moment [N-m] Maximum load mass [kg]
[mm] M1 M2 M3 m1 m2 m3
10 0.8 0.1 0.3 5.0 1.0 0.5
16 2.5 0.3 0.8 15 3.0 1.7
20 5.0 0.6 1.5 21 4.2 3.0
MY1B 50 78 9.3 23 70 14 20
63 160 19 48 83 16.6 29
80 315 37 95 120 24 42
100 615 73 184 150 30 60

The above values are the maximum allowable values for moment and load. Refer to each graph
regarding the maximum allowable moment and maximum allowable load for a particular piston speed.

Caution on Design

We recommend installing an external shock absorber when the cylinder is combined with
another guide (connection with floating bracket, etc.) and the maximum allowable load is
exceeded, or when the operating speed is 1000 to 1500 mm/s for bore sizes @ 16, @ 50, @ 63,
@ 80 and @ 100.

Load mass (kg)

m

: / »

m2
Moment (N-m) me
Fi1 M1=F1x L1 F2 < M2=F2xL2 F3 < M3=F3x L3
hr = 3
—
] B [T | ]
L | L]

<Calculation of guide load factor>

1. Maximum allowable load (1), static moment (2), and dynamic moment (3) (at the time of impact with
stopper) must be examined for the selection calculations.
* To evaluate, use Va (average speed) for (1) and (2), and 'V (collision speed U = 1.4 'Va) for (3). Calculate mmax
for (1) from the maximum allowable load graph (m1, mz, ms) and Mmax for (2) and (3) from the maximum allowable
moment graph (M1, Mz, Ms).

Sum of guide
load factors

Load mass [m] Static moment [M] ® N Dynamic moment [Me] @

" Maximum allowable load [mmax] ~ Allowable static moment [Mmax] " Alowable dynamic moment [Memax]

Note 1) Moment caused by the load, etc., with cylinder in resting condition.
Note 2) Moment caused by the impact load equivalent at the stroke end (at the time of impact with stopper).

Note 3) Depending on the shape of the workpiece, multiple moments may occur. When this happens, the sum of the

load factors (Zay) is the total of all such moments.

2. Reference formula [Dynamic moment at impact]
Use the following formulae to calculate dynamic moment when taking stopper impact into
consideration.

m: Load mass (kg)
F: Load (N)
!:)EZ Load equivalent to impact (at impact with stopper) (N)
a: Average speed (mm/s -
M: Static?norgent (I(\Lm) ) & ngper cosfflclent
Note 4) With rubber bumper = 4/100
V=14 U&e(sr)nm/s) Fe=1.4"Va--m-g (MY1B10, MY1H10)
~Me = -LFe Li = 457 VadmL, With air cushion = 1/100
3 With shock absorber = 1/100
g: Gravitational acceleration (9.8 m/s2)

"V: Collision speed (mm/s)
L+: Distance to the load’s centre of gravity (m)
Me:Dynamic moment (N-m)

Maximum Allowable Moment

Select the moment from within the range
of operating limits shown in the graphs.
Note that the maximum allowable load
value may sometimes be exceeded
even within the operating limits shown in
the graphs. Therefore, also check the
allowable load for the selected
conditions.

Maximum Load Mass

Select the load from within the range of
limits shown in the graphs. Note that the
maximum allowable moment value may
sometimes be exceeded even within the
operating limits shown in the graphs.
Therefore, also check the allowable
moment for the selected conditions.

Note 4) 1.4Vas is a dimensionless coefficient for calculating impact force.
Note 5) Average load coefficient (= %): This coefficient is for averaging the maximum load

moment at the time of stopper impact according to service life calculations.
3. For detaild selection procedures, refer to pages 12 and 13. /

10

O
2

V
—
m FE
a Me
=1
| S—
O
/



Prior to Use Series M Y1B

MY1B/M+ MY1B/M2 MY1B/Ms
200
500 AN 50 ~ N
400
300 40 N 100 E\ No
200 AN 30 < \\ N
N \\ 20 \\ \\ 50 N\ \\
U A 40 AN N
100 L N [ ] N \\ \ 30 N \\ N
= MVIB100] 10 NN B0 . N TN Ywvisioo
~N N N AN N N N
50 < N ~ N
N\ AT N N
3 Bt ; NS MY{1B80’ N N \ MY1B80
\\ \ 3 ‘\ \ | 10 N AN
— 20 MY1B63- — N N — AN
E y £ N MY1B63 € < YMY1B63
z \ z 2 N zZ s
10 MY:1B50- \ 4 N
= b MY1B50 T 3 MY1B50 |
) [} 1 [0}
E & £ £
o (e} o 2
s 4 N = =
3 SN 0.5
0.4 .
2 \\ y 0.3 ~t
AN 0.2 ™~
1 NG o2 A L
~ ~NMY1B20] N N ' N
05 N N 0.1 = - 0.3 \\
0.4 AN NS MY1B20]
03 { Nuvis16] 005 N ! 02 ( [Mv1B20
. |
0.2 J 0.04 MY[1B16 0.1 \ \Mv Ri6
MY1B10 0.03 \\ . Y1B16
01 0.02 NUMY1B10 0.06 NOMY1B10
100 200 300400500 1000 1500 100 200 300 400500 1000 1500 100 200 300 400500 1000 1500
Piston speed  [mm/s] Piston speed [mm/s] Piston speed [mm/s]
MY1B/m1 MY1B/m2 MY1B/m3
200 20
50
20 40
100 N N 30 \\
N \\ A\
N\ A N 20
N 10 NOS TN \\
ANN A N NN
50 N ANEINA NN
N \ ™ NN
40 \\ N N\, 10 N,
N NN N N AN
\ N NI\ N\ N N imv—|
30 \\\\ 5 N \\ \ \\ \\ MY1B100
N 4 MY1B100 N
3 NN N\ NN 5 N__IMY1B80
) 20 \\ \ MY1B100 '§, 3 N \\ MY;1B80 E’ \
= \ \\ MY1B80 = \ % = 4 MY1B63
" o \ MY{1B63 ” q
g N \ myiBes| | & N mviBso| | g MY1B50
5 0 N NMYiB50| | o \\\ 5 2
3 AN 3 N g
| | 1 N - \
\ N
5 \ N AVIAN 1 NN
4 N N N, N\ \\ N
\ X \ YMY1B20 N D
3 N 0.5 NC
N NMY1B20 | 0.4 MY;1B16 0.5 AN
\ 0.4 N N MY1B20
2 MY1B16 03 N 03 N N
N N N \
\\ 0.2 MY1B10 0.2 MY1B16
1 MY1B10 N
| 0.1 0.1 N mMy1B10
100 200 300400500 1000 1500 100 200 300400500 1000 1500 100 200 300400500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s]
11

N

SVC



series MY1B
Model Selection

Following are the steps for selecting the most suitable Series MY 1B to your application.

Calculation of Guide Load Factor

1. Operating Conditions

CyliNder «eeeeeeecmeusccmsiscnsuscncnsencnses MY1B50-500
Average operating speed Va ---- 300 mm/s

Mounting orientation «...cccceeeeeeeee Horizontal mounting
CUSQhION «cteceecectntantnninieniniinceiacnanns Air cushion

(8 =1/100) W: Workpiece (5 kg)

MY1B50-500

2. Load Blocking

1 1. Horizontal
mounting

z
A
|

2. Wall

mounting %’

4. Vertical
mounting |

Mounting Orientation

N
N\
\ el
444449 s

_______________________________

N

L v

<

24

For actual examples of calculation for each orientation,
refer to the pages above.

70

40

Mass and Centre of Gravity for Workpiece

Centre of gravity

Workpiece| Mass
no. m X-axis Y-axis Z-axis
w 5 kg 40 mm 40 mm 70 mm

3. Calculation of Load Factor for Static Load

m.: Mass
mimax (from (1) of graph MY1B/m1) = 47 (kg)
Load factor Olt = mi/m1max = 5/47 = 0.11

Mi: Moment

M: max (from (2) of graph MY 1B/M1) = 52 (N-MM)eeeeeeenernmniimmiiiiiiiiiiiiii s

Mi=mixgxX=5x9.8x40x10°=1.96 (N-m)
Load factor Oz = M«/M1max = 1.96/52 = 0.04

M2: Moment

M2 max (from (3) of graph MY 1B/Mz) = 6.2 (N-MM)--veeeveesreenmimnimiiiiiiiii

Ms=mixgxY=5x9.8x40x10°=1.96 (N-m)
Load factor Ols = M2/M2max = 1.96/6.2 = 0.32

12

O
2




Model Selection Series M Y1B

4. Calculation of Load Factor for Dynamic Moment

Equivalent load Fe at impact
Fe=1.4Vax§xmxg= 1.4x300x11ﬁx5x9.8=205.8(N)
Mie: Moment

M1e max (from (4) of graph MY1B/M1 where 1.4Va = 420 mm/s) = 37 (N-m)---c-eeeeeeene
Mie =%x FExZ =%x 205.8x 70 x 10° =4.81 (N-m)
Load factor Ols = M1e/M1E max = 4.81/37 = 0.13

Mse: Moment
Mse max (from (5) of graph MY1B/M3 where 1.4Va = 420 mm/s) = 11.0 (N-m)---ceeeeeeee
Mse =ix FExY =% X 205.8 x40 x 10° =2.75 (N-m)

3
Load factor Ols = M3e/Mse max = 2.75/11.0 = 0.25

5. Sum and Examination of Guide Load Factors

Soa=00+0L+0:+0L+0:=085<1

The above calculation is within the allowable value, and therefore the selected model can be used.

Select a shock absorber separately.

In an actual calculation, when the total sum of guide load factors o in the formula above is more than 1, consider either
decreasing the speed, increasing the bore size, or changing the product series. This calculation can be easily made using
the “SMC Pneumatics CAD System”.

Load Mass Allowable Moment
MY1B/m1 MY1B/M1 MY1B/M:2 MY1B/Ms
200 w0 N~ 200
400 28 100 N
300 N ~
100 N 00 N 30 N N N
AN
\\ < \\ ‘\\ 20 NG N 50 NP
N 40
\Y 1 100 ™ — NN\ 30 = N
50 = = M¥1B100 10 MY1B100] NN mvisroo
40 }\\ \ 50 F=— 2PN AN ! — \\l3'\\ N i 20 N ™
NN 20 e AT 4 ANTIRER -+ NS —] 5N
30 N o Sl ] 5 MY1B80 N MY1B80
N \\ 30 ‘ 4 N N { 104- - YN 1
= — N — — ~ 1
o MVAR: 3 )
2 2 NCN o] £ 20 T e g 3 N wviess € it ~NY1B63]
- \ N Ywviseo z i z 2 Z s b y ]
@ l\ | — 10 " my1Bso{ | _ = 2 h 1
g MY1B63 = £ MY{1B50 N MY1B50
10 \C NYiBeo] @ t o 1 @ T
o ANA' AEES € 5 " 1S £ , I
AN o 4 ] (s}
S = 5 I = 05 = !
N I
5 N 2 0.4 1
N I 0.3 N
4 A N
N NI\ 1 \_ N oz s N
3 N NV 1820 t S NN 04
| MY1B20] N y N
2 MY1B16- 0.5 1 it 0.1 S 0.3 N
. \ - WY{B20] N -
N 0.4 N Nuvists] 0.2 [ M¥B201
\\ 0.3 N 0.05 uvl1515 k \
It 0.04 MY{1B16-
1 MY1B10 02 \ Nmvigio o0 C f 01 : My1816)
0.1 I ‘ 0.02 N MY1B10 0.06 I MY1B10T—]
100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s]

SVC 13

O



Mechanically Jointed Rodless Cylinder
Basic Type

Series MY1B

010,016, 9 20, 9 50, 9 63, 9 80, @ 100

For bore sizes @ 25, @ 32 and @ 40,
refer to the catalogue on www.smc.eu.

How to Order

2O MY1B (20 -300]_ [-[M9BW| |-

Basic type lMade to Order
Bore size® Refer to page 15
for details.
[mm] Port thread type
10| 10mm Symbol | Type | Bore size Number of auto switches
16| 16mm — | Mthread | @10, @ 16, @ 20 — [ 2pcs.
20| 20mm Rc S 1oC
pc.
50| 50 mm TN NPT g ?gog 63,080, n 0" pes.
63| 63mm TF G
80| 80mm .
ipi o Auto switch
100/ 100 mm Piping
— Standard type [ — [Without auto switch (Built-in magnet) ]
G Centralised piping type For @ 10 cylinders without an auto switch, the cylinder
Note) For @ 10, only G is available. configuration is for the reed auto switch.
' Contact SMC when the solid state auto switch is
Cylinder stroke [mm]® retrofitted.
Maximum Applicable auto switches vary depending on the
Bore size [mm] Standard stroke [MH* manufacturable bore size. Select an applicable one referring to
stroke [mm] the table below.
10, 16 100, 200, 300, 400, 500, 600, 700 3000
20, 50, 63,80 | 800, 900, 1000, 1200, 1400, 1600 5000 ® Stroke adjustment unit symbol
100 1800, 2000 Refer to “Stroke adjustment unit” on page 15.

# The stroke can be manufactured up to the maximum stroke from 1 mm stroke in 1 mm in-
crements. However, when the stroke is 49 mm or less, the air cushion capability lowers
and multiple auto switches cannot be mounted. Pay special attention to this point.

Also when exceeding a 2000 mm stroke, specify “-XB11” at the end of the model number.
For details, refer to the “Made to Order Specifications”

Applicable Auto Switches/refer to pages 107 to 117 for further information on auto switches.

Electrical =3 Load voltage Auto switch model Lead wire length (m) B
Type| Special function entry E Wiring (Output) DC AC Perpendicular In-line 05(1[3]|5 — Applicable load
E 0100020050100 100[0 1010020]0 50100 100] (—) | (M) | (L) | (2)
) MONV** MON** o
3- NPN
wire (NPN) [Y69A] ivsoal | ® |—|®|© .
5V,12V o oy IC circuit
— 3-wire (PNP) L mop o ®lelo| O
[Y7PV] [Y7P] ]
. M9BV** M9B** (]
< R _
S 2-wire 12v [Y69B] ivseBl | ® |- ®|C| °
2 MONWV** MONW** ( J
= i
o Bwire (NPN) SV 12 yonwvl | tyonws | @ |—[®]C] © |
= |Diagnostic indication ) ' MOPWV** MOPW** ) Relay,
T . _ ,
© | (2-colour indication) Grommet |Yes| 3-wire (PNP) | 24V [Y7ZPWV] [Y7PW] ) — @ O| O PLG
2 MOBWV** M9BW** ®
7] Wi -
o Zwire 12V [Y7BWV] vzew | ® |—|®|©] ©
-_— Rk Ak
& 3-wire (NPN) Mg"fﬂ}’*‘ MQM*‘ olo|e|0| O
5V,12V = IC circuit
Water resistant 3-wire (PNP) MOPAV: MOPA %} ololelol o circui
(2-colour indication) [—] [—]
. M9BAV] M9BA i
2-wire 12V O —
) tyzea, | ©|©/®©]©
£ dwire | _ | 5y | — |A96V| — | A9 |z76 | @ |—|@|—| — |cCcicut| —
?E Grommet Yes| (NPN equivalent)
€ o I oav | 1oy | 100V [A93V#2] — | A93 [ Z73 | @ (@ (@ @] — — | Relay,
3 No 100Vorlessf A9OV | — A90 | 7280 | @ |— |®|—| — |ICcircuitf PLC
=1 Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
=2 1 m type lead wire is only applicable to D-A93.
# Lead wire length symbols: 0.5 m ---eee — (Example) MONW x  Solid state auto switches marked with “O” are produced upon receipt of order.
Tm e M (Example) MONWM x Separate switch spacers (BMG2-012) are required to retrofit auto switches (M9 type) on cylinders
- L (Example) MONWL @ 63 to @ 100.
Z (Example) MONWZ «x D-MOOOD type cannot be mounted on @ 50. Select auto switches in brackets.

= There are other applicable auto switches than listed above. For details, refer to page 115.
# Auto switches are shipped together (not assembled).

14



Mechanically Jointed Rodless Cylinder

Series MY1B

Basic Type
Specifications
Bore size [mm] 10 | 16 | 20 | 50 | 63 | 80 [ 100
Fluid Air
Action Double acting

Operating pressure range | 0.2 to 0.8 MPa [ 0.15t0 0.8 MPa [ 0.1t0 0.8 MPa
Proof pressure 1.2 MPa
Ambient and fluid temperature 5to 60 °C
Cushion Rubber bumper [ Air cushion
Lubrication Non-lube
+1.8
Stroke length tolerance 1000 orless o/ 2700 or less 4%, 2701 to 500058
. . 1001 to 3000 5
Rubber bumper Air cushion
Piping | Front/Side port M5 x 0.8 Rc 3/8 Rc 1/2
ade 10 e Port size | Bottom port g4 @10 18
Méter | Made to Order: Specifications P
(Refer to page 118 to 120 for details.) Piston Speed
Symbol Specifications Bore size [mm] 10 16, 20, 50 to 100
-X168 | Helical insert thread specifications Without stroke adjustment unit 100 to 500 mm/s 100 to 1000 mm/s
-XB11 | Long stroke type Stroke A unit 100 to 200 mm/s 100 to 1000 mm/s "
-XB22 | Shock absorber soft type Series RJ type adjustment unit | L ynit and H unit 100 to 1000 mm/s 100 to 1500 mm/s @
-XC67 | NBR rubber lining in dust seal band Note1) Be aware that when the stroke adjustment range is increased by manipulating the adjustment bolt, the
20- Cooper-free air cushion capacity decreases. Also, when exceeding the air cushion stroke ranges on page 18, the

Stroke Adjustment Unit Specifications

piston speed should be 100 to 200 mm per second.
Note2) The piston speed is 100 to 1000 mm/s for centralised piping.
Note3) Use at a speed within the absorption capacity range. Refer to page 17.

Bore size [mm] 10 16 20

Unit symbol A H A A L H
RB RB RB

Configuration With 0£_;+05 With With 0£_§+06 10+07

Shock absorber model adjustment with adjustment adjustment with with

bolt adjustment bolt bolt adjustment adjustment

bolt bolt bolt

Stroke adjustment Without spacer Oto-5 Oto-5.6 Oto-6

range by intermediate | With short spacer — — -5.6t0-11.2 -6to-12

fixing spacer [mm]

With long spacer — — -11.2t0-16.8 -12t0-18

Note) Intermediate fixing spacer is not available for @ 10.
= Stroke adjustment range is applicable for one side when mounted on a cylinder.

Stroke Adjustment Unit Symbol

Right side stroke adjustment unit

Stroke adjustment unit
mounting diagram

Stroke adjustment unit

Intermediate

o VVE q L: With low load shock absorber | H: With high load shock absorber
Without e Ol e et = + Adjustment bolt + Adjustment bolt
unit With short | With long With short | With long With short | With long
spacer | spacer spacer | spacer spacer | spacer
= Without unit — SA SA6 | SA7 SL SL6 | SL7 SH SH6 | SH7
.Z A: With adjustment bolt| AS A AA6 | AA7 | AL AL6 | AL7 | AH | AH6 | AH7
g With short spacer | A6S | ABA | A6 | AGA7 | A6L | A6L6 | A6L7 | A6H | A6H6 | A6H7 | Example of H6H7 attachment
7 With long spacer | A7S | A7A | A7A6 | A7 | A7L | A7L6 | A7L7 | A7H | A7H6 | A7H7 | | [Leftside]
S[L: With low load shockabsorber+ | LS | LA | LA6 | LA7 | L | LL6 | LL7 | LH | LH6 | LH7 ghﬂts — EO‘;”"S —
% ﬁ:llt”“mem With short spacer| L6S | L6A | L6A6 | L6A7 | L6L L6 | L6L7 | L6H | L6H6 | L6H7 P 9 V
z With long spacer | L7S | L7A | L7A6 | L7A7 | L7L | L7L6 | L7 L7H | L7H6 | L7H7 N
-8 |H: With high load shock absorber +| HS HA | HA6 | HA7 HL HL6 | HL7 H HH6 | HH7 —
;'._.’ ﬁ:llt”s‘me“‘ With short spacer| H6S | H6A | H6A6 | HGA7 | H6L | H6L6 | H6L7 | H6H H6 | H6H7 Port Port
3 With long spacer | H7S | H7A | H7A6 | H7A7 | H7L | H7L6 | H7L7 | H7H | H7H6 | H7
= Spacers are used to fix the stroke adjustment unit at an intermediate stroke position.
Shock Absorbers for L and H Units Shock Absorber Specifications
Stroke Bore size [mm] RB RB RB
Model R 0 Model 0805 | 0806 | 1007
Standard L _ RBO806 Max. energy absorption [J] 1.0 2.9 5.9
Shock absorber/ i
( R conom) m RBOBOS RB1007 Stroke al:.ns.orptlon [mm] 5 6 7
Max. collision speed [mm/s] 1000 1500 1500
Shock absorber/ L — RJ0806H : :
soft type RJ series Max. operating frequency [cycle/min] 80 80 70
mounted (-XB22) H RJ0805 RJ1007H _ Extended 1.96 1.96 4.22
* The shock absorber service life is different from that of the MY1B cylinder depending Spring force [N] Retracted 3.83 4.92 6.86
on operating conditions. Refer to the RB Series Specific Product Precautions for the . . - - -
replacement period. Operating temperature range [°C] 510 60

= Mounted shock absorber soft type RJ series (-XB22) is made to order specifications.

* The shock absorber service life is different from that of the MY 1B cylinder depending

on operating conditions. Refer to the RB Series Specific Product Precautions for the

replacement period.

15



Series MY1B

Theoretical Output Weight
_—
[N] [kg]
Bore size | Piston area Operating pressure [MPa] Additional Side support . .
mm] | mm) 02 [ 03 | 04 | 05 ] 06 07 | 08 Bore | gaqo | Weight | Weight [bracke wegh Strevkeeig‘i]‘f't’;é’:‘ﬁﬁt)“””
10 78 15 23 31 39 46 54 62 size | o ght | PSr each [of moving|  (per sef)
16 200 40| 60| 80| 100| 120] 140/ 160 [mm] S0mm | parts | Type A | Aunit | Lunit | Hunit
20 314 62| 94| 125| 157 188| 219] 251 ofistioke andB | weight | weight | weight
50 1962 | 392| 588| 784 981| 1177| 1373| 1569 10 | 0.15| 004 | 0.03 | 0.003 | 0.01 — 0.02
63 3115 | 623| 934| 1246| 1557| 1869] 2180| 2492 16 | 061 | 006 [ 007 [ 0.01 0.04 — —
80 5024 | 1004| 1507 | 2009| 2512| 3014| 3516] 4019 20 | 106 | 010 | 0.14 | 0.02 0.05 | 0.05 | 0.10
100 7850 | 1570| 2355| 3140| 3925| 4710] 5495| 6280 50 | 778 | 044 [ 1.40 | 0.04 — — —
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm?2) 63 | 13.10 0.70 2.20 0.08 — — —
80 [ 2070 | 1.18 [ 480 | 0.17 — — —
100 | 3570 | 1.97 | 820 | 0.7 — — —

Option

Calculation: (Example) MY1B20-300A

* Basic weight
e Cylinder stroke

* Additional weight
1.06 + 0.10 x 300/50 + 0.05 x 2 =2.17 kg

* Weight of A unit

Stroke Adjustment Unit Part No.

MY-A

Stroke adjustment unit—f

20(H2/-|6N

Bore size ®
10| 10mm Unit no.
16| 16 mm Stroke adjustment [Mounting
20| 20 mm Symbol unit position
Note) Stroke adjustment A1l ) Left
unit is not available A2 A unit Right
for @ 50, @ 63, @ 80 L1 Lef
and @ 100. L unit eft
L2 Right
H1 . Left
H2 H unit Right

Note 1) Refer to page 15 for details about
adjustment range.
Note 2) A and H unit only for @ 10, A unit only

llntermediate fixing spacer

Without spacer

6L]

Short spacer

7]

Long spacer

lSpacer delivery style

— Unit installed

N Spacer only

Stroke adjustment unit

= Spacers are used to fix the stroke adjustment unit at an
intermediate stroke position.

+ Spacers are shipped for a set of two.

Note) Intermediate fixing spacer is not available for @ 10.

Intermediate
fixing spacer

for@ 16
Component Parts
MY-A20H2 MY-A20H2-6 MY-A20H2-7 MY-A20H2-6N
(Without spacer) (With short spacer) (With long spacer) (Short spacer only)
P iShorl spacer
’( 3 MY-A20H2-7N
R =1 ) -A20H2-7
SO
'l(fé((((c (Long spacer only)
%M Long spacer
Side Support Part No.
Type Bore sze 10 16 20 50 63 80 100
Side support A MY-S10A MY-S16A MY-S20A MY-S32A MY-S50A MY-S63A
Side support B MY-S10B MY-S16B MY-S20B MY-S32B MY-S50B MY-S63B

For details about dimensions, etc., refer to page 28.
A set of side supports consists of a left support and a right support.

16

O
2



Cushion Capacity

Cushion Selection

Mechanically Jointed Rodless Cylinder
Basic Type

Series MY1B

Absorption Capacity of Rubber Bumper, Air Cushion and Stroke Adjustment Units

<Rubber bumper>

Rubber bumpers are a standard feature on
MY1B10.

Since the stroke absorption of rubber bum-
pers is short, when adjusting the stroke
with an A unit, install an external shock ab-
sorber.

The load and speed range which can be
absorbed by a rubber bumper is inside the
rubber bumper limit line of the graph.

<Air cushion>

Air cushions are a standard feature on
mechanically jointed rodless cylinders.
(Except @ 10.)

The air cushion mechanism is incorpo-
rated to prevent excessive impact of the
piston at the stroke end during high speed
operation. The purpose of air cushion,
thus, is not to decelerate the piston

near the stroke end.

The ranges of load and speed that air
cushions can absorb are within the air
cushion limit lines shown in the graphs.
<Stroke adjustment unit with shock ab-
sorber>

Use this unit when operating with a load or
speed exceeding the air cushion limit line,
or when cushioning is required outside of
the effective air cushion stroke range due
to stroke adjustment.

L unit

Use this unit when cushioning is neces-
sary outside of the effective air cushion
range even if the load and speed are with-
in the air cushion limit line, or when the
cyl-inder is operated in a load and speed
range above the air cushion limit line and
below the L unit limit line.

H unit

Use this unit when the cylinder is operated
in a load and speed range above the L unit
limit line and below the H unit limit line.

A\ Caution

1. Refer to the figure below when
using the adjustment bolt to per-

form stroke adjustment.

When the effective stroke of the shock
absorber decreases as a result of
stroke adjustment, the absorption ca-
pacity decreases dramatically. Secure
the adjustment bolt at the position
where it protrudes approximately 0.5
mm from the shock absorber.

Adjustment bolt

Shock absorber

2. Do not use a shock absorber togeth-
er with air cushion.

MY1 B1 0 Horizontal collision: P = 0.5 MPa MY1 B63 Horizontal collision: P = 0.5 MPa
T ] U
2000 ! i i
1500 __ 2000 i 1 r
by » 1500
g 1000 > € IIREMI
£ 5 £ T | £ 1000 i — N
= & N - T T (<
3 500 l/bb 8 d 1
2 400 s S 500 : g
2 300 e, c 400 T
S & 2 300
g 200 % ! i
S 8 =200 + i
(&) \ 1 I
100 ™ i i
80 100 L 4
005 0.1 0.2 03 0405 1 2 3 4 ; 10 3 5 10 20 30 50 100
m3max. m2max. mimax. m2 max.—T m3max. mimax.
Load mass [kg] Load mass [kg]
MY1 B1 6 Horizontal collision: P = 0.5 MPa MY1 B80 Horizontal collision: P = 0.5 MPa
T T T T T T
I I I I I I
2000 : : : 2000 —— :
» 1500 1500
€ I : 7 L] e
g, 1000 € 1000 ——r Shy
= ™~ 4]}.0 T é T T =on.
° T 1 T T T
3 : N Shio, : ° oo
S 500 : : ? : 2 500 ‘ ‘
@400 + + Q400
s | | ™ ] @ | |
S 300 ‘ ; 5 300 i i
% 200 i ; 2 ; R
(@] i | 3 200 i |
i i © i i
100 H H 100 0 b
05 1 T 2 3 45 10 T 20 30 10 20 f 30 ?50 100
m3 max. m2 max. m1 max. m2 max. m3 max. M1 max.
Load mass [kg] Load mass [kg]
MY1B20 Horizontal collision: P=05MPa ~ MY1B100 Horizontal collision: P = 0.5 MPa
— T T . T
I I I I I I
— e T
- 1500 — 5
2 TN | g L[ [Fe
1000 1000 Shy,
£ ~_ : £ ==s “on—
o T ™ g T T
2 —t KN, —+H ° + +
g 500 EEEEE Yot | § s00 T
@ 400 Tt 4 Tl & 400 ; ;
S 300 gyt | | & 300 —r
Kz v Olls‘ 2 i ]
= ! ! /7/ 0 1 1
5 200 i T 3 200 mmiE
o 1 1 (&) 1 1
I I I I
I I I I
100 L 100 L L
1 2 3 45 10 20 30 40 50 5 10 20 30 501 100 T
m3 max. T—mz max. m1 max. m2 max. m3 max. m1max.
Load mass [kg] Load mass [kg]
MY1 B50 Horizontal collision: P = 0.5 MPa
— T
I I I
2000 — }
7 1500 — ‘
£ 1000 N ;
= — S,
- — T
[} T T T~
2 500 —
@ 400 —
S 300 —
2 | |
S 200 —
o | |
I I
I I
100 S
2 3 5 10J 20 30 50 1 100
m2 max. m3 max. m1 max.
Load mass [kg]

17



Series MY1B

Cushion Capacity

Air Cushion Stroke [mm]

Tightening Torque for Stroke

/A\Precautions

Rubber Bumper (@ 10 only)
Positive Stroke from One End
Due to Pressure

1

0.9

0.8

0.7

0.6 gi
/

Bore size [mm] Cushion stroke Adjustment Unit Holding Bolts .,
16 12 Bore size [mm] Unit Tightening torque
20 15 10 A 04
50 30 H
63 37 16 2 0.7
80 40 20 L 18
100 40 H

Tightening Torque for Stroke Adjustment
Unit Lock Plate Holding Bolts (N-m]

Bore size [mm] Unit Tightening torque
20 H 1.2

Calculation of Absorbed Energy
for Stroke Adjustment Unit

0.5 /

Displacement mm

0.4 7

0.3 7

0.2 7

yd

0.1 7

0

0 01 02 03 04 05 06 07 08

Pressure MPa

18

with Shock Absorber [N-m]
Horizontal Vertical Vertical
collision  |(Downward)| (Upward)
Type of
impact
Kinetic energy
E1
ThrusItEeznergy F-s Fs + m-g-s | Fs—m-g-s
AbsorbeEd energy, Ei+Es
Symbol

V: Speed of impact object (m/s)

F: Cylinder thrust (N)

s: Shock absorber stroke (m)

m: Mass of impact object (kg)

g: Gravitational acceleration (9.8 m/s?)

Note) The speed of the impact object is measured at
the time of impact with the shock absorber.

O
2

A\ Caution

Use caution not to get your hands

caught in the unit.

* When using a product with stroke
adjustment unit, the space between the
slide table (slider) and the stroke
adjustment unit becomes narrow at the
stroke end, causing a danger of hands
getting caught. Install a protective cover
to prevent direct contact with the human
body.

Adjustment bolt

lock nut

Unit holding bolt

<Fastening of unit>
The unit can be secured by evenly
tightening the four unit holding bolts.

/\ Caution

Do not operate with the stroke
adjustment unit fixed in an
intermediate position.

When the stroke adjustment unit is fixed in
an intermediate position, slippage can
occur depending on the amount of energy
released at the time of an impact. In such
cases, as a stroke adjustment unit with the
spacer for intermediate securing is
available, it is recommended to use it.

(Except @ 10)

For other lengths, please consult with
SMC (Refer to “Tightening Torque for
Stroke Adjustment Unit Holding Bolts”.)

<Stroke adjustment with adjustment bolt>
Loosen the adjustment bolt lock nut, and
adjust the stroke from the lock plate side
using a hexagon wrench. Retighten the
lock nut.

<Stroke
absorber>
Loosen the two lock plate holding bolts,
turn the shock absorber and adjust the
stroke. Then, uniformly tighten the lock
plate holding bolts to secure the shock
absorber.

Take care not to over-tighten the holding
bolts. (Except @ 10 and @ 20 L unit.) (Refer
to “Tightening Torque for Stroke Adjustment
Unit Lock Plate Holding Bolts”.)

Note)

Although the lock plate may slightly bend
due to tightening of the lock plate holding
bolt, this does not a affect the shock
absorber and locking function.

adjustment with shock



Mechanically Jointed Rodless Cylinder .
Basic Type Series MY1B

Construction: @ 10

Centralised piping type: MY1B10G

Component Parts

No. Description Material Note No. Description Material Note

1 Cylinder tube Aluminium alloy Hard anodised 15 | Belt clamp Special resin

2 Head cover WR Aluminium alloy Painted 20 | Bearing Special resin

3 Head cover WL Aluminium alloy Painted 21 Spacer Chromium molybdenum steel Nickel plated
4 Piston yoke Aluminium alloy Hard anodised 22 | Spring pin Stainless steel

5 Piston Aluminium alloy Chromated 23 | Hexagon socket head cap screw | Chromium molybdenum steel Nickel plated
6 End Cover Special resin 24 | Round binding head crew Carbon steel Nickel plated
7 | Wearring Special resin 25 | Slotted set screw Carbon steel Black zinc chromated
8 Bumper Polyurethane rubber 26 | Hexagon socket head plug Carbon steel Nickel plated
9 Holder Stainless steel 27 Magnet —

10 | Stopper Carbon steel Nickel plated 28 | Top plate Stainless steel

11 | Belt separator Special resin 29 | Head plate Stainless steel

12 | Seal magnet Rubber magnet 30 | Felt Felt

Replacement Part: Seal Kit

No. Description Qty. MY1B10

13 | Seal belt 1 MY10-16A-[Stroke
14 | Dust seal band 1 MY 10-16B-|Stroke
16 | Scraper 2

17 | Piston seal 2 MY1B10-PS
18 | Tube gasket 2

19 | O-ring 4

= Seal kit includes (6, 7, (8 and 9.
Seal kit includes a grease pack (10 g).
When @3 and @ are shipped independently, a grease
pack is included. (10 g per 1000 strokes)
Order with the following part number when only the
grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)

SVC 19

O



Series MY1B

Construction: @ 16, @ 20, @ 50 to @ 100

MY1B16, 20, 50 to 100

-

105 ] 1
I et e <

=

AR

MY1B16/20

MY1B80/100

20

Z;SVIC



Mechanically Jointed Rodless Cylinder

Series MY1B

Basic Type
MY1B16, 20, 50 to 100
Component Parts
No. Description Material Note No. Description Material Note
1 | Cylinder tube alloy Hard anodised 26 | Magnet —
2 | Head cover WR Aluminium alloy Painted 28 | Top cover Stainless steel
3 | Head cover WL Aluminium alloy Painted 29 | Hexagon socket head taper plug | Carbon steel Nickel plated
4 | Piston yoke Aluminium alloy Anodised . Painted
5 | Piston Aluminium alloy Chromated 36 | Head plate Aluminium alloy (@ 63 t0 @ 100)
Special resin 37 | Backup plate Special resin (9 80, @ 100)
6 | End cover Nickel plated 38 | Guide roller B Special resin (@ 80, @ 100)
Carbon steel (@ 80, @ 100) 39 | Guide roller A Stainless steel (@ 80, @ 100)
7 | Wear ring Special resin 40 | Guide roller shaft B Stainless steel (@ 80, @ 100)
8 | Cushionrin Aluminium allo Anodised . - Hard anodised
5 T Gushion neetis Rollod steel Nickel plated 41 | Side cover Aluminium alloy ( 80, @ 100)
10 | Stopper Carbon steel Nickel plated 42 | Type CR retaining ring | Spring steel
11 | Belt separator Special resin 43 | Hexagon socket Chromium Nickel plated
12 | Guide roller Special resin (@16, @ 20, @ 50, @ 63) button head screw molybdenum steel (@ 80, @ 100)
13 | Guide roller shaft Stainless steel (916, @ 20, @ 50, @ 63) a4 Hexagon socket Chromium Nickel plated
Special resin button head screw molybdenum steel (9 80, @ 100)
16 | Belt clamp Aluminium alloy Chromated (@ 80, @ 100) 45 | Spacer B Stainless steel (9 80, @ 100)
17 | Bearing Special resin 46 | Seal magnet Rubber magnet (@ 80, @ 100)
18 | Spacer Stainless steel (916, @ 20, @ 50, @ 63) 47 | Lub-retainer Special resin (@16, @ 20, @ 50, @ 63)
19 | Spring pin Carbon tool steel
20 | Type E retaining ring | Cold rolled special steel strip | (& 50, @ 63)
21 | Hexagon socket head cap screw | Chromium molybdenum steel | Nickel plated
22 | Hexagon socket button head screw | Chromium molybdenum steel | Nickel plated
23 E::dags%rt] ssgg‘(;i Chromium molybdenum steel Elliiﬁglz;?;ggromated/
24 | Double round parallel key | Carbon steel (9 16, @ 20)
25 | Hexagon socket head taper plug | Carbon steel Nickel plated
Replacement Part: Seal Kit
No. Description Qty. MY1B16 MY1B20
14 | Seal belt 1 MY 16-16C-|Stroke MY20-16C-[Stroke|
15 | Dust seal band 1 MY16-16B-[Stroke MY20-16B-[Stroke
27 | Side scraper 2 — MYB20-15CA7164B
. KA00309 KA00309
34 | O-ring 2 [(04x018x011)| (B4xB18x01.1)
30 | Scraper 2
31 | Piston seal 2
32 | Cushion seal 2 MY1B16-PS MY1B20-PS
33 | Tube gasket 2
35 | O-ring 4
No. Description Qty. MY1B50 MY1B63 MY1B80 MY1B100
14 | Seal belt 1 MY50-16C-[Stroke MY63-16A-|Stroke MY80-16A-|Stroke MY100-16A-|Stroke
15 | Dust seal band 1 MY50-16B-[Stroke MY63-16B-|Stroke MY80-16B-[Stroke MY100-16B-|Stroke
27 | Side scraper 2 MYB50-15CA7165B | MYB63-15CA7166B | MYB80-15CK2470B | MYB100-15CK2471B
34 | O-ing 5 Lot KA00402 | KAo777 [ | KAOO0SO | KA0OO50
(©08.3xT45xD1.9) — —
30 | Scraper 2
31 | Piston seal 2
32 | Cushion seal 2 MY1B50-PS MY1B63-PS MY1B80-PS MY1B100-PS
33 | Tube gasket 2
35 | O-ring 4

%

%

Seal kit includes @0, 31, 32, 33 and 35. Order the seal kit based on each bore size.
Seal kit includes a grease pack (10 g).

When (4 and (5 are shipped independently, a grease pack is included. (10 g per 1000 strokes)
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
Note) Two kinds of dust seal bands are available for the MY1B16, 20, 50, 63. Since the part number varies depending on the treatment of the hexagon socket head
set screw 23, please check a proper dust seal band carefully.
A: Black zinc chromated —MYOO-16B-stroke, B: Nickel plated —MYOO-16BW-stroke

O

21



Series MY1B

Centralised Plplng Type 210 Refer to page 122 regarding centralised piping port variations.

MY1B10G — [ Stroke |

Floating bracket mounting thread
(2 x M3 x 0.5 thread depth 5)

24 -
B o 2 x @ 5 counterbore depth 2 5 1
/ 2xM5x0.8 >
: 1 < @
« A ’ ' 3 N (Port) \y . , 3 SN
o C ] . T A i -
| © ol & YN *(} Y« )
® & = ) o| & |
' Y - i Y
o A 1‘ 10 10 i i
15 ‘1 57 ~
85,] |5 55 -~ 12 8.5
_ 110 + Stroke | i
2xM5x0.8 2xM5x0.8
(Hexagon socket head plug) (Hexagon socket head plug)
30 50 4 x M3 x0.5depth 5 2 x 2 x @ 3.4 through-hole
g - Bottom side M4 x 0.7 depth 7
- 5.9 25 © 5.9 |
. (s} ;
Y & 1!
| ° hd - > = _ S ° | of ©
[ ° = B | N
) © ©- vy
0l 100 + Stroke -
_ 10 _ _ .10 _
<ﬂ @
N~ ~
/

i © i 2xM5x0.8

(Hexagon socket head plug)

22

O
2



Mechanically Jointed Rodless Cylinder .
Basic Type Series M Y1B

Standard Type/Centralised Plplng Type 016,90 20 Refer to page 122 regarding centralised piping port variations.
MY1B160/20 —

(Hexagon socket head plug)

2 x 2 x J depth K

x

-—
vV
2xM5x0.8 2xM5x0.8 .

(Hexagon socket head plug) (Hexagon socket head plug)

(Hexagon socket head plug)

XX

MY1BOG

M5 x 0.8

m Floating bracket mounting thread

(2 x JJ thread depth from bottom of counterbore KK)

LW M5 x 0.8 1
v (Port) —
| — =
T w ::5‘” £ | !
Z4Z _| [3)
! i (0|79t
x ad | | &[
- g'\ M5 x 0.8 Cushion needle GA| |
2xM5x0.8 G (Port) el 2xM5x0.8
(Hexagon socket head plug) M5 x 0.8 GB (Hexagon socket head plug)
A (Hexagon socket head plug) N
. Z + Stroke .
(LL) L J
B N PA 7‘4 x MM depth M 2 x 2 x @ B counterbore depth C
@ LD through-hole
& g% —
> [
E) 4 I
S — _m = = o o1 ST
—§ o © ° (¢] Y z
© @
& ] I G| !
PG Q + Stroke
el - -
[mm]
Model A B C E G |GA|GB| H J JJ K |KK| L |LD |LL |[LW | M MM N | NC | NE

MY1B161 | 80 | 6 3.5 2 |14 9 |16 37 |M5x0.8 |[M4x0.7 | 10 6.5 | 80 |35 | 40 30 M4x0.7 | 20 |14 27.8
MY1B20C1 [100 | 7.5 |45 2 [125 [125 205 | 46 |[M6x1 M4x0.7 | 12 |10 100 |45 | 50 37 8 |M5x08 | 25 [17.5 |34

o

[mm]
Model NH [NW |PA | PB | PC |PD |PG|PP| Q |[QQ QW | RR|SS | T TT |UU | VWV ([WW | XX | YH |[YW | Z

MY1B160 |27 37 |40 |20 |40 |45 |35 7.5 | 153 9 30 |11 3 7 9 |10.5 |10 75 | 22 |26 32 |160

MY1B20C1 |33.5 | 45 50 |25 |50 |5 45 |11.5 [191 | 11 36 |14.5 5 8 [10.5 |12 12.5 [10.5 | 24 325 | 40 (200

i

5

Bottom ported
(Applicable O-ring)

Hole Size for Centralised Piping on the Bottom
Model WX Y S d D R |Applicable O-ring
MY1B160 | 22 6.5 4 4 8.4 1.1

C6
MY1B20(] | 24 | 8 6 4 |84 |11
(Machine the mounting side to the dimensions below.)
z 23
S S\VC



Series MY1B

Standard Type/Centralised Piping

Type Q 50, Q 63 Refer to page 122 regarding centralised piping port variations.

MY1B5001/630 —

(Hexagon socket head

(Hexagon socket head
taper plug)

s 2 x 2 xJ depth K s
g =
o y f
© —— J O
‘{'— i =/ | ittt ST §
/’7

2xRc 1/4 2xRc 1/4

A
-

MY1BOG

(Hexagon socket head taper plug)

(Hexagon socket head taper plug)

Floating bracket mounting thread

MY1BOG

PC

(2 x JJ thread depth from bottom of counterbore KK)

LW 2 x@T counterbore depth E 1
IR P m— G Y g .
@ ZA
TIYZ] [ ﬁ‘ ) | (’V__ .
! A i
o [
£l & & [ [
I il Rc 3/8 Cushion needle G o
2xRc3/8 (Port) Rc 3/8 GB| 2xRc3/8
(Hexagon socket head taper plug) A (Hexagon socket head taper plug) N (Hexagon socket head taper plug)
—g — [
Rc 3/8 - Z + Stroke -
(Hexagon socket head taper plug)
() L _, 4xMM depth M
PA 2 x 2 x @ B counterbore depth C
@ LD through-hole
s
N =Y -
<+ ’ — .l ;1\
— 0 — 1+
o id cv 4
A
Pg Q + Stroke
[mm]
Model A B C E G |[GB | H J JJ K | KK | L LD | LL |[LW | M MM N | NC | NE
MY1B500C] | 200 | 14 | 85 | 3 |235 | 37 94 [M12x175 | M6x1 | 25 17 | 200 9 [100 | 80 14 |[M8x125 | 47 38 | 76.5
MY1B630 | 230 | 17 |10.5 3 |25 39 |116 |M14x2 |[M8x125 | 28 | 24 [230 | 11 |[115 | 96 16 [M8x125 | 50 51 [100

[mm]

Model NH |[NW | PA | PB | PC | PD | PG

PP | Q |QQ [QW | RR | SS

MY1B5001 | 75 92 | 120 | 50 |100 | 8.5 8

24 384 |27 76 |34 10

15 |22.5 |23.5 |23.5 |22.5 | 47 74 92 | 400

MY1B63C1 | 95 |112 |140 | 60 |[115 | 95 | 10

37.5 | 440 [29.5 | 92 |45.5 |135

16 |27 29 25 |28 56 94 | 112 | 460

T

Bottom ported

(Applicable O-ring)
Hole Size for Centralised Piping on the Bottom

Model

WX Y S d D R

Applicable 0-ring

MY1B500]

47 155 |14.5 10 [17.5 | 11

C15

MY1B630]

56 |15 18 10 [17.5 | 141

24

(Machine the mounting side to the dimensions below.)

SVC

O



Mechanically Jointed Rodless Cylinder .
Basic Type Series M Y1B

Standard Type/CentraIised Plplng Type (%] 80, @100 Refer to page 122 regarding centralised piping port variations.

MY1B80C1/1000] —

Rc 1/2
(Hexagon socket head
taper plug) -
; E
: 2y
% % ~ / L i
| ) [ > O —— — O
. Rc 1/2 % J A-TQ-_- — 6 o
C . J L -
(Hexagon socket head ‘ / / ?
taper plug)
A4 2xRc1/2 2xRc1/2 AL
(Hexagon socket head taper plug) ~ (Hexagon socket head taper plug)
MY1BOG
Rc 1/2 1
LW Rc 1/2 (Port) | (NN
(Hexagon socket head taper plug) Iv o \‘
n }
03 [«] i I >
LY 5176 oY . — et a1
Tz a ! X ) K IR P 1é ¢ |
' <€ ) [
"1 et \ | 4 gl Ty
) H o W
TT G Rc 1/2 Cushion needle G Ug‘ ;T
2xRc1/2 (Port) Rc 1/2 GB 2xRe 1/2
(Hexagon socket head taper plug) A (Hexagon socket head taper plug) N (Hexagon socket head taper plug)
. Z + Stroke -
() L o
PA 8 x MM depth M 2 x 2 x @ LD through-hole
PF
—~ =
>y
& o T6% o - 4/. 4 A
i = —Eé_ s 5“5
" Lo + 9 | o —17y
0 A
=]
S| [ Floating bracket mounting thread
2 (2 x @ 10H7 depth 10)
PG Q + Stroke -
= -
[mm]
Model A G GB H L LD | LL | LW M MM N NC | NH | NN |[NW | PA | PB | PE
MY1B 8001 | 345 | 60 |71.5 | 150 | 340 | 14 |175 |[112 | 20 [M10x15 | 85 71 |124 | 35 |140 80 | 65 | 240
MY1B100CJ [ 400 | 70 |79.5 | 190 | 400 | 18 [200 |140 | 25 |Mi2x175 | 95 85 |157 | 45 |176 |120 85 | 280
[mm]
Model PF | PG | PP Q QQ QW | RR | SS | TT | UU | VW |WW | XX | YH | YW | YY V4

MY1B 8001 | 22 15 53 | 660 | 35 90 | 61 15 30 40 60 25 90 | 122 | 140 28 | 690

MY1B10001 | 42 20 69 | 760 | 38 | 120 75 20 40 48 70 28 [120 |155 | 176 35 | 800

Bottom ported
(Applicable O-ring)

Hole Size for Centralised Piping on the Bottom
Model WX Y d D R |Applicable O-ring
MY1B 801 | 90 45 18 26 1.8
MY1B100C] | 120 50 18 26 1.8
(Machine the mounting side to the dimensions below.)

P22

SVC

O

25



Series MY1B

Stroke Adjustment Unit

With adjustment bolt

MY1B| Bore size |[1—| Stroke |A

Stroke adjusting

EY

unit

MY1iB10 MY1B16
[mm]
Applicable bore size E EA | EB | EC EY FC h T w
MY1B10 10 5 | 28 33 | 263 |—| 1.8 5 (Max.10) | 35
MY1B16 14.6 7 344 | 42 365 | — | 24 |54 (Max.11)| 43
MY1B20 19 9 |43 58 | 456 | 13 | 32 | 6(Max.12) | 53
With low load shock absorber + Adjustment bolt
MY1B200] — [ Stroke |L
RB0806 @
Yo}
-
o | g
g <
6 (Max.12) 19 4
3.2

Stroke adjustment unit

26

&

&
S

3

6

(Shock absorber stroke)

O
2



Mechanically Jointed Rodless Cylinder .
Basic Type Series M Y1B

Stroke Adjustment Unit

With high load shock absorber + Adjustment bolt
MY1B| Bore size |[1 —| Stroke |H

Shock absorber

T
/' /' 15.4 ©

Stroke adjustment unit

(Shock absorber stroke) T S MY1B10

= Since the dimension EY of H unit is greater than the table top height (dimension H), when a workpiece is loaded that is larger than the full length (dimension L) of the slide table
allow a clearance of size “a” or larger at the workpiece side.

[mm]
Applicable bore size E EA | EB | EC | EY F FB | FC | FH | FW h S T TT W | Shock absorber model a
MY1B10 10 5 28 55 1298 | —— | —— 8 | — | ——| 1.8 | 408 5 5 (Max. 10) 35 RB0805 3.5
MY1B20 20 10 49 6.5 | 47.5 6 33 1l 12 46 3.5 | 46.7 7 5 (Max. 11) 60 RB1007 2.5
27

O
2



Series MY1B

Side Support

Side support A
MY-SCIA

2x0G ( |
i 1|
( )
! |
bl
C
D
Side support B
MY-SCB H & H
2x4d \, (
( )
! |
w
Cc
D
[mm]
Model Applicable bore size | A B C D E F G H J
MY-S104 | MY1B 10 | 35 | 436| 12 21| 3 1.2 | 65| 34| M4x07
MY-S164 | MY1B 16 | 43 | 536 15 26 | 49| 3 65| 34| M4x07
MY-S208 | MY1B 20 | 53 | 656 25 38| 64| 4 8 45 | M5x0.8
MY-S325 | MY1B 50 | 113 | 131 45 64 |11.7 | 6 | 11 6.6 | M8x1.25
MY-S505 | MY1B 63 | 136 | 158 55 80 | 148 | 85| 14 9 M10 x 1.5
A | MY1B 80 | 170 | 200
MY-S63 g MY1B100 | 206 | 236 70 | 100 | 18.3 | 10.5 | 17.5 | 11.5 | M12x1.75
= A set of side supports consists of a left support and a right support.
Guide for Side Support Application
For long stroke operation, the cylinder tube T ”
may be deflected depending on its own weight ’_y_:l_‘_‘ tkal 200
and the load mass. In such a case, use a side 7 190
support in the middle section. The spacing (L) 7 180
of the support must be no more than the L
values shown in the graph on the right. 170
160
/ (4000)
150
3 140 \
m 130
. L — 120 (3200) \
A\ Caution . E ™ T,
d 8 \ \2
. . — 1%} =
1. If the cylinder mounting surfaces are B ] g 100 \ \m
not measured accurately, using a side 7 7 90 @700 >
support may cause poor operation. L L 80 \ \E \°
Therefore, be sure to level the cylinder 7 (2100 \ \3‘; \
tube when mounting. Also, for long \ \2 \‘5 \
stroke operation involving vibration 60 z & \ \
and impact, use of a side support is 50 \a \?}, \
recommended even if the spacing 40 5
value is within the allowable limits 30 \NIAN \
shown in the graph. oo — “100)4,4',} \\ \ \
900
2. Support brackets are not for mounting; 10 Fraoo) O N\ \ \
use them solely for providing support. Oﬂ@’m‘m& L NN N\
1000 2000 3000 4000 5000
Support spacing (L) [mm]

28

O
2



Floating Bracket

Mechanically Jointed Rodless Cylinder

Basic Type

Series MY1B

Facilitates connection to other guide systems.

Applicable bore size

Applicable bore size

MY-J10 . MY-J16/MY-J20
Application Example . Application Example
| Workpiece
| 1 | —
| A
/ ! W
L ] | 1 n
o e JlccadRac )
06 ; N -
YN |
C |
: %
! Guide Series MY1B Floating bracket
Mounting Example i Mounting Example
M4x0.7  Zb M 2
""""" f— | X [il i o
EEe e | D= —
@l 2 . . ;< - 2x2x@LD )
SUR Section Zb detail (3/1) w
Adjustable range i Section Zb detail
| (Adjustable range)
2X2Xx06.5 1
! G
: D Za
30 |
20 za - | L
fffffff 4 ! —\) .
' w
P VAN B —f + + g
hd A - LY N1~ nplul —
ol A , | - - = O\
S s | o - a- * i
) ( ~ ™ | 1 u
D 1 ——-9% — Y section Za detail
ics o — ; olo (Adjustable range)
w éid@ Section Za detail (31) | [mm]
= Adjustable range i Model |Applicable boresize| A B (& D F G H
' MY-J16 |MY1B160 | 45 45 | 225 | 30 52 38 18
Note) A set of brackets with floating mechanism consists of a left bracket . MY-J20 | MY1B20] 55 52 26 35 59 50 21
and a right bracket. ,
! Model | Applicable bore size JJ K L P Q | E3 | E4 | LD
' MY-J16 |[MY1B160 | M4x07 | 10 | 4 | 7 |35 | 1 1 6
1 MY-J20 [MY1B2001 | M4x07 |10 | 4 | 7 [35] 1 | 1 | 6

Installation of Holding Bolts

Slider

Pin

Conical spring washer

Holding bolt

(Piston yoke)

A

1

|

!

o S

N
e )

L included parts

Tightening Torque for Holding Bolts

(N-m)

Model | Tightening torque Model | Tightening torque Model | Tightening torque
MY-J10 0.6 MY-J25 3 MY-J50 5
MY-J16 1.5 MY-J32 5 MY-J63 13
MY-J20 1.5 MY-J40 5

Note) A set of brackets with floating mechanism consists of a left bracket and a right
bracket.

MY-J10 to 63 (1 set) Component Parts

Description Qty.
Bracket 2
Pin 2
Conical spring washer 2
Holding bolt 2

29



Series MY1B

Applicable bore size

MY-J50/MY-J63
Application Example

=%

Guide

Series MY1B

Workpiece

/S< Floating Bracket

Mounting Example

G Z
% 2
- |
= a
o 6 4 S = || y
: < o
= ;
— w
] — Section Za detail
olo (Adjustable range)
JJ Zb
N4 [ HH Lﬁ
= § S g
< - 2x2x0@LD qf
w
Section Zb detail
(Adjustable range)
[mm]
Model |Applicable bore size | A B C D G H
MY-J50 | MY1B500J | 110 | 110 55 70 126 90 37
MY-J63 | MY1B63] | 131 130 65 80 149 | 100 37
Model | Applicable bore size JJ K L P Es | E4 | LD
MY-J50 | MY1B500] | M8x1.25 | 20 | 7.5 | 16 25 | 25 | 11
MY-J63 | MY1B63[] | M10x1.5 | 20 | 9.5 | 19 25 | 25 | 14

Note) A set of brackets with floating mechanism consists of a left bracket and a right

bracket.

30



Mechanically Jointed Rodless Cylinder

Floating Bracket

Basic Type Series M Y1B

Facilitates connection to other guide systems.

Applicable bore size

0 80, @ 100
MY-J80/MY-J100
Application Example

Mounting bracket

W% Workpiece
A R

= \LQ{/// Bracket
|

) ) ) ) Slider
(Piston yoke)

1

Mounting Example

Mounting bracket

e -~

I 1

Support bracket mounting area is heat treated at HRC40 or above.

g
e)
c
3
<| Bracket
E

r 2 i ]
= L—
o Il

| 2 @996 . ¢
1 Y, L B |
o5 B0 % e

I ® ya ; \
£
E 20102
8 150
[TH

Floating Bracket
Positioning hole
(@10x18L) Bracket mounting hole (@ 80)

Hexagon socket head cap screw (M10 x 1.5 x 40L)

Bracket mounting hole (& 100)
Hexagon socket head cap screw (M12 x 1.75 x 40L)

Hexagon Socket
Head Cap Screw
TighteningTorque (N-m)
Model  |Applicable boresize | A | B (max.)| C (min.) Model | Tightening torque
MY-J 80 | MY1B 801 | 181 15 9 MY-J 80 25
MY-J100 | MY1B10000 | 221 15 9 MY-J100 44

Note) e Flat bar or round bar mounting are possible for the support bracket
(slanted lines) mounted by the customer.
* “B” and “C” indicate the allowable mounting dimensions for the support
bracket (flat bar or round bar).
* Consider support brackets with dimensions that allow the floating
mechanism to function properly.

O

Floating Bracket Operating Precautions

/\ Caution

When connecting to a load which has an external guide mechanism,
use a discrepancy absorption mechanism.

Mount the external guide mounting brackets and floating brackets in a
place where the required degree of freedom for the floating Y and Z axes
can be secured.

The thrust transmission area of the floating bracket must be fixed so that it
does not partially contact with the body.

MY-J80, 100 (1 set) Component Parts

Description Qty.
Bracket 1
Parallel pin 2
Holding bolt 4

SMC 31



\)

32



Simple guide type allows direct

mounting of workpieces.
Bearing

Adjusting mechanism

O
2

33



series MY1IM Prior to Use

Maximum Allowable Moment/Maximum Load Mass

Maximum Allowable Moment

Bore size Maximum allowable moment [N-m] Maximum load mass [kg]
Model
[mm] M1 M2 Ms mi ma2 m3
16 6.0 3.0 1.0 18 7 2.1
20 10 5.2 1.7 26 10.4 3
25 15 9.0 2.4 38 15 4.5
MY1M 32 30 15 5.0 57 23 6.6
40 59 24 8.0 84 33 10
50 115 38 15 120 48 14
63 140 60 19 180 72 21

The above values are the maximum allowable values for moment and load. Refer to each graph
regarding the maximum allowable moment and maximum allowable load for a particular piston speed.

Load mass (kg)

mi1

Moment (N-m)

& W

m2

F2

A

F1 < Mi=F1 x L1

—

L2

jr}

—

M2=F2x L2

i e

<Calculation of guide load factor>
1. Maximum allowable load (1), static moment (2), and dynamic moment (3) (at the time of
impact with stopper) must be examined for the selection calculations.
= To evaluate, use Va (average speed) for (1) and (2), and L (collision speed U = 1.4Va)
for (3). Calculate mmax for (1) from the maximum allowable load graph (m1, mz, ms) and
Mmax for (2) and (3) from the maximum allowable moment graph (M:, M2, Ms).

T

F3 <

L3

Ms=F3x L3

o8
L]

-
|

Sum of guide

Load mass [m]

Static moment [M] ® L

Dynamic moment [Me] @

load factors

" Maximum allowable load [mmax] " Allowable static moment [Mmax] " Allowable dynamic moment [Memax] —

Note 1) Moment caused by the load, etc., with cylinder in resting condition.
Note 2) Moment caused by the impact load equivalent at the stroke end (at the time of impact with stopper).

Note 3) Depending on the shape of the workpiece, multiple moments may occur. When this happens, the sum

of the load factors ( o) is the total of all such moments.

2. Reference formula [Dynamic moment at impact]
Use the following formulae to calculate dynamic moment when taking stopper impact into

consideration.

m: Load mass (kg)

F: Load (N)

Fe: Load equivalent to impact (at impact with stopper)
‘Va: Average speed (mm/s)

M: Static moment (N-m)

Note 4)

V = 1.4Va (mm/s) Fe = 1.4Va-0-m-g

Note 5)
~Me= 5 -FeLi = 4.57admL (N-m)

V: Collision speed (mm/s)
L1: Distance to the load's centre of gravity (m)

(N)

O: Damper coefficient
With rubber bumper = 4/100
(MY1B10, MY1H10)
With air cushion = 1/100

With shock absorber = 1/100

g: Gravitational acceleration (9.8 m/s?)

Note 4) 1.40ad is a dimensionless coefficient for calculating impact force.

Note 5) Average load coefficient (=--): This coefficient is for averaging the maximum load moment at the time

of stopper impact according to service life calculations.

3. For detailed selection procedures, refer to pages 36 and 37.

34

O

Me: Dynamic moment (N-m)

At collision: U = 1.4Va

Select the moment from within the
range of operating limits shown in the
graphs. Note that the maximum
allowable load value may sometimes
be exceeded even within the
operating limits shown in the graphs.
Therefore, also check the allowable
load for the selected conditions.

Maximum Load Mass

Select the load from within the range
of limits shown in the graphs. Note
that the maximum allowable moment
value may sometimes be exceeded
even within the operating limits shown
in the graphs. Therefore, also check
the allowable moment for the selected
conditions.

2,
7 FE
4 Me
=1l
| —
/ e
/



Prior to Use Series MY1M

MY1M/M1 MY1M/M2 MY1M/Ms
200
50 20
40
100
IANAN 30 N N
AN 10 NG
AN N 20 \\ \\\\
50 \ AN \ \ AN N
40 N \ N \\ AN AN
N NN ; 0
30 \\\ 10 \ \ \ 4 \ \\\
\\ n N uvies NON R
20 Niiines N N N N MY M63
E N \ E E 2 MY1M50
> N N MY1M50 = 5 N N MY1M50 Z N N
= \\ — N \ \ = \ N \
£ 10 \ g NN NN 5 NN Nwmyimao
£ AN AN MY1M40 = 3 N MY1M40. £ 1 AN N ) 1
S ANER N AN S \ S AN AN AN [
= AN Y s N s ANEEAN N o
2 MY1M32 NN LA
5 \NEAN
4 N ez N N \ o0 NN
5 \\ 1 N MY1M25 03 \\ \\\ MYA‘ M25]
N ANEERN N
2 § MY:1M25 \ VI W 02 MY1M20
\\ MY1M20 0.5 MY1M16
1 \\ 04 MY{1M16 01
~NMY-M16- 03
0.5 0.2 0.05
100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed  [mm/s]
MY1M/m1 MY1M/mz2 MY1M/ms3
30
200 100
20
N \
100 \C AN %0 N \
40 N 1 N
AN N NEN 0 A AN
AN 30 NCTON ANEHANSE |
N \ \ \ AN
50 N NN N
NN Y 20 NN N\ AN
40 N NN NN 5 NN
30 N N N \ \
S \\\ \ N \MY1M63 B \\\ N S 3 NN \\\
Z 5 NN \\ | 2 1w s v v R N NI T
NN A IR NEANE N NN \
2 \§ \ \MYTMW 2 . X \\\ M¥TM50 g 2 \ NN MYTMSO
£ NN E & g £ N
g 10 N NN YD 3 . NNy | 5 \\ A\ \\ MY1M40
- NN O myimez] | 2 NN 3 \ |
ANIAN NN MYTM32] PN MYz
5 PR vames: N | N |
: \\ # 2 \ \Mv‘unzs [ MY1M251
MY1M20 N 0.5 Y |
3 \\ T \ My1m20 0.4 N Nmvimzo
MY1M16 1 N \
5 MYIM16 03 NTViliiG
0.2
0.5
1 0.4
100 200 300 400 500 1000 1500 03 100 200 300 400 500 1000 1500 01 100 200 300 400 500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s]

35



Series MY1M
Model Selection

Following are the steps for selecting the most suitable Series MY 1M to your application.

Calculation of Guide Load Factor

1. Operating Conditions
------ Mounting Orientation .- ---

(o 111 [ MY1M40-500 H S
. '1. Horizontal 7z 2, Wall :
Average operating speed Va ---200 mm/s i mounting ? mounting Y '
Mounting orientation -.--.-..... Horizontal mounting . i !
Wad: Workpiece (500 g) '
CUSHION teeceecrnnceniiniinninncnnnens Air cushion E . .
z
(O = 1/100) We: MHL2-16D1 (795 g) E X '
Wa: Connection plate t = 10 (880 g) ' @ .
i 3. Ceiling x| ||
' mounting 4.Vertical ||| :
MY 1M40-500 ' mounting | | !
1 b
' s s N 1
: i S
' z } | | 1
: Ny I
Wh: MGGLB25-200 (4.35 kg) '

_______________________________

For actual examples of calculation for each orientation,
refer to the pages above.

2. Load Blocking

Mass and Centre of Gravity for Each Workpiece
[] Workoi Mass Centre of gravity
vy 0p o W: ene mn X-axis Y-axis Z-axis
’ ‘ I [ [ X ‘ ‘ Xn Yn Zn
615 [ ] Wa 0.88 kg 65 mm 0 mm 5mm
21?11 z 150 Wb 4.35 kg 150 mm 0mm 42.5 mm
| il We 0.795kg | 150 mm 111 mm | 425 mm
[ v — :@ Wa | 05kg 150mm | 210mm | 42.5mm
m%i ] [] n=a, b, c,d

3. Composite centre of Gravity Calculation

mi = Xmn
=0.88 +4.35+0.795 + 0.5 = 6.525 kg
1

X = XZ(mnXXn)
m1

1 (
- 6.525

1
Y = > n n
—— X (mn X yo)
= 6505 g25 (0.88x0+4.35x0+0.795x 111 + 0.5 x 210) = 29.6 mm
Z = ! XZ(mnXZn)
m1

= 5125 (0.88 X 5 + 4.35 X 42.5 + 0.795 X 42.5 + 0.5 x 42.5) = 37.4 mm

0.88 x 65 + 4.35 x 150 + 0.795 x 150 + 0.5 x 150) = 138.5 mm

4. Calculation of load factor for static load

mi: Mass
mimax (from (1) of graph MY 1M/mi1) = 84 (Kg)--++-veeerereesreesemsmnenininiiiiiiend
Load factor Ol1 = mi#/m1 max = 6.525/84 = 0.08

Mi: Moment
M1 max (from (2) of graph MY TM/M1) = 59 (N-M)-ssesseeseeseesersersmseiemsiseississssssississieisssssssssssesesssissenes
M:=mixgxX=6525x9.8x138.5x 10" = 8.86 (N-m)
Load factor Oz = M1/M1 max = 8.86/59 = 0.15

36

O
2



. Calculation of Load Factor for Dynamic Moment

. Sum and Examination of Guide Load Factors

Model Selection Series M Y1M

Mz: Moment
M2 max (from (3) of graph MY 1M/Mz) = 24 (N-mM)-eveeeeeeimmimiiiiii

Ms=mixgxY=6.525x9.8x29.6x107=1.89 (N-m)
Load factor Ols = M2/M2max = 1.89/24 = 0.08

Equivalent load Fe at impact

FE=1.4Dax8xmxg=1.4x200x%00x6.525x9.8=179.1 (N)

Mie: Moment
Mie max (from (4) of graph MY1M/M1 where 1.4Va = 280 mm/s) = 42.1 (N-m)
Mg = - x Fe X Z = - x 179.1 x 37.4 x 10 = 2.23 (N-m)

3 3
Load factor Ola = M1e/M1e max = 2.23/42.1 = 0.05

Mse: Moment
Mse max (from (5) of graph MY1M/Ms where 1.4Va = 280 mm/s) = 5.7 (N-m)
Mse = - x Fe X Y = - x 179.1 x 29.6 x 103 = 1.77 (N-m)

3 3
Load factor Ols = Mse/Mse max = 1.77/5.7 = 0.31

Soo=00 + 02+ Olz+ Ola+ Ols =0.67 <1

The above calculation is within the allowable value, and therefore the selected model can be used.

Select a shock absorber separately.

In an actual calculation, when the total sum of guide load factors ¢ in the formula above is more than 1, consider
either decreasing the speed, increasing the bore size, or changing the product series. This calculation can be easily
made using the “SMC Pneumatics CAD System”.

Load Mass Allowable Moment
MY 1M/m1 MY1M/M- MY1M/M2 MY1M/Ms
200
200 50 20
40 \
100 1 /\ * 7 \S\ % \3/\ 10 \‘
2 ANN 2 \\ SR
v pH{ R SNOAN NONY E= =W RN
5
ig AVAN 30 I NN NN 4 ! NN
\ N \ 1 N3 10 N N “ AN \\ A\ N \
= 30 N — \\ — N N—Ymvimes| | 3 TN [N N
o N NN N 20 N AR ¥ N\ N MY1M63
X, \\\ NN ) M3 £ 1 MY1NG3 1S N AN g, 1 b
20 N z N myimso| | Z N Ny = N MYIM50
9 \\\ A Nuvimso - J NI | =° NCNOR M | = N N h ‘
@ \\\ \\ | € 10 . N z 4 NN IN N, < NN \MV1M40
L NN NN N S | 2 o NORORG ™ |8 N
N AN T i
i‘g N \‘ \\\ M,v1‘1M32 = s dh % i = N wimsz| | S NN JEANAES
I 4 1 N WMvmsz N \ 05 1 N
° N[ M2 ' N | N N MY1M25 04 1 N
4 e 3 03 L L INLIN N myames
3 N WYMo J \ ‘ ! VEEAN . 4: N Ei ‘
MY:IM25 MY1M20
, Nuviss 2 i N ‘ N vz 02 i
1 N YMyimzo 05 J MYIM16
1 - N 04 Y1116 01 !
; I SWYiM16 03 -
Ll 1
1 [ 1 U
100 200 300 400 500 1000 1500 05 100 200 300 400 500 1000 1500 02 100 200 300 400 500 1000 1500 0.05 100 200 300 400 500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s]

37



Mechanically Jointed Rodless Cylinder
Slide Bearing Guide Type

Series MYTM

216,09 20,9 25,9 32,9 40, D 50, D 63

How to Order

SR MY1M[20] ||Gl-1300)L |- M9BW| |-

Slide bearing guide type IMade to Order
. Refer to page 39
Bore size for details.
16 | 16 mm
20 | 20 mm Number of auto switches
25 | 25 mm — 2 pcs.
32 | 32mm S 1 pe.
40 | 40 mm n “o pes.
50 | 50 mm
Bl 65 mm e Auto switch
Port thread typee® [ = [ Without auto switch (Built-in magnet) ]
Symbol | Type Bore size Applicable auto switches vary depending
— |Mthread| @ 16, @ 20 on the bore size. Select an applicable one
Rc 025 032 referring to the table below.

TN NPT | @40, @50,
TF G 963

e Stroke adjustment unit symbol
Refer to “Stroke adjustment unit” on page 39.

Piping ®
— Standard type
G Centralised piping type
Cylinder stroke [mm]®
Bore size ]+ Mafximumbl
[mm] Standard stroke (MM manufacturable
stroke [mm]
it 100, 200, 300, 400, 500, 600, 700 8000
20, 25, 32 800, 900, 1000, 1200, 1400, 1600
40,50,63 | 1800, 2000 5000

# The stroke can be manufactured up to the maximum stroke from 1 mm stroke in 1 mm
increments. However, when the stroke is 49 mm or less, the air cushion capability lowers
and multiple auto switches cannot be mounted. Pay special attention to this point.

Also when exceeding a 2000 mm stroke, specify “-XB11” at the end of the model number.
For details, refer to the “Made to Order Specifications”

Applicable Auto Switches/Refer to pages 107 to 117 for further information on auto switches.

Eloctiical 5 Wir Load voltage Auto switch model Lead wire length (m) S
Type| Special function BEileE] 2 ring Perpendicular In-line 05135 |rcWe Applicable load
entry g (Output) DC AC connector
E 016,020[02510063/016,020[0 2510 063] (—) [(M)| (L) | (@)
< 3-wire (NPN) MONV M9N ® 06/ O O _—
5V,12V IC circuit
.~‘~§’ — 3-wire (PNP) M9PV M9P e @/0[0O[ O
) 2-wire 12V M9BV M9B ® @@ ® O O —
o -
= 3-wire (NPN) MONWV MONW ® @@ @O O oo
= |Diagnostic indication - 5V,12V IC circuit| Relay,
® N _ ,
o | (2-colour indication) Grommet |Yes| 3-wire (.PNP) 24V M9PWV M9PW ® @& O O PLC
I 2-wire 12V M9BWV M9BW ® /@ O O —
@ 3-wire (NPN) MINAV** MONA** O|0O|@|O]| O o
° i 5V,12V ; IC circuit
= |, Water resistant 3-wire (PNP) MOPAV** | M9PA** | O |O|@|O]| O
O | (2-colour indication) = =
” 2-wire 12V M9BAV M9BA C|O0|®@|O| O —
- S Yes 3wire (NPN equivalent) | — 5V — A96V | — A% | 276 | @ |— | @ |— | — |ICcircut| —
& § — Grommet | | o-wire o4V .y 100V |A93V | — A3 | Z73 (@ |— @ ® | — — Relay,
El No 100V orless] A9OV | — A90 | 280 | @ |— |®@|—| — |ICcircuit| PLC
= \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.
* Lead wire length symbols: 0.5 m «w-eeeeeee — (Example) MONW = Solid state auto switches marked with “O” are produced upon receipt of order.
- M (Example) MONWM = Separate switch spacers (BMG2-012) are required to retrofit auto switches (M9 type) on cylinders @ 25
- L (Example) MONWL to @ 63.
Z (Example) MONWZ

= There are other applicable auto switches than listed above. For details, refer to page 117.
= Auto switches are shipped together (not assembled). (Refer to pages 115 to 117 for the details of auto switch mounting.)

38




Mechanically Jointed Rodless Cylinder .
Slide Bearing Guide Type Series MY1M

Specifications

Bore size [mm] 16 [ 20 [ 25 [ 32 [ 40 [ 50 [ 63
Fluid Air

Action Double acting

Operating pressure range 0.2 t0 0.8 MPa [ 0.15t0 0.8 MPa

Proof pressure 1.2 MPa

Ambient and fluid temperature 51060 °C

Cushion Air cushion

Lubrication Non-lube

A . Stroke length tolerance 1000 or less *4® 2700 or less"*®, 2701 to 5000*5°
Air cushion 1001 to 3000 +5®

Piping Front/Side port M5 x 0.8 Rc 1/8 Rc 1/4 Rc 3/8
port size | Bottom port Q4 o6 08 210

Made | Made to Order: Specifications

(Refer to page 118 to 120 for details.) Piston Speed

Symbol Specifications e ; Bore size [mm] : 1 161to 63 /

-X168 | Helical insert thread specifications ithout stroke adj;\.lstn?fnt unit 122 to 1828 mm/sm

-XB11 | Long stroke type Stroke ] ““_' : to mm/s
adjustment unit | |_ unit and H unit 100 to 1500 mm/s @

-XB22 | Shock absorber soft type Series RJ type
. Note 1) Be aware that when the stroke adjustment range is increased by manipulating the adjustment bolt, the air
-XC67 | NBR rubber lining in dust seal band cushion capacity decreases. Also, when exceeding the air cushion stroke ranges on page 34, the piston
20- | Cooper-free speed should be 100 to 200 mm per second.
Note 2) The piston speed is 100 to 1000 mm/s for centralised piping.
Note 3) Use at a speed within the absorption capacity range. Refer to page 42.

Stroke Adjustment Unit Specifications

Bore size [mm] 16 20 25 32 40 50 63
Unit symbol A L A L H A L H A L H A L H A L H A L H
RB RB RB RB RB RB RB RB RB RB RB RB RB

wih | 0806 | wih |0806 | 1007 | win | 1007 | 1412 | win | 1412|2015 | win | 1412 [ 2015 | win | 2015|2725 | win | 2015|2725
+ + + + + + + + + + + + +

Configuration adjustment adjustment adjustment adjustment adjustment adjustment adjustment

with with vith with with vith with with with with with with with
Shock absorber model | adustment| P | agiusiment | agusiment| % | agusiment aciusiment| P | aiusiment ecistrent | % |aciusiment | agiusiment| %% | acjustrent| adusiment| P | acustment] adustment
bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt
Stroke adjust- | without spacer | 0 to —5.6 0to-6 0to-11.5 0to-12 0to-16 0to—20 0to—25
ment range by
;ptgrmediate With short spacer| —5.6 to —11.2 —6to—12 -11.5t0 23 —12to0-24 —16 to -32 —20 to —40 —25 to -50
IXing spacer
[mm%l P With long spacer [—11.2 t0 -16.8 -12t0-18 —23 10 -34.5 —24 to -36 —-32 to —48 —40 to —60 -50to =75
= Stroke adjustment range is applicable for one side when mounted on a cylinder.
. . Stroke adjustment unit
Stroke Adjustment Unit Symbol mounting diagram
Right side stroke adjustment unit Stroke adjustment unit  Intermediate
L: With low load shock absorber | H: With high load shock absorber fixing spacer
Without B U L USTE3 E: + Adjustment bolt + Adjustment bolt
unit With short | With long With short | With long With short | With long
spacer spacer spacer spacer spacer spacer
Without unit — SA SA6 | SA7 SL SL6 | SL7 SH SH6 | SH7

A: With adjustment bolt | AS A AA6 | AA7 | AL AL6 | AL7 | AH | AH6 | AH7
With short spacer| A6S | AGA A6 | A6A7 | A6L | A6L6 | A6L7 | A6H | A6H6 | A6H7

Example of L6L7 attachment

.“é
=3
=
£
@ With long spacer | A7S | A7A | A7A6 | A7 A7L | A7L6 | A7L7 | A7H | A7H6 | A7TH7 - - -
=l __L ft sid _.R -ht d
2L Withlow oad shockabsorber+ | LS | LA | LA6 | LA7 | L | LL6 | LL7 | LH | LH6 | LH7 | | [0 Lum
g ﬁ:lltuslme"f With short spacer| L6S | L6A | L6A6 | L6A7 | L6L | L6 | L6L7 | L6H | L6H6 | L6H7 Short spacer Long spacer,
5 With long spacer | L7S | L7A | L7A6 | L7A7 | L7L | L7L6 L7 L7H | L7H6 | L7H7
-8 |H: With high load shock absorber +| HS HA | HA6 | HA7 | HL | HL6 | HL7 H HH6 | HH7 | %53
;’._.’ ﬁgllt”“me“t With short spacer| H6S | H6A | H6A6 | H6GA7 | H6L | H6L6 | H6L7 | H6H H6 | H6H7 . .=
3 With long spacer | H7S | H7A | H7A6 | H7A7 | H7L | H7L6 | H7L7 | H7H | H7TH6 | H7 Port Port
= Spacers are used to fix the stroke adjustment unit at an intermediate stroke position.
Shock Absorbers for L and H Units Shock Absorber Specifications
. d'smt)ke t Bore size [mm] Model RB | RB | RB | RB | RB
ype adjustmen
i 16 ‘ 20 25 32 40 50 63 0806 | 1007 | 1412|2015 | 2725
Standard L RB0806 RB1007 RB1412 RB2015 Max. energy absorption[J]| 2.9 | 59 | 19.6 | 58.8 | 147
Shock absorber/ i
( B ;rfg’s') e H — [ mBioo7 | merat2 | mB2015 RB2725 Stroke absorption[mml| 6 | 7 | 12 | 15 | 25
Shock absorbar/ L RJ0806H RI1007H RU1a12H — — Max. collision speed [mm/s] 1500
soft type RJ series Max. operating frequency [cycle/min]| 80 70 45 25 10
mounted (XB22) | H — [moomfmaen| — | — | — [ — Spring Extended | 1.96 | 4.22 | 6.86 | 8.34 | 8.83
# The shock absorber service life is different from that of the MY 1M cylinder depending on operating force [N] Retracted | 4.22 | 6.86 | 15.98 | 20.50 | 20.01
conditions. Refer to the RB Series Specific Product Precautions for the replacement period. - - . - - - -
* Mounted shock absorber soft type RJ series (-XB22) is made to order specifications. Operating temperature range [*C] 510 60

= The shock absorber service life is different from that of the MY 1M
cylinder depending on operating conditions. Refer to the RB Series
Specific Product Precautions for the replacement period.



Series MY1M

Theoretical Output Weight
-
[N] kgl
2?;(‘: Paiféc;” Operating pressure [MPa] Additional| | Side support bracket | Stroke adjustment unit weight
mm] |mmz| 02 [ 03 [ 04 | 05 | 06 | 07 | 08 Ef’zf Basic p‘gfg’:cth o}Nme(')%Tr:g weight per sef (per unit)
16 | 200| 40| 60| 80| 100 120] 140| 160 mm] €' 50 mm | "pats | Type A andg| AUnit | Lunit | Hunit
of stroke weight | weight | weight
20 314 62 94 125 157 188 219 251
16 0.67| 0.12 0.19 0.01 0.03 0.04 —
25 490 98 147 196 245 294 343 392
20 1.1 0.16 0.28 0.02 0.04 0.05 0.08
32 804 161 241 322 402 483 563 643 25
1.64| 0.24 0.39 0.02 0.07 0.11 0.18
40 1256 251 377 502 628 754 879 | 1005 32 a2 0.38 081 0.0 014 023 0.39
50 1962 392 588 784 981 | 1177 | 1373| 1569
40 5.88| 0.56 1.41 0.08 0.25 0.34 0.48
63 3115 623 934 1246 | 1557 | 1869 | 2180 | 2492
- - 50 |10.06| 0.77 2.51 0.08 0.36 0.51 0.81
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm2)
63 |16.57| 1.11 3.99 0.17 0.68 0.83 1.08
Calculation: (Example) MY1M25-300A
* Basic weight---«--c-eeeeee 1.64 kg
¢ Cylinder stroke ----- --- 300 stroke
¢ Additional weight.------ 0.24/50 stroke

Option

1.64 + 0.24 x 300/50 + 0.07 x 2 = 3.22 kg
¢ Weight of A unit 0.07 kg

Stroke Adjustment Unit Part No.

MYM-A

25

L2

Stroke adjustment unit

6N

Intermediate

Stroke adjustment unitI
Bore size e
16| 16 mm .
20| 20 mm Unit m_)'
25| 25mm Symbol | Stroke adjustment unit '\gggir:it(';g
32| 32mm
Al ) Left
40| 40 mm A unit -
A2 Right
50| 50 mm
63| 63mm e L unit Left
L2 Right
H1 . Left
H2 H unit Right

Note 1) Refer to page 39 for details about
adjustment range.
Note 2) A and L unit only for @ 16

Component Parts

fixing spacer

llntermediate fixing spacer

— Without spacer
6[] Short spacer
70] Long spacer
lSpacer delivery style
— Unit installed
N Spacer only

+ Spacers are used to fix the stroke adjustment unit at an
intermediate stroke position.
= Spacers are shipped for a set of two.

MYM-A25L2
(Without spacer)

Stroke Stroke

adjustment unit

MYM-A25L2-6
(With short spacer)

adjustment unit

Short spacer

MYM-A25L2-6N
(Short spacer only)

N

Short spacer

MYM-A25L2-7
(With long spacer)

Stroke
adjustment unit

MYM-A25L2-7N
(Long spacer only)

=

Long spacer Long spacer

Side Support Part No.

Bore size
[mm] 16 20 25 32 40 50 63
Type
Side support A MY-S16A MY-S20A MY-S25A MY-S32A MY-S40A MY-S63A
Side support B MY-S16B MY-S20B MY-S25B MY-S32B MY-S40B MY-S63B

For details about dimensions, etc., refer to page 51.
A set of side supports consists of a left support and a right support.

40

O

SVC



41

\)



Series MY1M

Cushion Capacity

Cushion Selection

Absorption Capacity of Air Cushion and Stroke Adjustment Units

<Air cushion>

Air cushions are a standard feature on
mechanically jointed rodless cylinders. The
air cushion mechanism is incorporated to
prevent excessive impact of the piston at
the stroke end during high speed
operation. The purpose of air cushion,
thus, is not to decelerate the piston near
the stroke end. The ranges of load and
speed that air cushions can absorb are
within the air cushion limit lines shown in
the graphs.

<Stroke adjustment unit with shock
absorber>

Use this unit when operating with a load or
speed exceeding the air cushion limit line,
or when cushioning is required outside of
the effective air cushion stroke range due
to stroke adjustment.

<L unit>

Use this unit when the cylinder stroke is
outside of the effective air cushion range
even if the load and speed are within the
air cushion limit line, or when the cylinder
is operated in a load and speed range
above the air cushion limit line or below
the L unit limit line.

<H unit>

Use this unit when the cylinder is operated
in a load and speed range above the L unit
limit line and below the H unit limit line.

/\ Caution

1. Refer to the figure below when
using the adjustment bolt to
perform stroke adjustment.

When the effective stroke of the shock
absorber decreases as a result of stroke
adjustment, the absorption capacity
decreases dramatically. Secure the
adjustment bolt at the position where it
protrudes approximately 0.5 mm from the
shock absorber.

Adjustment bolt

Shock absorber

2. Do not use a shock absorber together
with air cushion.

Air Cushion Stroke

[mm]
Bore size [mm] Cushion stroke
16 12
20 15
25 15
32 19
40 24
50 30
63 37

42

MY1 M1 6 Horizontal collision: P = 0.5 MPa MY1 M32 Horizontal collision: P = 0.5 MPa
I I I I I ‘ \‘
2000 : : : 2000 % — H l,,,‘ilx
@ 1500 ‘ : : 2 1500 ‘ : % T’
S {
£ 1000 i ~-Unjy ; £, 1000 ; \\.L\"ni,
= S — e
3 S s 3 1 Shioy
2 500 s & 2 500 : g
& 400 " \;\ @ 400 " " q
S 300 S 300
] i | @ . |
S 200 + 3 200
38 i . o ! !
I I I I
100 " 1 100 : :
05 2 3 45 T 10 2 3 2 3 45 T 10 20 30 45 100
m3 max. m2 max. m1 max. m3 max. m2 max. m1 max.
Load mass [kg] Load mass [kg]
MY1M20 Horizontal coliision: P =05 Mpa MY 1M40 Horizontal collision: P = 0.5 MPa
I I I I I ‘ ‘ I
2000 % % % 2000, ; ; A :
I I I
7 1500 ST ; 7 1500 ‘ ‘ \]{"th i
E 1000 n ‘ E 1000 ‘ 4 B
E - ' ' E j A= iy
) i T 1 \53}/,%,0\
® 500 s SIS H oy h ® 500 . NN
1 aly
2 400 ; P~ L\—r”" 2 400 ; ; N
c 300 Unjy c 300
5 ! AN 5 ! !
k7] cy, k7] : :
£ 200 ; ; Shigy £ 200 ; ;
S : | | '1 8 : :
100 ; 1 100 . )
1 2 345 10 20 % 4 5 2 3 4 10 20 T 50 T
m3 max. m2 max. mi1max. m3 max. m2 max. m1max.
Load mass [kg] Load mass [kg]
MY1 M25 Horizontal collision: P = 0.5 MPa MY1 M50 Horizontal collision: P = 0.5 MPa
i i ‘ i i | H |
2000 % % /l/ % 2000 : . ;
I I l h N
1500 p 1500, ¢
0 PN, e 0 : N)
1000 - 1000 4, =
£ - ir iy £ T ,’00.9 £
- H N oll's'/hb - : T /7/}’,
o 500 § 4 5 500 ] A
[9) ! \ [} 1 I N
8 400 : ; S 400 " y
% 300 ; . 2 300
c I I c I I
(=} I I o I I
G 200 : : @ 200 : :
3> 1 I 3 1 I
o | | © | |
100 L - 100 L A
1 2 3 45 10 20 30 40 50 2 3 45 10 ) 20 304050 100
m3 max. m2 max. mimax. m3 max. m2 max. m1 max.
Load mass [kg] Load mass [kg]
MY1 M63 Horizontal collision: P = 0.5 MPa
: .
I Il I
2000 : ;
— 1500 ; ‘ 1’7!0;,-,;
Q ! N TN
E 1000 : B0~}
£ ——isn )
- j o]
2 500 : ‘
% 400 t '
5 800 1 }
Z 200 :
S i |
O I Il
I Il
100 L
345 10 20 30 50 4 100 T
m3 max.—t m2 max. — m1 max.
Load mass [kg]




Mechanically Jointed Rodless Cylinder
Slide Bearing Guide Type

Series MY1M

Tightening Torque for Stroke
Adjusting Unit Holding Bolts ..,

Bore size [mm] Unit Tightening torque

16 A 0.7
L
A

20 L 1.8
H
A

25 L 35
H
A

32 L 5.8
H
A

40 L 13.8
H
A

50 L 13.8
H
A

63 L 27.5
H

Tightening Torque for Stroke Adjustment
Unit Lock Plate Holding Bolts

[N-m]
Bore size [mm] Unit Tightening torque
L 1.2
25
H 3.3
32 L 3.3
H 10
40 L 3.3
H 10

Calculation of Absorbed Energy for Stroke
Adjusting Unit with Shock Absorber N-

m]
Horizontal Vertical Vertical
collision (Downward) | (Upward)
Type of
impact
Kinetic energy 1_ m-02
E1
ThrusItEinergy F-s F-s+mgs|Fs-mgs
Absorbed energy
E E1 + E2
Symbol

V: Speed of impact object (m/s)

F: Cylinder thrust (N)

s: Shock absorber stroke (m)

m: Mass of impact object (kg)

g: Gravitational acceleration (9.8 m/s?)

Note) The speed of the impact object is measured at
the time of impact with the shock absorber.

/A\Precautions

A\ Caution

Use caution not to get your hands

caught in the unit.

* When wusing a product with stroke
adjustment unit, the space between the
slide table (slider) and the stroke
adjustment unit becomes narrow at the
stroke end, causing a danger of hands
getting caught. Install a protective cover to
prevent direct contact with the human body.

Unit holding bolt
Lock plate

| holding bolt

Adjusting bolt
Lock nut

<Fastening of unit>
The unit can be secured by evenly
tightening the four unit holding bolts.

A\ Caution

Do not operate with the stroke
adjustment unit fixed in an
intermediate position.

When the stroke adjustment unit is fix in
an intermediate position, slippage can
occur depending on the amount of energy
released at the time of an impact. In such
cases, as a stroke adjustment unit with the
spacer for intermediate securing is
available, it is recommended to use it.

For other lengths, please consult with SMC
(Refer to “Tightening Torque for Stroke
Adjusting Unit Holding Bolts”.)

<Stroke adjustment with adjustment bolt>
Loosen the adjustment bolt lock nut, and
adjust the stroke from the lock plate side
using a hexagon wrench. Retighten the
lock nut.

<Stroke adjustment with shock absorber>
Loosen the two lock plate holding bolts,
turn the shock absorber and adjust the
stroke. Then, uniformly tighten the lock
plate holding bolts to secure the shock
absorber.

Take care not to over-tighten the holding
bolts. (Except @ 16, @ 20, @ 50, @ 63)
(Refer to “Tightening Torgue for Stroke
Adjusting Unit Lock Plate Holding Bolts”.)

O
2

Note) Although the lock plate may slightly bend
due to tightening of the lock plate holding
bolt, this does not a affect the shock
absorber and locking function.

43



Series MY1M

Construction: @ 16 to O 63

MY1M16 to 63

MY1M16/20/50/63

MY1M16/20

44

O
2



Mechanically Jointed Rodless Cylinder
Slide Bearing Guide Type

Series MY1M

MY1M16 to 63

Component Parts

No. Description Material Note No. Description Material Note
1 Cylinder tube Alumnium alloy Hard anodised 27 Spacer Stainless steel
2 Head cover WR Alumnium alloy Painted 28 | Backup spring Stainless steel
3 Head cover WL Alumnium alloy Painted 29 Spring pin Carbon tool steel
4 Slide table Alumnium alloy Hard anodised 31 Hexagon socket head cap screw |Chromium molybdenum steel Nickel plated
5 Piston yoke Alumnium alloy Chromated 32 Hexagon socket button head screw |Chromium molybdenum steel Nickel plated
6 Piston Alumnium alloy Chromated 33 Hexagon socket head set screw |Chromium molybdenum steel | Black zinc chromated/Nickel plated
7 End cover Special resin 35 Hexagon socket head taper plug Carbon steel Nickel plated
8 Wear ring Special resin 36 | Magnet —
9 Cushion ring Alumnium alloy Anodised 37 Hexagon socket head set screw [Chromium molybdenum steel | Black zinc chromated
10 Cushion needle Rolled steel Nickel plated 38 Hexagon socket head set screw |Chromium molybdenum steel | Black zinc chromated
11 Stopper Carbon steel Nickel plated 40 | Hexagon socket head taper plug Carbon steel Nickel plated
12 | Belt separator Special resin 4 Magnet holder Special resin (@16, @ 20)
13 Coupler Sintered iron material 42 Hexagon socket head cap screw |Chromium molybdenum steel Nickel plated
14 Guide roller Special resin 43 Type CR retaining ring Spring steel
15 Guide roller shaft Stainless steel 45 Head plate Alumnium alloy Hard anodised (@ 63)
18 Belt clamp Special resin 47 Port cover Special resin (@ 25 to @ 40)
23 Adjusting arm Alumnium alloy Chromated 48 Lub-retainer Special resin
24 Bearing R Special resin
25 Bearing L Special resin
26 Bearing S Special resin
Replacement Part: Seal Kit
No. Description Qty. MY1M16 MY1M20 MY1M25 MY1M32 MY1M40 MY1M50 MY1M63
16 | Seal belt 1 |MY16-16C-[Stroke| MY20-16C-|Stroke| MY25-16C-|Stroke| MY32-16C-|Stroke| MY40-16C-|Stroke| MY50-16C-|Stroke|| MY63-16A-|Stroke
17 | Dust seal band 1 |MY16-16B-|Stroke | MY20-16B-|Stroke| MY25-16B-|Stroke| MY32-16B-|Stroke| MY40-16B-|Stroke| MY50-16B-|Stroke|| MY63-16B-|Stroke
34 | O-ring o |...Kaooses 1} Kao0311 | | KA00311 | . KA00320 |  KA00402 | | Kaoo777 | ] KA00777 .
(@4x01.8x01.1)| (@51x03xD1.05) | (05.1x03xD1.05)| (07.15x03.75x01.7) | (083x045x01.9) — —
44 | Side scraper 2 — — — — — MYM50-15CK0502B | MYMB3-15CK0503B
19 | Scraper 2
20 | Piston seal 2
21 | Cushion seal 2 MY1M16-PS MY1M20-PS MY1M25-PS MY1M32-PS MY1M40-PS MY1M50-PS MY1M63-PS
22 | Tube gasket 2
39 | O-ring 4
« Seal kit includes 19, 20, @D, @ and 39. Order the seal kit based on each bore size.
* Seal kit includes a grease pack (10 g).
When (6 and (7 are shipped independently, a grease pack is included. (10 g per 1000 strokes)
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
Note) Two kinds of dust seal bands are available. Verify the type to use, since the part number varies
depending on the treatmentof the hexagon socket head set screw G3.
A: Black zinc chromated—MYOO-16B-stroke, B: Nickel plated—MYOO-16BW-stroke
45

O
2



Series MY1M

Standard Type/Centralised Piping Type @ 16, @ 20

Refer to page 122 regarding centralised piping port variations.

MY1M16/2000—

s
3
S ——t
AN,
x| +-——=
& 7
ﬁ( /
VV} 2xM5x0.8

(Hexagon socket head plug)

2x2xJ depth K -
s
B
1 .
//_' |
7«
/_

!
Ji

/
2xM5x0.8

(Hexagon socket head plug) o

M5 x 0.8
(Hexagon socket head plug)
4 o ¢ 2y
/ X

\ A
Auto switch

M5 x 0.8 magnet holder
(Hexagon socket head plug) G (Port) Cushion needle G| (Hexagon socket head plug)
|
GB
[
A (Hexagon socket head plug) N
: "~ Z+Stroke - :
_(LL) 4 L _, 4x MM depth M 2 x 2 x @ B counterbore depth C
- B PA " @ LD through-hole
| | )
® S ; 4/ I
= 2 - — ¢ 32
® 2 AL Yy
A
Detailed figure of U section _RS!| o Q + Stroke -
[mm]
Model A B C G |[GA |GB | H J K L |[LD|LH |LL [LW | M MM N | NC | NE | NH [NW | PA
MY1M162 | 80 | 6 35 (135 | 85 [16.2 | 40 |M5x0.8| 10 80 | 3.6 |225 | 40 54 |6 M4x0.7 | 20 14 28 [27.7 | 56 | 40
MY1M20CD 100 | 7.5 | 4.5 (125 |12.5 |20 46 M6x1 | 12 [100 | 4.8 |23 50 58 |75 [M5x08]| 25 17 34 [33.7 | 60 | 50
imm] Detailed Dimensions of U Section [mm]
Model PB|PG|(PP| Q ([ QQ QW |RR|SS |TT |UU |VW | W (WW | XX | Z Model Ut | U2 | U3 | U4 | U5 | U6
MY1M1601| 40 |35 | 7.5 |153 9 | 48 |11 25 | 15 14 |10 68 13 | 30 |160 MY1M1i60 | 5.5 3 2 34 |58 | 5
MY1M20C1 | 40 |45 (115|191 |10 | 45 [145 |5 18 12 125 | 72 14 | 32 | 200 MY1M20C | 5.5 3 2 |34 |58 |55
2x@d Y
i
/ . ! ot
ﬁ o —al I
/ i <A oD
Ji J— =
/ - 1 Bot_tom porte:d
/ - = L9 (Applicable O-ring)
Hole Size for Centralised Piping on the Bottom
Model WX Y S d D R | Applicable O-ring
MY1M160 30 6.5 9 4 8.4 1.1 c6
MY1M20O 32 8 6.5 4 8.4 1.1
(Machine the mounting side to the dimensions below.)
46

O

SVC



Mechanically Jointed Rodless Cylinder
Slide Bearing Guide Type

Standard Type/Centralised Piping Type O 25, @ 32, @ 40

Series MY1M

Refer to page 122 regarding centralised piping port variations.

MY1M2501/320/4000 —

taper plug)

/
3=
=

P

taper plug)

MY1MOG

(Hexagon socket head

(Hexagon socket head

(ww)

69

\AY

2x2ZZ

2 x2xdJ depth K

s
YA E
-
L
| g Y
— 1 >
j— Y

1

(Hexagon socket head taper plug)

(Hexagon socket head taper plug)

MY1MOG

P u
(Hexagon socket head taper plug)
z) g
N\ / aY oy
i = — = i L@ } 2
’ =01/t g
| N EA b
G P Cushion needle G uu T «
Port
(Port) P GB 2xP
A (Hexagon socket head taper plug)| = N (Hexagon socket head taper plug)
- Z + Stroke .
Ut o (ky) L _, 4 x MM depth M 2 x 2 x @ B counterbore depth C
us | Luz2, PA @ LD through-hole
1] V4 =t
gl 1] © v 71 O—7
! po t m = —— .| =z
7 o Figatal c'z
<k o PR S o —1 1
5,4
2 A
Detailed figure of U section pGg || Q + Stroke _
L [mm]
Model A | B|C |G |GB|H J K L (LD |LH|LL |[LW | M MM |MW| N |NC | NE | NH |[NW P PA
MY1M250] |110 9 |55 |17 |245|54 |M6x1| 95|102 |56 |27 | 59 70 | 10 |M5x08| 66 |30 |21 |[41.8 |40.5| 60 |Rc1/8 60
MY1M32(J|140 | 11 |65 | 19 |30 68 | M8x125(16 (132 |6.8 | 35 | 74 88 | 13 | M6x1 |80 |37 |26 |52.3 |50 74 | Rc1/8 80
MY1M401 (170 | 14 |85 |23 |36.5| 84 |MI0x15(15 (162 |86 |38 |89 (104 |13 |M6x1|96 |45 |32 |65.3 |63.5| 94 |Rc1/4 [100
“P” indicates cylinder supply ports.
Detailed Dimensions
mm) of U Section [mm]
Model PB | PG [PP1|{PP2| Q | QQ|QW |RR1|RR2| SS | TT |UU |VV | W |WW| XX | Z zz Model Ul [U2 [ U3 | U4 | U5 | U6
MY1M2503 | 50 12.7 [12.7 |206 [15.5| 46 (189 (179 |41 (1565 |16 |16 | 84 | 11 | 38 |220 |Rc 1/16 MY1M250] | 5.5 | 3 2 |34 |58
MY1M320 | 60 15.5 |18.5 (264 |16 | 60 (22 |24 |4 |21 16 | 19 |102 | 13 | 48 |280 |[Rc 1/16 MY1M320 | 55 | 3 2 |34 |58
MY1M40C1| 80 175|120 |322 |26 72 |25.5 |29 9 |26 21 | 23 118 | 20 | 54 [340 | Rc1/8 MY1M40O | 6.5 | 3.8 2 |45 |73
] =1
‘ A
/ o
[
L Bottom ported (Z22)
/ (Applicable O-ring)
r
Hole Size for Centralised Piping on the Bottom
Model WX Y S d D R | Applicable O-ring
MY1M250] 38 9 4 6 11.4 1.1 co
MY1M320 48 11 6 6 11.4 11
MY1M400C 54 14 9 8 13.4 1.1 Ci11.2
(Machine the mounting side to the dimensions below.)
47

~
Z

SVC



Series MY1M

Standard Type/Centralised Piping Type @ 50, @ 63

Refer to page 122 regarding centralised piping port variations.

MY1M500/600] —

Rc 3/8
(Hexagon socket head

taper plug) E 2 x 2 x J depth K E
o [ S N D)
.;’ < — = <
A W=t Le® [
" Ro3s 2 = = %
(o] — —
(Hexagon socket head Q 7’ ! ﬁ@ ‘
taper plug) / £
w | | 2 x Re 1/4 2 x Re 1/4 A
o " (Hexagon socket head taper plug) (Hexagon socket head taper plu
MY1MOG (Herag perig) (Heoag perpLg MY1MOG
w
u Rc 3/8 w1
(Hexagon socket head taper plug) w Vf“
) g I S . = AN s I
i o0 § 9y ©F d 7% VAl oF [ Y P
@ [ e ¥ T P 1 w|I
) \ [0 —/Sl+ @ ZZ
N 4 z ‘ 11
ol al - I B TYE-)
gu| 7T o | IGA\ Rc3s Cushion needle / / GAl | _ LU
2xRc3/8 G (Port) éﬁ 2xRc 3/8
(Hexagon socket head taper plug) Rc 3/8 B (Hexagon socket head taper plug)
A A _ (Hexagon socket head taper plug) N
- Z + Stroke -
U
us U2 (kb L _ 4 x MM depth M 2 x 2 x @ B counterbore depth C
— > PA @ LD through-hole
R VA
=1 o = ¢ ¥ —T A ¢ OO
Y ;1\; S 1A
] ——R—- = -} 3 0® |z
A ] n n
sl o [+ 3 S oo | 1y
. . . * MY1M630]
Detailed figure of U section PG ‘4 Q + Stroke _
T 1 [mm]
Model A B|C| G |GAIGB| H J K| L |LD|LH|LK|LL |[LW | M MM N |NC | NE | NF [ NH |[NW | PA
MY1M50J|200 | 17 |10.5 (27 |25 |37.5 (107 |M14x2| 28 [200 |11 29 2 100 (128 | 15 |M8x125 | 47 (435 | 845 | 81 | 835 (118 |120
MY1M631|230 | 19 |12.5 |29.5 [27.5 [39.5 [130 |M16x2 | 32 |230 (135 |32.5 | 5.5 [115 (152 |16 |Mi0x15| 50 [56 (104 |103 [105 |142 [140
Detailed Dimensions of
[mm] U Section [mm]
Model PB|PG|PP| Q |lQQ(QW |RR|[SS |TT [UU|VV | W |W1 WW|XX | Z Model Ul |U2 [ U3 |U4 | U5 | U6
MY1M50CJ| 90 |10 | 26 |380 | 28 90 [ 35 |10 |35 |24 |28 |144 | 128 | 22 | 74 |400 MY1M500J| 6.5 [3.8 |2 45 |73 8
MY1M63J|110 |12 | 42 [436 |30 (110 |49 |13 |43 |28 |30 (168 | 152 | 25 | 92 |[460 MY1M63J| 8.5 |5 25 |55 |84 8
2x0d Y
.
JE—— oY il i |
E:Z ‘
/ - T b ‘
- = . | x
- = r = @D
-z N \
/ __ g Bottom ported
(Applicable O-ring)
Hole Size for Centralised Piping on the Bottom
Model WX Y S d D R | Applicable O-ring
MY1M500 74 18 8 10 17.5 1.1 ci5
MY1M63C] 92 18 9 10 17.5 1.1
(Machine the mounting side to the dimensions below.)
48
2 S\NC



Mechanically Jointed Rodless Cylinder

Stroke Adjustment Unit

Slide Bearing Guide Type

Series MY1TM

With adjustment bolt
MY1M)| Bore size|[1—| Stroke |A

FC /

I I JEN PN @

- il ool —

QL e 00 O E [Ep——— (Y

— ——
:/ B
! 9% @
—E - /'
EA
) ) I MY1M50/63
hd [11]
; nE wl =
/’:
o / h
Stroke adjusting unit
TT

Applicable bore size | E EA | EB| EC | EY |[FC| h TT w
MY1M16 14.6 7 30 58 | 395 | 14 | 3.6 | 5.4 (Max.11) 58
MY1M20 20 10 32 58 | 455 |14 | 3.6 5 (Max. 11) 58
MY1M25 24 12 38 6.5 | 535 |13 | 3.5 | 5(Max.16.5) 70
MY1M32 29 14 50 8.5 | 67 17 | 4.5 8 (Max. 20) 88
MY1M40 35 17 57 |10 83 17 | 45 9 (Max.25) | 104
MY1M50 40 20 66 (14 106 26 | 55 13 (Max. 33) | 128
MY1M63 52 26 77 (14 129 31 | 55 13 (Max. 38) | 152

With low load shock absorber + Adjustment bolt

MY1M| Bore size|[1—| Stroke |L

Shock absorber

L
Q== — |9 @ / NRE!
=l = /:@ ©
T — =
/ﬂ:h';@:
EF , Y @
l’ EA / =
/% N ji ol = MY1M50/63
- T w
/ ¥l
Stroke adjustment unit/ /
(Shock absorber stroke) T S MY1M16/20
[mm]

Applicable size E EA | EB | EC EY F FB FC FH FW h S T TT W | Shock absorber model
MY1M16 14.6 7 30 5.8 39.5 4 | —— | 14 —— | —— | 3.6 [40.8 6 |5.4 (Max. 11) 58 RB0806
MY1M20 20 10 32 5.8 45.5 4 | —— | 14 —— | ——| 8.6 [408 6 5 (Max. 11) 58 RB0806
MY1M25 24 12 38 6.5 53.5 6 54 13 |13 66 3.5 |46.7 7 |5 (Max. 16.5) 70 RB1007
MY1M32 29 14 50 8.5 67 6 67 17 |16 80 45 |67.3 12 8 (Max. 20) 88 RB1412
MY1M40 35 17 57 10 83 6 78 17 17.5 91 45 |67.3 12 9 (Max.25) | 104 RB1412
MY1M50 40 20 66 |14 106 6 | — | 26 — | ——| 55 |[732 15 |13 (Max.33) | 128 RB2015
MY1M63 52 26 77 |14 129 6 | — | 31 —— | —— | 55 |782 15 |13 (Max.38) | 152 RB2015

O
2

49



Series MY1M

Stroke Adjustment Unit

With high load shock absorber + Adjustment bolt
MY1M| Bore size|[1—| Stroke |H

FW

Shock absorber

|

W
l

%

1@
T

'I-r |
) D)@
h / N7
E__F '
EA / FAL
> = ] MY1M50/63
— ol
Stroke adjustment unit / / MY1M16/20
(Shock absorber stroke) T S

= Since dimension EY of the H type unit is greater than the table top height (dimension H), when mounting a workpiece that exceeds the overall length (dimension L) of the slide
table, allow a clearance of dimension “a” or larger on the workpiece side.

Applicable bore size | E EA | EB | EC | EY F FB | FC | FH | FW | h S T TT W | Shock absorber model a
MY1M20 20 10 32 7.7 | 50 5 — | 14 | — | ——| 3.5 |46.7 7 5 (Max. 11) 58 RB1007 5
MY1M25 24 12 38 9 57.5 6 52 17 16 66 4.5 |67.3 12 | 5(Max.16.5)| 70 RB1412 4.5
MY1M32 29 14 50 (115 | 73 8 67 22 22 82 55 |73.2 15 8 (Max. 20) 88 RB2015
MY1M40 35 17 57 |12 87 8 78 22 22 95 55 |73.2 15 9 (Max. 25) | 104 RB2015
MY1M50 40 20 66 |18.5 |115 8 —\ 30 | —|— |1 99 25 |13 (Max.33) | 128 RB2725
MY1M63 52 26 77 |19 138.5 8 — | 35 | — | — |11 99 25 |13 (Max.38) | 152 RB2725 9.5

50

O
2



Mechanically Jointed Rodless Cylinder .
Slide Bearing Guide Type Series Y TM

Side Support

Side support A
MY-SOIA ‘

5 2x0 G [ i )

2x@H w

Side support B
MY-SCB

|
|

Model | Applicable bore size | A B [ D E F | G H J
MY-S168 | MY1IM16 | 61 | 716| 15 | 26 | 49| 3 65| 34| M4x0.7
MY-S208 | MY1M20 | 67 | 796| 25 38 | 64| 4 8 45| M5x0.8

5
6

MY-S258 | MY1M25 81 | 95 35 50 8 95| 55 M6 x 1
MY-S328 | MY1M32 | 100 |118 45 64 | 11.7 11 6.6 | M8x1.25
MY1M40 | 120 | 142
_Q40A

MY-S405 MY1M50 | 142 | 164 55 80 (148 | 85|14 9 M10x 1.5
MY-S638 | MY1M63 | 172 | 202 70 | 100 | 18.3 | 10.5 175 |11.5 | M12x1.75

+ A set of side supports consists of a left support and a right support.

Guide for Side Support Application

For long stroke operation, the cylinder m [kg] 200
tube may be deflected depending on its [ 190

own weight and the load mass. In such a ]_Y—]:l—ﬂ_\ (2100)
case, use a side support in the middle , 7 180
section. The spacing (L) of the support 170
must be no more than the values shown 160
in the graph on the right.

130
(1800)
120 \

/\ Caution

1. If the cylinder mounting surfaces are
not measured accurately, using a side

110 =2
10 b1z

Mass [m]

L
140

3
m
L

m

1

———

support may cause poor operation. | | [ ] o \_
Therefore, be sure to level the cylinder 7 7. 80 \z \
tube when mounting. Also, for long L L 70 % \
stroke operation involving vibration 60 A\‘ﬂ \

and impact, use of a side support is 50 2

recommended even if the spacing 20 \E \

value is within the allowable limits \ [\

shown in the graph. 30 \ \ \

2. Support brackets are not for mounting; 20 \ \
idi N \

use them solely for providing support. 10 NS NAR

0 1000 2000 3000 4000 5000
[mm]

Support spacing (L)

SVC 51

O



\)

52



ies Y1 C

Cam Follower Guide Type
916, @ 20, @ 25, @ 32, @ 40, @ 50, O 63

Moment resistance,

and available in
Cam follower

long strokes.
Adjusting mechanism

RN
(Z ‘E--— -

X

O
2



series MY1C Prior to Use

Maximum Allowable Moment/Maximum Load Mass

Maximum Allowable Moment

Model Bore size Maximum allowable moment [N-m] Maximum load mass [kg]
[mm] M1 M2 M3 m1 m2 m3
16 6.0 3.0 2.0 18 7 2.1

20 10 5.0 3.0 25 10 3
25 15 8.5 5.0 35 14 4.2

MY1C 32 30 14 10 49 21 6
40 60 23 20 68 30 8.2
50 115 35 35 93 42 11.5

63 150 50 50 130 60 16

The above values are the maximum allowable values for moment and load. Refer to each graph
regarding the maximum allowable moment and maximum allowable load for a particular piston speed.

Load mass (kg)

mi

\ 7

&

Moment (N-m)

ms3

F1 < M1=F1xL1 F2 Ms=F3x L3

—

-\M2= F2x L2 F3<

L2

i}

T

<Calculation of guide load factor>
1. Maximum allowable load (1), static moment (2), and dynamic moment (3) (at the time of
impact with stopper) must be examined for the selection calculations.
x To evaluate, use Va (average speed) for (1) and (2), and L (collision speed L = 1.4Va)
for (3). Calculate mmax for (1) from the maximum allowable load graph (m+, mz, ms) and
Mmax for (2) and (3) from the maximum allowable moment graph (M, M2, Ms).

@
-

1 a1 ]

Sum of guide _ Static moment [M]®  Dynamic moment [Me] @
load factors " Maximum allowable load [m max]  Allowable static moment [Mmax] * Allowable dynamic moment [Memax] —

Load mass [m]

Note 1) Moment caused by the load, etc., with cylinder in resting condition.

Note 2) Moment caused by the impact load equivalent at the stroke end (at the time of impact with stopper).

Note 3) Depending on the shape of the workpiece, multiple moments may occur. When this happens, the sum
of the load factors (X) is the total of all such moments.

2. Reference formula [Dynamic moment at impact]
Use the following formulae to calculate dynamic moment when taking stopper impact into
consideration.

m: Load mass (kg)

F: Load (N)

Fe: Load equivalent to impact (at impact with stopper) (N)
‘Va: Average speed (mm/s)

M: Static moment (N-m)

V: Collision speed (mm/s)
L1: Distance to the load’s centre of gravity (m)
Me: Dynamic moment (N-m)
O: Damper coefficient At collision: U = 1.4Va
With rubber bumper = 4/100
Note 4) MY1B10, MY1H10
U = 1.4va (mm/s) Fe = 1'4Da'8'm'g \(Nith air cushion = 1)/100

ote 5)
- Me= %.::‘E.L = 4.570admL: (N-m) With shock absorber = 1/100
g: Gravitational acceleration (9.8 m/s?)

Note 4) 1.4Vas is a dimensionless coefficient for calculating impact force.
Note 5) Average load coefficient (= %): This coefficient is for averaging the maximum load moment at the time of
stopper impact according to service life calculations.

3. For detailed selection procedures, refer to pages 56 and 57. -
-

Select the moment from within the
range of operating limits shown in the
graphs. Note that the maximum
allowable load value may sometimes
be exceeded even within the
operating limits shown in the graphs.
Therefore, also check the allowable
load for the selected conditions.

Maximum Load Mass

Select the load from within the range
of limits shown in the graphs. Note
that the maximum allowable moment
value may sometimes be exceeded
even within the operating limits shown
in the graphs. Therefore, also check
the allowable moment for the selected
conditions.

o

s

54

O
2



Prior to Use Series MY1 C

MY1C/M1 MY1C/M2 MY1C/Ms
200
50 50
L 40 \\ 40 N
100
N 30 N 30 N
\\ AN \ N
NN 20 N NN 20 i
N N
50 N \ \
40 N NN \ N
N N N
N 10 \ MY1C63] \
30 \MY‘1C63* NN 10 = - Mv?csa—
N N
T D mvicso| | E AW N—Jmvicso] | € NN Jmvacso
z 20 N z \\ NIRN i z
- \ \ 2 ° NN \ Ymyicao = °
£ D MY1C40 g ¢ NN\ g 4 TN [MYre4o
[e] [*]
£ 10 = N ywicz| | = 3
\\ N AN \ \
ANEA 2 NN 2 NG MY1C32]
) MY1C32] NN Nwviczs N
5 N \
4 \\ N N N
. o - 1 MY1C20 1 & MY1C25
‘ \ ANERN
2 MYAC20- MY1C16 MY1C20
\ 0.5 0.5 %
MY1C1
MYicts ‘c 6
! 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500
Piston speed  [mm/s] Piston speed  [mm/s] Piston speed  [mm/s]
MY1C/m1 MY1C/m2 MY1C/ms
30
200
20
100 N 100
AN
\\ 10 \\\
\\ N N
50 N 50 \\ N\
40 N N 40 N
% NN N ] \
N N AR 30 \ N
= N TmYicss| | N = N N
=z, \\ N, 2 5 NN 2 4 \ N \
0 NN Jieso N WK N MY1C63]
o NN | @ NN o 3 NCNN \ |
g NN MY1C40 2 NN N 8
E NN | E NN Jmvices £ NN YMyicso
T 10 NN YMY1C32 T 10 N N1 T 2 \ NCIN x
S N~ S AVAR N NMYAC50 S MY1C40
NEAN | AN N\, |
N JMYic2s C w \
§ x N (TN [MY1C40 MY1C32
5 \ MY1C20 5 \ \\ N 1 |
. & s N TMYICE2 NI
MY1C16 N[N N ,lc 5
3 3 N . |
\| MY‘1025 e
2 2 ™ MY1C20 0.5 \ I
\ \ 04 MY1C16
MY1C16
0.3
1 1
100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500 02 100 200 300 400 500 1000 1500
Piston speed  [mm/s] Piston speed  [mm/s] Piston speed  [mm/s]

55



Series MY1C
Model Selection

Following are the steps for selecting the most suitable Series MY 1C to your application.

Calculation of Guide Load Factor

1. Operating Conditions

- omm-—- Mounting Orientation -----
(037] 137 [-) 2SR MY1C40-500 ' g \
Average operating speed Va --- 300 mm/s ' 1. Horizontal Z 2 m‘ﬂming y :
Mounting orientation..-.-....... Ceiling mounting i mounting | ) :
Cushion: ceceeeecencannanes Air cushion ! :

(6 =1/100) Wa: Connection plate t = 10 (880 g) ' S !
1 1
: SR
MY1C40-500 Wa: Workpiece (5000) | 3, ceiling X M E
. mounting . b | 1
1 4. Vertical .l | 1
! £ mounting | L[| ,
: | )
1 1
Whb: MGGLB25-200(4.35kg) G
We: MHL2-16D1 (795 g) For actual examples of calculation for each orientation,
refer to the pages above.
2. Load Blocking
S o y § M Mass and Centre of Gravity
- for Each Workpiece
P Centre of gravity
m Workpiece no. Mass = ; =
210 Wn mn X-axis Y-axis Z-axis
Xn Yn Zn
z v Wa 0.88 kg 65 mm 0 mm 5 mm
4 T Wb 4.35 kg 150 mm Omm | 42.5mm
’ ‘ : X ‘ ‘ We 0.795kg | 150 mm 111 mm | 425mm
65 Wd 0.5 kg 150 mm 210 mm | 42.5mm
150 n=a, b, c, d

3. Composite Centre of Gravity Calculation

mz2 = Xmn
=0.88 +4.35+ 0.795 + 0.5 = 6.525 kg

1

X =7X2(mnXXn)
ma2
=6 ;25 (0.88 x 65 + 4.35 x 150 + 0.795 x 150 + 0.5 x 150) = 138.5 mm
Y =éx2(mnxyn)
= 65125 (0.88x0+4.35x0+0.795x 111 + 0.5 x 210) = 29.6 mm
Z = X3 (mnxzn)
ma2

1

= 6505 (0.88 x5 +4.35x42.5 +0.795 x 42.5 + 0.5 x 42.5) = 37.4 mm

4. Calculation of Load Factor for Static Load
mz: Mass

mz2max (from (1) of graph MY1C/mz) = 30 (kg)

Load factor Oli = mz/mz2max = 6.525/30 =0.22

M:: Moment
M1 max (from (2) of graph MY 1C/M1) = B0 (N-M)-eseseeseesesressesemeusmsnmsnmssisinsisiseisisssssssssesssssssssesnseseess
Mi=m2xgxX=6.525x 9.8 x 138.5 x 10-3 = 8.86 (N-m)
Load factor Ol = M1/M1 max = 8.86/60 =0.15

56

O
2



5.

. Sum and Examination of Guide Load Factors

Model Selection Series M Y1C

M2: Moment
M2 max (from (3) of graph MY1C/Mz) = 23.0 (N-M)ewsereeeeresersemnemsminmsemniiniisiinrseiseississseeeess
M2=m2xgxY=6.525x9.8x29.6x10-3=1.89 (N-m)
Load factor Ols = M2/M2max = 1.89/23.0 = 0.08

Calculation of Load Factor for Dynamic Moment

Equivalent load Fe at impact

FE=1.4Uax8xmxg=1.4x300xﬁ) X 6.525 x 9.8 = 268.6 (N)

Mie: Moment
Mie max (from (4) of graph MY1C/M1 where 1.4va = 420 mm/s) = 42.9 (N-m)-----eeeeeeee
Mie =% xFexZ= %x 268.6 x 37.4 x 102 = 3.35 (N-m)
Load factor Ola = Mie/Mie max = 3.35/42.9 = 0.08

Mse: Moment
Mse max (from (5) of graph MY1C/Ms where 1.4va = 420 mm/s) = 14.3 (N-m)
Mae =% x Fex Y =% X 268.6 X 29.6 x 102 = 2.65 (N-m)

Load factor Ols = M3e/Mse max = 2.65/14.3 = 0.19

Z(x=(X1+O(z+(Xa+OCa+O(,5=O.72S1

The above calculation is within the allowable value, and therefore the selected model can be used.

Select a shock absorber separately.

In an actual calculation, when the total sum of guide load factors « in the formula above is more than 1, consider either

decreasing the speed, increasing the bore size, or changing the product series. This calculation can be easily made using the
“SMC Pneumatics CAD System”.

Load Mass Allowable Moment
MY1C/mz2 MY1C/M: MY1C/M: MY1C/M;
200
50 50
\ 40 N 40 N
100 AN 30
100 N @)\ 30 N
AVAN
2 A 20 N \\\ 20 N \\
~ N N ~ [N
50 N 50 N4 N N SNIN
% R === UN \ -----_}\ N
40 (1 N\ A . i \
— 30 N 30 i Nnvices 10 NN icss 10 PR vicss
g N € \ : E N t € N NN
=, "N S X MY1C50 = N myicso| | E T N Nuvicso
@ 20 NN Z 20 N = \ h > ; 1
2 NN = N S s (IANE = . 1
g \ \ \ e e : N \ e ‘T T NN [N Ymvice £ 5 : q
T 0 \ N \\ il £ wice| | £ \\ ‘i g 4 NN ek
3 \\\ \\MY?CSO s 10 \ ] = 3 N NWYica| 2 3 i
MY1C40 NN NN N o
N AN b \ "y 2 NCTIN T 2 NCTN MY1C32
5 N NN N MY1C32 N N MY1C25 1 N
NN Ymvics2 5 NN
4 N N \
3 N \ ‘ 4 NCTTS N N ‘ k \\
NN JMvices J NN 1 MY1C20 1 u MY1C25
N | 3 ] MY1C25 T I N 1
2 MY1C20 ‘ N1 = NI
N\ | . | M¥iC20 . P t o
m my T MY
MY1C16 ' ‘ 05 05 . |
1 ]
N Myicts ] Yrcw
100 200 300 400 500 1000 1500 ! 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500 100 200 300 400 500 1000 1500
Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s] Piston speed [mm/s]

57



eIy MY1C

Mechanically Jointed Rodless Cylinder
Cam Follower Guide Type

Series MY1C

216,09 20,9 25,9 32,9 40, D 50, D 63

How to Order

25

300

M9BW

Cam follower guide type
Bore size
16 | 16 mm
20 | 20 mm
25 | 25 mm
32 | 32 mm
40 | 40 mm
50 | 50 mm
63 | 63 mm
Port thread typee®
Symbol | Type Bore size

— Mthread| @ 16, @ 20
Rc @25, 0 32,

TN NPT @ 40, @ 50,

TF G 0 63

Piping ®
— Standard type
G Centralised piping type
Cylinder stroke [mm]®
Bore size % DTG
Standard stroke [MH]* manufacturable
L1135 stroke [mm]
L 100, 200, 300, 400, 500, 600, 700 3000
20, 25, 32 800, 900, 1000, 1200, 1400, 1600
40,50,63 | 1800, 2000 5000

= The stroke can be manufactured up to the maximum stroke from 1 mm stroke in 1 mm
increments. However, when the stroke is 49 mm or less, the air cushion capability lowers
and multiple auto switches cannot be mounted. Pay special attention to this point.

Also when exceeding a 2000 mm stroke, specify “-XB11” at the end of the model number.

For details, refer to the “Made to Order Specifications”

m‘ade to Order

Refer to page 59
for details.

Number of auto switches

— 2 pcs.
S 1 pc.
n “n” pcs.

e Auto switch

=

| Without auto switch (Built-in magnet) |

Applicable auto switches vary depending on the
bore size. Select an applicable one referring to
the table below.

eStroke adjustment unit symbol

Refer to “Stroke adjustment unit” on page 59.

Applicable Auto Switches/refer to pages 107 to 117 for further information on auto switches.

Electrical 3 Wiring Load voltage Auto switch model Lead wire length (m) Prewited
Type| Special function entry § (Output) De AC Perpendicular In-line 05|1 (3|5 PR Applicable load
2 016,020[02510063]016,02002510063] (—) [(M)| (L) | (@)
< 3-wire (NPN) M9ONV M9N ® ®@/®@ O O o
5V, 12V IC circuit
£ — 3-wire (PNP) M9PV MoP e e/@O0| O | ™
) 2-wire 12V M9BV M9B ® /@@ O| O —
[} -
= | o 3-wire (NPN) MONWV MIONW ® e O O _
=) 5V, 12V IC circuit
@ | Diagnosticindication | o ot |yes| 3owire (PNP)| 24 V — M9PWV M9PW e |@e/@e[0]| O roull| Relay,
@ | (2-colour indication) - PLC
s 2-wire 12V M9BWV M9BW ® /0 O| O —
@ 3-wire (NPN) MONAV** M9INA** O|0O|@|O| O .
o i 5V, 12V - IC circuit
2 |, Water resistant 3-wire (PNP) MOPAV™ | M9PA™ | O [O|@[O] O | "
O | (2-colour indication) - = =
@ 2-wire 12V M9BAV* M9BA™* O|0O|®@|O] O —
- £ Yes uire (NPN equivalent)|  — 5V — A96V | — A% | 276 @ |— | @ | — | — |ICcircuit| —
8 E — Grommet | | o-wire oav | 1oy 190V A93V | — A93 [ Z73 @ —| @ @& — — | Relay,
E] No 100 Vorlesss A9OV | — A90 | 280 @ | — |®@ | — | — |ICcircuit| PLC

= \Water resistant type auto switches can be mounted on the above models, but in such case SMC cannot guarantee water resistance.
Consult with SMC regarding water resistant types with the above model numbers.

(Example) MONW

# Lead wire length symbols: 0.5 m .- —

58

im-
3m -
5m -

M
L
z

)
Example)
)

MONWM

(
(Example) MONWL
(Example) MONWZ

* There are other applicable auto switches than listed above. For details, refer to page 117.
+ Auto switches are shipped together (not assembled). (Refer to pages 115 to 117 for the details of auto switch mounting.)

+ Solid state auto switches marked with “O” are produced upon receipt of order.
« Separate switch spacers (BMG2-012) are required to retrofit auto switches (M9 type) on cylinders @ 25
to @ 63.



Mechanically Jointed Rodless Cylinder
Cam Follower Guide Type

Series MY1C

speed should be 100 to 200 mm per second.
Note 2) The piston speed is 100 to 1000 mm/s for centralised piping.
Note 3) Use at a speed within the absorption capacity range. Refer to page 62.

Stroke Adjustment Unit Specifications

Specifications
Bore size [mm] 16 | 20 | 25 | 32 | 40 [ 50 | 63
Fluid Air
Action Double acting
Operating pressure range 0.15t0 0.8 MPa [ 0.1 to 0.8 MPa
Proof pressure 1.2 MPa
Ambient and fluid temperature 5t0 60 °C
Cushion Air cushion
Lubrication Non-lube
Air cushion Stroke length tolerance 188? f; Ise:g(;gigg 2700 or less*$® 2701 to 5000 %42
Viade to . . Pipinq Front/Side port M5 x 0.8 Rc 1/8 Rc 1/4 Rc 3/8
Order Made to Order: Specifications port size | Bottom port o4 o6 o8 @10
(Refer to page 118 to 120 for details.)
Symbol Specifications Piston Speed
-X168 | Helical insert thread specifications Bore size [mm] 16 to 63
-XB11 | Long stroke type Without stroke adjustment unit 100 to 1000 mm/s
-XB22 | Shock absorber soft type Series RJ type Stroke A unit 100 to 1000 mm/s "
-XC67 | NBR rubber lining in dust seal band adjustment unit | | unit and H unit 100 to 1500 mm/s @
-XC56 | Knock pins holes Note 1) Be aware that when the stroke adjustment range is increased by manipulating the adjustment bolt, the air
20- Cooper-free cushion capacity decreases. Also, when exceeding the air cushion stroke ranges on page 62, the piston

Bore size [mm] 16 20 25 32 40 50 63
Unit symbol A L A L H A L H L H A L H A L H A L H

. . RB RB RB RB RB RB | RB RB | RB RB | RB RB | RB
Configuration wih | 0806 | win | 0806 | 1007 | win | 1007 | 1412 | win | 1412|2015 | win | 1412|2015 | win | 2015|2725 | wi | 2015|2725
Shock absorber adusment| o+ | adustnent | o [adusment | o adusment| Lk agusment | R fadusment| b adusment| R
model bol adjustment bok adjustment | adjustment bolt adjustment | adjustment b adjustment | adjustment bok adjustment | adjustment bal adjustment | adjustment bol adjustment | adjustment

bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt bolt

i‘;ﬁﬁ:ndggs;; Without spacer 0to-5.6 0to -6 Oto-11.5 Oto-12 Oto—-16 0to —20 0to-25
;nt_ermediate With short spacer| 5.6 t0 -11.2 —6to —12 -11.5t0-23 -12to0-24 —16 to —32 —20 to —40 —25 to —50
IXing spacer
fmm e Withlong spacer | 11210168 | —12to —18 —231t0-34.5 —24 1036 —32t0 48 —40 to —60 50 to —75

= Stroke adjustment range is applicable for one side when mounted on a cylinder.

Stroke Adjustment Unit Symbol

Stroke adjustment unit
mounting diagram

RIS 31 S S UEITEL I Stroke adjustment unit  Intermediate
VR ; L: With low load shock absorber | H: With high load shock absorber fixing spacer
Without A G G LSRR 2D + Adjustment bolt + Adjustment bolt
unit With short | With long With short | With long With short | With long
spacer | spacer spacer | spacer spacer | spacer
= Without unit — SA SA6 | SA7 SL SL6 SL7 SH SH6 | SH7
; A: With adjustment bolt | AS A AA6 | AA7 AL AL6 | AL7 AH AH6 | AH7
“E’ With short spacer| A6S | AGA A6 | A6A7 | A6L | A6L6 | A6L7 | A6H | A6H6 | A6H7
% With A7S | A7A |A7A6 | A7 | A7L | A7L6 | A7L7 | ATH | A7H6 | A7H7 | [ample of HGH7 attachment
= th long Spacer [Left side] [Right side]
S |L: With low load shock absorber + | LS LA LA6 | LA7 L LL6 | LL7 LH LH6 | LH7 m H u
g ﬁglltustmem With short spacer| L6S | L6A | L6A6 | L6A7 | L6L | L6 | L6L7 | L6H | L6H6 | L6H7 Short spacer  Long spacer
= With long spacer | L7S L7A | L7A6 | L7A7 | L7L | L7L6 L7 L7H | L7H6 | L7H7
R
-8 |H: With high load shock absorber +| HS HA HA6 | HA7 HL HL6 | HL7 H HH6 | HH7 | — ;3
e ﬁglltustmem With short spacer| H6S | H6A | H6A6 | HBA7 | H6L | H6L6 | H6L7 | HGH | H6 | H6H7 i i
3 With long spacer | H7S | H7A | H7A6 | H7A7 | H7L | H7L6 | H7L7 | H7H | H7TH6 | H7 Port
« Spacers are used to fix the stroke adjustment unit at an intermediate stroke position.
Shock Absorbers for L and H Units Shock Absorber Specifications
. dslr(t)ke t Bore size [mm] Model RB | RB | RB | RB | RB
e adjustmen
yp! it 16 ‘ 20 25 32 40 50 63 : 0806 | 1007 | 1412 | 2015 | 2725
Standard L RB0S06 RB1007 RB1412 RB2015 Max. energy absorption [J]| 2.9 59 | 19.6 | 58.8 | 147
(Shock absorber/ Stroke absorption [nm]| 6 7 12 15 25
RB series) H — \ RB1007 | RB1412 RB2015 RB2725 —
Shock absorbar 3 R 10806 RO J1a12H Max. collision speed [mm/s] 1500
soft type RJ series — — Max. operating frequency [cycle/min]| 80 | 70 | 45 | 25 | 10
mounted (-XB22) H — \ RJI007H | RJ1412H| — - - - Spring Extended | 1.96 | 4.22 | 6.86 | 8.34 | 8.83
* The shock absorber service life is different from that of the MY1C cylinder depending on operating force [N] Retracted | 4.22 | 6.86 | 15.98 | 20.50 | 20.01
conditions. Refer to the RB Series Specific Product Precautions for the replacement period. Operating t 1 °C
* Mounted shock absorber soft type RJ series (-XB22) is made to order specifications. perating temperature range ['C] 51060

SVC

O

= The shock absorber service life is different from that of the MY1C
cylinder depending on operating conditions. Refer to the RB Series
Specific Product Precautions for the replacement period.

59



Series MY1C

Theoretical Output Weight
-
[N] kgl
2;’2': P;féc;” Operating pressure [MPa] 5 Additional| | Side support bracket | Stroke adjustment unit weight
mm] |[mmz| 02 | 03 | 04 | 05 | 06 | 07 | 08 awe | Basic | Weioht | WO | weigh perel (per unit)
weight per each | of moving PP T
16 200| 40 60 80| 100| 120| 140| 160 [mm] 50mm | pats | Type A and B| A Unit unit unit
of stroke weight | weight | weight
20 314 62 94 125 157 188 219 251
16 0.67| 0.12 | 0.22 0.01 0.03 0.04 —_
25 490 98 147 196 | 245| 294| 343| 392
20 1.06| 0.15 | 0.31 0.02 0.04 0.05 0.08
32 804 | 161 241 322 402 483 563 643 25 158| 024 | o041 0.02 0.07 011 018
40 1256 | 251 377 502 | 628| 754| 879| 1005 - 3'14 0'3 0.86 0'04 0'14 0'23 0'39
50 1962 | 392 588 784 981 | 1177 | 1373| 1569
40 5.60| 0.52 | 1.49 0.08 0.25 0.34 0.48
63 3115 | 623 934 1246 | 1557 | 1869 | 2180 | 2492
: - 50 |10.14| 0.76 | 2.59 0.08 0.36 0.51 0.81
Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm2)
63 |16.67| 1.10 | 4.26 0.17 0.68 0.83 1.08
Calculation: (Example) MY1C25-300A
* Basic weight---«---eoeeeeee 1.58 kg
* Cylinder stroke -- 300 stroke

Option

¢ Additional weight:-------- 0.24/50 stroke
1.58 + 0.24 x 300/50 + 0.07 x 2 = 3.16 kg
¢ Weight of A unit---------- 0.07 kg

Stroke Adjustment Unit Part No.

MYM-A

25

L2

Stroke adjustment unit

N

Stroke adjustment unitI
Bore size e
16| 16 mm .
20| 20 mm Unit m_)'
25| 25mm Symbol| Stroke adjustment unit '\gggﬂit(';g
32| 32mm
A1l ) Left
40| 40 mm A unit -
A2 Right
50| 50 mm
63| 63mm = L unit Left
L2 Right
H1 . Left
H2 H unit Right

Note 1) Refer to page 59 for details about
adjustment range.
Note 2) A and L unit only for @ 16

Component Parts

Intermediate
fixing spacer

llntermediate fixing spacer

— Without spacer
6L] Short spacer
70] Long spacer
lSpacer delivery style
— Unit installed
N Spacer only

« Spacers are used to fix the stroke adjustment unit at an
intermediate stroke position.
= Spacers are shipped for a set of two.

MYM-A25L2
(Without spacer)

Stroke
adjustment unit

Stroke

MYM-A25L2-6
(With short spacer)

adjustment unit

\ Short spacer

MYM-A25L2-7
(With long spacer)

MYM-A25L2-6N
(Short spacer only)

N

Short spacer

Stroke
adjustment unit

7 MYM-A25L2-7N
(@ (Long spacer only)

%\M%\M

Side Support Part No.

Bore size
[mm] 16 20 25 40 50 63
Type
Side support A MY-S16A MY-S20A MY-S25A MY-S32A MY-S40A MY-S63A
Side support B MY-S16B MY-S20B MY-S25B MY-S32B MY-S40B MY-S63B

For details about dimensions, etc., refer to page 71.
A set of side supports consists of a left support and a right support.

60

O

SVC



61

\)



Series MY1C

Cushion Capacity

Cushion Selection

Absorption Capacity of Air Cushion and Stroke Adjustment Units

<Air cushion>

Air cushions are a standard feature on
mechanically jointed rodless cylinders.
The air cushion mechanism s
incorporated to prevent excessive impact
of the piston at the stroke end during high
speed operation. The purpose of air
cushion, thus, is not to decelerate the
piston near the stroke end.

The ranges of load and speed that air
cushions can absorb are within the air
cushion limit lines shown in the graphs.

<Stroke adjustment unit with shock absorber>
Use this unit when operating with a load or
speed exceeding the air cushion limit line,
or when cushioning is necessary because
the cylinder stroke is outside of the
effective air cushion stroke range due to
stroke adjustment.

L unit

Use this unit when the cylinder stroke is
outside of the effective air cushion range
even if the load and speed are within the
air cushion limit line, or when the cylinder
is operated in a load and speed range
above the air cushion limit line or below
the L unit limit line.

H unit

Use this unit when the cylinder is operated

in a load and speed range above the L unit
limit line and below the H unit limit line.

/\ Caution

1. Refer to the figure below when using the
adjustment bolt to perform stroke
adjustment.

When the effective stroke of the shock
absorber decreases as a result of stroke
adjustment, the absorption capacity
decreases dramatically. Secure the adjustment
bolt at the position where it protrudes
approximately 0.5 mm from the shock
absorber.
Adjustment bolt

~————

Shock absorber

T~
2.Do not use a shock absorber together

with air cushion.

Air Cushion Stroke [mm]
Bore size [mm] Cushion stroke
16 12
20 15
25 15
32 19
40 24
50 30
63 37

62

Load mass  [kg]

MY1 C1 6 Horizontal collision: P = 0.5 MPa MY1 032 Horizontal collision: P = 0.5 MPa
T T T T T y
| I I | I I
! ! ! ! ! [7 \‘
s T e 0
z \ 1 1 E ! | L ‘
I N I | .
£ 1000 Eh N7 U —— £ 1000 : 7 =~
- S~ o, T - 1  cysy
Clgp | T i)
3 F S N . 3 ] on
2 500 : : @ 500 : :
o 400 t Y a 400 t t
2 1 1 \\ 0 ! 1
c 300 < 300
2 i i 2 i i
2 200 ‘ ‘ 2 200 ‘ ‘
[<} o | |
S : : S ‘ ‘
I I | I
100 L L 100 L L
05 2 3 45 T 10 20 30 2 3 45 T 10 20 30 40 50 100
m3max. m2max. m1 max. m3 max. m2max. m1imax.
Load mass  [kg] Load mass  [kg]
MY1 C20 Horizontal collision: P = 0.5 MPa MY1 C40 Horizontal collision: P = 0.5 MPa
i i i | i |
2000 1 ; ; 2000 ; : /l ! :
'E' I I I w [ 1]
E 1500 1 N 1 1 E 1500 | 1 ‘h’f
£ \ NN 1 | € i L S
£. 1000 E. 1000 L -
== T 1 Qe
B 1 : 8 : ~Shioy
a 500 : < | Yn; o 500 i :
2 400 3 ; Lot |2 o ‘ ]
S 300 4 — S 300
2 : : T eyg) 2 1 1
9 200 oy 3 200
o ! ! © | |
I I U I
I I | I
! ! 100 1 !
100 345 10 20 ?30 40 50 10 20 50
m3max. m2max. mimax. m3 max. m2 max. m1 max.

Load mass  [kg]

m3 max. m2max. m1max.

Load mass  [kg]

MY1 025 Horizontal collision: P = 0.5 MPa MY1 CSO Horizontal collision: P = 0.5 MPa
T T T T T T
2000 1 1 ‘ 1 2000 1 ‘1 ‘ ‘ ‘ 1
i &, i H unit ||
1500 5 o 1500
N 1\1<'7/’i % i M\\\ {
1000 ‘ { o £ 1000 ‘ W "I)i,:
T N = T sy,
T N sy - T loyy
3 H H H
$ 500 : < g 00 ; 1
9 400 : ; y @ i i
g 300 ‘ : & 300 i i
5 | | ‘@ 1 !
£ 200 ; ; S 200 ‘ i
© i i © i i
I I I I
100 L L 100 I I
3 45 10 20 30 40 50 10 20 30 40 50 100

}

m3 max. m2max. mimax.

Load mass  [kg]

O
2

MY1C63

Horizontal collision: P = 0.5 MPa
i i ‘ ‘ ‘ i
I I I
2000 T T T
& 1500 ; ; ﬂ/" /g —
I I
£ L e
£ 1000 ! ;”'L‘(, Ut
= T Shioy,
T T 77
3 : :
g o0 ‘ ‘
G 400 ' '
5 300 ‘ ‘
iz ! !
3 200 = =
O 1 1
I I
I I
100 ‘ ‘

10 20 30 40 50 100

m3max. m2max. mimax.
Load mass  [kg]




Mechanically Jointed Rodless Cylinder
Cam Follower Guide Type

Series MY1C

Tightening Torque for Stroke
Adjustment Unit Holding Bolts

/A\Precautions

Bore size [mm] Unit Tightening torque
16 A 0.7
L
A
20 L 1.8
H
A
25 L 3.5
H
A
32 L 5.8
H
A
40 L 13.8
H
A
50 L 13.8
H
A
63 L 27.5
H
Tightening Torque for Stroke Adjustment
Unit Lock Plate Holding Bolts [N-m
Bore size [mm] Unit Tightening torque
L 1.2
25
H 3.3
32 L 3.3
H 10
40 L 3.3
H 10

Calculation of Absorbed Energy
for Stroke Adjustment Unit

with Shock Absorber [N-m]
Horizontal Vertical Vertical
collision  [(Downward)| (Upward)
Type of
impact
Kinetic energy|
E1
Thr”séeznergy F-s F.s + m-g-s|F-s-m-g-s
Abs
sorbelg energy E1 + E
Symbol

V: Speed of impact object (m/s)

F: Cylinder thrust (N)

s: Shock absorber stroke (m)

m:Mass of impact object (kg)

g: Gravitational acceleration (9.8 m/s?)

Note) The speed of the impact object is measured at
the time of impact with the shock absorber.

A\ Caution

Use caution not to get your hands

caught in the unit.

* When wusing a product with stroke
adjustment unit, the space between the
slide table (slider) and the stroke adjusting
unit becomes narrow at the stroke end,
causing a danger of hands getting caught.
Install a protective cover to prevent direct

contact with the human body.
Adjustment bolt Unit holding bolt

Lock nut

Lock plate
holding bolt

Shock absorber

<Fastening of unit>
The unit can be secured by evenly
tightening the four unit holding bolts.

A\ Caution

Do not operate with the stroke
adjustment unit fixed in an
intermediate position.

When the stroke adjusting unit is fixed in
an intermediate position, slippage can
occur depending on the amount of energy
released at the time of an impact. In such
cases, as a stroke adjustment unit with
the spacer for intermediate securing is
available, it is recommended to use it.

For other lengths, please consult with SMC
(Refer to “Tightening Torque for Stroke
Adjustment Unit Holding Bolts”.)

<Stroke adjustment with adjusting bolt>
Loosen the adjusting bolt lock nut, and
adjust the stroke from the lock plate side
using a hexagon wrench. Retighten the
lock nut.

<Stroke adjustment with shock absorber>
Loosen the two lock plate holding bolts,
turn the shock absorber and adjust the
stroke. Then, uniformly tighten the lock
plate holding bolts to secure the shock
absorber.

Take care not to over-tighten the holding
bolts. (Except @ 16, @ 20, @ 50, @ 63)
(Refer to “Tightening Torgue for Stroke
Adjusting Unit Lock Plate Holding Bolts”.)

O
2

Note) Although the lock plate may slightly
bend due to tightening of the lock
plate holding bolt, this does not a
affect the shock absorber and
locking function.

63



Series MY1C

Construction: @ 16 to @ 63

MY1C16 to 63
OT7T0O® _J10——F+0]
1
]
=SS & &
@3
a5
18 (4o g
19 10 (9) (6 ‘ i
7 8 g 30 @8 38 \)
MY1C63
MY1C50, 63 ' - i 7 , = = 6
‘I v/ 4 i H ®

N _¢_ 44 L i =)
‘ S5 39
1 27% H 40
MY1C16, 20 g

Section A-A

30 i ® 2 2
i T\\i : s
4 —— ‘ ‘ “‘@q‘}

=~
\\

= R —— L
\ E% %
: —— @ MY1C16, 20, 50, 63
O—

64

O
2



Mechanically Jointed Rodless Cylinder
Cam Follower Guide Type

Series MY1C

MY1C16 to 63

Component Parts

No. Description Material Note No. Description Material Note
1 Cylinder tube Aluminium alloy Hard anodised 24 End Cover Special resin
2 Head cover WR Aluminium alloy Painted 26 Backup plate Special resin
3 Head cover WL Aluminium alloy Painted 27 Stopper Carbon steel Nickel plated
4 Slide table Aluminium alloy Electroless nickel plated 28 Spacer Stainless steel
5 Piston yoke Aluminium alloy Chromated 33 Spring pin Carbon tool steel
6 Piston Aluminium alloy Chromated 34 | Hexagon socket head set screw | Chromium molybdenum steel | Black zinc chromated
7 Wear ring Special resin 35 Hexagon socket head cap screw | Chromium molybdenum steel Nickel plated
8 Belt separator Special resin 36 Hexagon socket button head screw | Chromium molybdenum steel Nickel plated
9 Guide roller Special resin 37 Hexagon socket head set screw | Chromium molybdenum steel | Black zinc chromated/Nicke! plated
10 Guide roller shaft Stainless steel 38 Hexagon socket head taper plug Carbon steel Nickel plated
11 Coupler Sintered iron material 39 Magnet
12 Cushion ring Aluminium alloy Anodised 40 Magnet holder Special resin
13 Cushion needle Rolled steel Nickel plated M Hexagon socket head cap screw | Chromium molybdenum steel Nickel plated
14 Belt clamp Special resin 42 Hexagon socket head taper plug Carbon steel Nickel plated
17 Rail Hard steel wire 44 Type CR retaining ring Spring steel
18 Cam follower cap Special resin (9 25 to @ 40) 45 Head plate Aluminium alloy Hard anodised (& 63)
19 Cam follower — 46 Side scraper Special resin (9 50 to @ 63)
20 Eccentric gear Stainless steel 47 Bushing Aluminium alloy (9 16 to @ 20)
21 Gear bracket Stainless steel 48 Port cover Special resin (9 25 to @ 40)
22 Adjustment gear Stainless steel 49 Lub-retainer Special resin
23 Retaining ring Stainless steel
Replacement Part: Seal Kit
No. Description Qty. MY1C16 MY1C20 MY1C25 MY1C32 MY1C40 MY1C50 MY1C63
15 | Seal belt 1 MY16-16C-[Stroke| | MY20-16C-[Stroke| | MY25-16C-|Stroke| | MY32-16C-|Stroke| | MY40-16C-|Stroke| | MY50-16C-|Stroke| | MY63-16A-[Stroke
16 | Dust seal band | 1 MY16-16B-|Stroke MY20-16B-|Stroke MY25-16B-|Stroke MY32-16B-|Stroke MY40-16B-|Stroke MY50-16B-|Stroke MY63-16B-|Stroke
32 | O-ring o | KA0309 [  KAoo311 | | KA0O311 | | KA00320 | KA00402 |  KAOO777 | | KAQO777
(©04xD1.8xD1.1)|(@51xD3x@1.05) [(@51xD3xD1.05)| (07.15x0375x01.7) | (08.3xD45x01.9) — -
46 | Side scraper 2 — — — — — MYM50-15CK0502B | MYM63-15CK0503B
25 | Scraper 2
29 | Piston seal 2
30 | Cushion seal 2 MY1M16-PS MY1M20-PS MY1M25-PS MY1M32-PS MY1M40-PS MY1M50-PS MY1M63-PS
31 | Tube gasket 2
43 | O-ring 4
« Seal kit includes @9, @9, 30, 3) and @3. Order the seal kit based on each bore size.
* Seal kit includes a grease pack (10 g).
When (5 and (6 are shipped independently, a grease pack is included. (10 g per 1000 strokes)
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-S-010 (10 g), GR-S-020 (20 g)
Note) Two kinds of dust seal bands are available. Verify the type to use, since the part number varies
depending on the treatmentof the hexagon socket head set screw 37.
A: Black zinc chromated —MYOO-16B-stroke, B: Nickel plated -MYOO-16BW-stroke
65

O
2



Series MY1C

Standard Type/Centralised Piping Type @ 16, @ 20

Refer to page 122 regarding centralised piping port variations.

MY1C160/2000 —

(wWw)

(Hexagon socket head plug)

XX

vV
——

MY1COG

I |

2 x M5

x 0.8

2x2x4d

depth K -
=
2y
| O
L Ay
=1
— Y
L ﬁe

2xM5x0.8 'A%
*L

(Hexagon socket head plug)

M5 x 0.8

(Hexagon socket‘ head plug)

H
Qa

(Hexagon socket head plug)

M5 x

(Port)

0.8

MY1COG

(7]
[ Z1)
| v i
x) 2 x)
e & ™ Auto switch «c
2xM5x0.8 GA magnet holder G 2xM5x0.8
(Hexagon socket head plug) Tl (Port) Cushion needle o (Hexagon socket head plug)
|
M5 x 0.8
A (Hexagon socket head plug)
: Z + Stroke .
(L) L __, 4 x MM depth M 2 x 2 x @ B counterbore depth C
i I PA o O LD through-hole
=
@’ 3y _
© - i)
-3 @ = 4+l 3|2
; o Lo — Ty
A
PG Q + Stroke
—
[mm]
Model A B C G GA | GB H J K L LD LH LL | LW M MM N NC
MY1C160] 80 | 6 35 |135 85 |16.2 | 40 M5x0.8 | 10 80 | 3.6 |225 40 54 6 M4 x0.7 | 20 14
MY1C2001 100 | 7.5 45 [125 125 | 20 46 M6 x 1 12 100 | 48 |23 50 58 75 |M5x0.8 | 25 17
[mm]
Model NE | NH | NW | PA PB PG PP Q QQ | Qw RR | SS | TT uu | v w (ww | XX z
MY1Ci60 28 | 27.7 | 56 40 40 35 75 | 153 9 48 11 25 15 14 10 68 13 30 160
MY1C2001 34 33.7 60 50 40 45 115 191 10 45 145 5 18 12 125 72 14 32 200

B

_—

oD ‘

e«

Bottom ported
(Applicable O-ring)

Hole Sizes for Centralised Piping on the Bottom

Model WX Y S d D R | Applicable O-ting
MY1C160] 30 6.5 9 4 8.4 1.1 c6
MY1C200] 32 8 6.5 4 8.4 1.1

66

(Machine the mounting side to the dimensions below.)

O

SVC



Mechanically Jointed Rodless Cylinder .
Cam Follower Guide Type Series M Y1 C

Standard Type/CentraIised Plplng Type (] 25, o 32, O 40 Referto page 122 regarding centralised piping port variations.

MY1C2501/320/4000 —

(Hexagon socket
= 2 x 2 x J depth K ~
head taper plu E s
p /r plug) S l s
— =

€ / / 7

o s
P o y — x
x — — x

(Hexagon socket | — [— !
/ /
head taper plug) — J
VvV 2x2Z 2x2Z vV
MY1COG (Hexagon socket head taper plug)  (Hexagon socket head taper plug) MY1COG
w P
(Hexagon socket head taper plug) %
s
i i "
Ak ks A5 73
I 7 ,
[ B | T & = = !

0 & = ( I | ¥ [ A\ | ol ]

d B ERANE- == ] 5 2 i
gl | \_Autoswith L &k g
o o o

LI v S P magnet holder  cyshion needle gl U T
MW (Port) P GB 5>y P
2xP - A - (Hexagon socket head taper plug)| N (Hexagon socket head taper plug)
(Hexagon socket head taper plug) B Z + Stroke -
(LL) L 4 x MM depth M 2 x 2 x @ B counter bore depth C
- N PA o @ LD Through-hole
™ =
! a
B3 - <
& o —7 1
oot —m — * . 3|2
MRS o 4 gz
|
& e 1 & © !y
A
PG . Q + Stroke -

[mm]

Model A B|C |G |GB|H J K L |LD|LH|LL |[LW | M MM (MW | N | NC | NE | NH [NW P PA
MY1C2501|110 9 |65 |17 (245|54 |[M6x1]| 95 (102 |56 |27 | 59 |70 | 10 |[M5x08| 66 |30 |21 (41.8|40.5| 60 |Rc1/8 | 60

MY1C320J|140 |11 |65 |19 |30 68 | M8x125 (16 (132 |6.8 | 35 | 74 | 88 13 [ M6x1| 80 | 37 |26 |52.3|50 74 | Rc1/8 | 80
MY1C4001|170 | 14 |85 |23 |36.5|84 |Mi0x15(|15 (162 |8.6 | 38 | 89 [104 | 13 | M6x1| 96 |45 |32 [65.3(63.5| 94 | Rc1/4 (100
“P” indicates cylinder supply ports.

[mm]
Model | PB | PG |PP1|PP2| Q | QQ |[QW [RR1|RR2| SS | TT |[UU |VV | W (WW XX | Z Y74
MY1C2501| 50 | 7 |[12.7 [12.7 |206 |15.5 |46 |18.9 |17.9 | 41 [1565(16 |16 | 84 | 11 |38 | 220 |Rc 1/16

MY1C320({ 60 | 8 [15.5 |18.5 (264 |16 60 (22 [24 4 |21 |16 |19 |102 | 13 |48 |280 |Rc 1/16
MY1C40C1| 80 | 9 (175 |20 |322 |26 72 (255 |29 9 |26 |21 |23 [118 | 20 |54 |340 | Rc1/8

<H] =

b L

—ohd T
/ T gD
/I ‘
|ttt plih st
—_— - — 4%}‘ A Bottom ported (ZZ)
LTl (Applicable O-ring)

Hole Size for Centralised Piping on the Bottom

Model WX Y S d D R Applicable O-ring
MY1C250 38 9 4 6 11.4 1.1
MY1C320] 48 11 6 6 11.4 11 co
MY1C400] 54 14 9 8 13.4 1.1 C11.2

(Machine the mounting side to the dimensions below.)

SVC

O



Series MY1C

Standard Type/CentraIised Plplng Type (%) 50, J 63 Refer to page 122 regarding centralised piping port variations.

MY1C5001/631—

Rc 3/8

(Hexagon socket
head taper plug)

ﬁ'
—
~-—

©, 2x2xJ depth K
@

/

'

Rc 3/8
(Hexagon socket

head taper plug)

-
B
=
—
/ /

7 i

2 x Rc 1/4 2 xRc 1/4 MY1COG

(Hexagon socket head taper plug) (Hexagon socket head taper plug)

MY1COG

w
W1 Rc 3/8 Rc 3/8
"5" L (Hexagon socket head taper plug) (Port)
o F Aol 1 g =1 "
#Y A uNl= | \ — / _. \ aY
=z N S ]
) 1y Ol RES \_42 |2t | i
) al N 1 7 el zl
- (i-\ Rc 3/8 Cushion needle gA - uu TT
2xRc3/8 G (Port) LGL 2 x Rc 3/8
(Hexagon socket head taper plug) Rc 3/8 GB (Hexagon socket head taper plug)
A (Hexagon socket head taper plug) N
— -— >
- Z + Stroke -
=(LL) - L o 4 XMM depth M 2 x 2 x @ B counterbore depth C
PA @ LD through-hole
- = =
‘ . =Y
b 4 I I o O o -
E - — =4 I
: o c"z .@‘? Lz
% L3 —2L Y © 1 VY
A MY1C630]
PG Q + Stroke
Model A B Cc G GA | GB H J K L LD | LH | LK | LL | LW M MM N NC | NE

MY1C500 | 200 | 17 |105 |27 |25 375 [107 |M14x2 | 28 | 200 |11 29 2 100 | 128 15 | M8x125 | 47 |43.5 | 84.5
MY1C630 | 230 | 19 |125 [29.5 |27.5 [39.5 |180 |Mi16x2 | 32 |230 (135 |325 | 55 |115 [152 16 |M10x15 | 50 |60 (104

[mm]
Model NF | NH |[NW | PA | PB | PG | PP Q QQ [QW | RR | SS | TT | UU | VV W | Wi |WW | XX 4

MY1C500 81 | 835 [118 | 120 90 | 10 26 | 380 | 28 90 | 35 10 35 24 28 |144 | 128 | 22 74 | 400
MY1C6301 | 103 [105 142 | 140 | 110 12 42 | 436 | 30 |110 | 49 13 43 28 30 (168 | 152 | 25 92 | 460

%

Bottom ported (Z22)
(Applicable O-ring)

Hole Size for Centralised Piping on the Bottom

Model WX Y S d D R Applicable O-ring
MY1C500] 74 18 8 10 17.5 1.1 ci15
MY1C630] 92 18 9 10 17.5 1.1

(Machine the mounting side to the dimensions above.)

o8 SvC

O



Stroke Adjustment Unit

Mechanically Jointed Rodless Cylinder
Cam Follower Guide Type

Series MY1C

With adjustment bolt

MY1C|Bore size|[1—| Stroke |A

47_1_5
, ;
’ =¥o/ — ==
' of >
@ @QE IEQ{D w| w
b ° s O —— —
/ /
E
EA
’.

1 o j

—

AR St o ettt

5 < /,7

Stroke adjustment unit / !
TT

Applicable bore size | E EA | EB | EC | EY | FC h TT w
MY1C16 14.6 7 30 58 | 395 14 |36 |54 (Max.11)| 58
MY1C20 20 10 32 5.8 | 45.5 14 | 3.6 5 (Max. 11) 58
MY1C25 24 12 38 6.5 | 535 13 [ 385 |[5(Max.16.5)| 70
MY1C32 29 14 50 85 | 67 17 | 45 8 (Max. 20) 88
MY1C40 35 17 57 |10 83 17 |45 9 (Max.25) | 104
MY1C50 40 20 66 |14 106 26 |55 |13 (Max.33) | 128
MY1C63 52 26 77 |14 129 31 55 13 (Max. 38) | 152

With low load shock absorber + Adjustment bolt

MY1C|Bore size|(1—| Stroke |L

Shock absorber

]
E

—
= Wk
/ &
- - — - — - ] by 4
! AA
—— 4 @
—
/
MY1C50/63

, ; h
- O h [ 47«
/ ,—EEE&’ ,
: of > /
g&z ,zgg w| w
—J ———— — @
/ / /ﬁ—m D
L) —he —%Ez
h e —— E ----- — -
EA -
:’ l F
iR j T
m
e dh B ——— , = Sy MY1C50/63
5 7/ i !
C /’ / MY1C16/20
Stroke adjustment unit /
(Shock absorber stroke) T S
[mm]
Applicable bore size| E EA | EB | EC | EY F FB | FC | FH | FW| h S T TT W |Shock absorber model
MY1C16 14.6 7 30 5.8 | 39.5 4 |— | 14 |— | ——| 3.6 |4038 6 |54 (Max.11) 58 RB0806
MY1C20 20 10 32 5.8 | 455 4 |— | 14 |— | ——| 3.6 |40.8 6 5 (Max. 11) 58 RB0806
MY1C25 24 12 38 6.5 | 53.5 6 54 13 |18 66 3.5 [46.7 7 |5(Max.16.5) | 70 RB1007
MY1C32 29 14 50 8.5 | 67 6 67 17 |16 80 45 |67.3 | 12 8 (Max. 20) 88 RB1412
MY1C40 35 17 57 |10 83 6 78 17 |17.5 91 45 |67.3 | 12 9 (Max.25) | 104 RB1412
MY1C50 40 20 66 |14 106 6 |— | 26 |—|—— 55 |732 | 15 |13(Max.33) | 128 RB2015
MY1C63 52 26 77 |14 129 6 |— | 31 |— | — | 55 |732 | 15 |13(Max.38) 152 RB2015

69



Series MY1C

Stroke Adjustment Unit

With high load shock absorber + Adjustment bolt

MY1C|Bore size|(1—| Stroke |H

@66 9]

Stroke adjustment unit

Shock absorber

Workpiece ,
/
H-F o | T r
/ /
O | —
/ /
TT
h
E F
EA
;
i J—
] £ _
H m
e = s —
S /
0 : ]
;
(Shock absorber stroke) T S

.

f>

©H

MY1C50/63

 Since dimension EY of the H type unit is greater than the table top height (dimension H), when mounting a workpiece that exceeds the overall length (dimension L) of the slide table,
allow a clearance of dimension “a” or larger on the workpiece side.

Applicable bore size E EB | EC | EY F FB | FC | FH | FW | h S W | Shock absorber model| a
MY1C20 20 32 7.7 | 50 5 |— | 14 |— | —— 35467 58 RB1007 5
MY1C25 24 38 9 57.5 6 52 17 16 66 4.5 |67.3 70 RB1412 4.5
MY1C32 29 50 (115 |73 8 67 22 22 82 5.5 |73.2 88 RB2015 6
MY1C40 35 57 |12 87 8 78 22 22 95 5.5 |73.2 104 RB2015
MY1C50 40 66 [18.5 |115 8 |—| 3 |—|— 11 99 128 RB2725
MY1C63 52 77 |19 138.5 8 — | 3B | — | — 11 99 152 RB2725 9.5

70

O
2



Side Support

Mechanically Jointed Rodless Cylinder
Cam Follower Guide Type

Series MY1C

Side support A
MY-SCA

I ]
2x@G { —
é ) )
I -
2x@H Wy
A C
‘ B D
I
Side support B
MY-S[CB
. 2xd []‘ &
( i {
) )
—— —
w
A C
‘ B D
I
[mm]
Model  |Applicableboresize | A B (& D E F G H J
MY-S168 | MY1C16 | 61 | 716| 15 | 26 | 49| 3 65| 34| M4x07
MY-S208 | MY1C20 | 67 | 796| 25 | 38 | 64| 4 8 45| M5x0.8
MY-S258 | MY1C25 | 81| 95 | 385 | 50 | 8 5 95| 55 M6 x 1
MY-S328 | MY1C32 | 100 [118 | 45 | 64 [11.7| 6 |11 6.6 | M8 x1.25
MY1C40 | 120 |142
o A
MY-S408 MY1050 | 142 [1ea | 55 | 80 | 148 8514 9 | MiI0Ox15
MY-S638 | MY1C63 | 172 [202 | 70 | 100 | 18.3 | 10.5 [17.5 | 11.5 | M12x1.75
* A set of side supports consists of a left support and a right support.
Guide for Side Support Application
For long stroke operation, the cylinder m [kg] 200
tube may be deflected depending on its ' 190
own weight and the load weight. In such W—‘:'—W 180
a case, use a side support in the middle ! 7.
section. The spacing (L) of the support L 170
must be no more than the values shown 160
in the graph on the right. p 150
140
_‘—:r—‘_ (2400)
T 130 \
A\ Cauti C £
aution L E 1o \
1. If the cylinder mounting surfaces are T ﬁ 100 (2000) \
not measured accurately, using a side — = \
N m m 90 Z
support may cause poor operation. — 7 8 \.4
Therefore, be sure to level the cylinder 7 (1600) \ é
tube when mounting. Also, for long L L 70 \ \E \oa
stroke operation involving vibration 60 \ Ao \
and impact, use of a side support is 50 “4‘0") - \‘g
recommenqeq even if the spacing 0 (1200 %‘5&?
value is within the allowable limits %0 2\= \® \
H [ (1000) 2 \S -
shown in the graph. _ = _4,»:% ’o\(‘%\ \ \
2. Support brackets are not for mounting; @K%\ \ \
use them solely for providing support. 10 RS N
y torp g Supp . \\:\\ \ \
1000 2000 3000 4000 5000
Support spacing (L) (mm]
71

O
2



\)

72



Series MY1
Auto Switch Specifications

Applicable auto switches

Auto switch models Electrical entry

D-A9] Grommet (In-line)
Reed switches D-A9CIV Grommet (Perpendicular)

D-Z70], Z80 Grommet (In-line)

D-M9[J Grommet (In-line)

D-M9 IV Grommet (Perpendicular)

D-M9JW Grommet (2 colour indicator, In-line)

D-MOCJWV Grommet (2 colour indicator, Perpendicular)
. D-M9JA Grommet (water resistant, 2-colour indicator, in line)

D-M9[JAV Grommet (water resistant, 2-colour indicator, perpendicular)

D-Y59A, Y59B, Y7P Grommet (In-line)

D-Y69A, Y69B, Y7PV Grommet (Perpendicular)

D-Y7OW Grommet (2 colour indicator, In-line)

D-Y7OWV Grommet (2 colour indicator, Perpendicular)

SvC 107

O



D-A9

Reed Switches
/3 Wire, 2 Wire (Direct Mount Type)

Bore size [mm] ‘

Applicable |

D-A90(V), D-A93(V), D-A96(V)
‘ cylinder series 10 16 20 25 32 40 50 63 80 100
MY 1B (Basic)
[MY1M (Stide bearing) |
M |MY1 C (Cam follower guide)}
| MY 1H High precision guide)
Auto Switch Specifications Weight Unit: g
Model Lead wire length 0.5m | Lead wire length 3m
D-A90, D-A90V (without indicator |Ight) D-A9/A9C IV 8 41
Auto switch part no. D-A90 D-A90V . . . .
Electrical entry direction In-line Perpendicular éa':;lvtvg cgo‘:‘r,sli:s%!\( )I !r‘ettg:.er:ﬁaorltosc!nrf‘c?ml&lylznsh

Applicable load
Load voltage

24V fSor less

IC circuit, Relay, PLC

48 V 52 or less 100 V ¢ or less

Maximum load current

50 mA

40 mA 20 mA

Contact protection circuit

None

Internal voltage drop

1 or less (including lead wire length of 3 m)

D-A93, A93V, D-A96, A96V (with indicator light)

|EC standards.
D-A90(V)

; Contact ;_0 uT ()

H E;&:{tecﬁon: Brown [Red]

—oOUT ()
+ Blue [Black]

Contact
. protection
box

—O0UT (+)
Brown [Red]

! CD-P11

+ CD-P12 S—OOUT(_)
+ Blue [Black]

diode

: = | Brown

Lo W0 (+)
e Resistor! =
HE=S H o}
-2 O =

H g Reverse ! OUT 3=
1+ @] |current 1 Black [White] og
1 & (/) prevention | =)

1 DG ()

\ Most sensitive position

Indicator light
Type D-A90 without indicator light

Auto switch part no. D-A93 D-A93V D-A96 D-A96V
Electrical entry direction In-line Perpendicular In-line Perpendicular
Applicable loads Relay, PLC IC circuit
Load voltage 24V DC [100 VAC|24 V DC |100V AC 4t0 8V DC
Load current range and
max. load current 5t0 40 mA|5 to 20 mA |5 to 40 mA |5 to 20 mA 20 mA
Contact protection circuit None
Internal voltage drop 2?.’4vvoglr;§:s(tgzzgomr2¢) 2.7V orless 0.8 Vorless
Indicator light Red LED lights up when ON
¢ Lead wires Heavy duty oil resistant vinyl cord, @ 2.7, 0.5 m
D-A90(V), D-A93(V) 0.18 mm? x 2 wire (Brown, Blue [Red, Black])
D-A96(V) 0.15 mm? x 3 wire (Brown, Black, Blue [Red, White, Black])
* Insulation resistance — 50 MQ or more at 500 V DC (between lead wire and case)
* Withstand voltage —— 1000 V AC for 1 min. (between lead wire and case)
* Operating time 1.2ms * Ambient temperature — -10 to 60 °C
¢ Impact resistance —— 300 m/s2 * Leakage current — None
* Enclosure IEC529 standard IP67, watertight (JISC0920)
* For a lead wire length of 3 m, "L" is shown at the end of the part number. Example) D-A90L
Dimensions
D-A90, D-A93, D-A96 D-A90V, D-A93V, D-A96V
2 ?.8 ®
gh:— --------- == G | I @ 02 E\
i L; ¢ | Operating range o ﬁ. - ]
10 N © =
(=30 B > i A
‘( ¢ | Operating range =

M2.5 x 4¢ ~
Slotted set screw g
SiiE 3 = =-
‘ 22 500 (3000) ‘
! (24.5) !

Values inside ( ) are for D-A93

108

10

Most sensitive position
M2.5 x 4¢
Slotted set screw

22
—XK;Z—":‘G
*tfﬁ@
Q
Indicator light
Type D-A90V without indicator light

O
2

Blue [Black]

Contact Protection Boxes/CD-P11, CD-P12

D-A9[] and D-A9] type switches do not have
internal contact protection circuits.

1. The operated load is an induction load.

2. The length of wiring to the load is 5 m or more.
3. The load voltage is 100 V AC.

A contact protection box should be used in any of
the above situations.

Contact protection box specifications

Part No. CD-P11 CD-P12
Load voltage 100 V AC 24V DC
Max. load current 25 mA 50 mA

* Lead wire lengths ......... Switch connection side 0.5 m
Load connection side 0.5 m
Contact protection box internal circuits

Lead wire colours inside ( ) are those prior to conformity
with IEC standards.

CD-P11
Surge
absorber !

O———*+—————0 OUT Blue [Black]

CD-P12 -~

ch Qk;‘ OUT Brown [Red]
coil

OUT(+)
Brown [Red]

Zener diode |
| OUT(-)
Blue [Black]




6.2

Reed Switches
D-Z7

Z80/3 Wire, 2 Wire (Direct Mount Type)

Bore size [mm] \

Applicable cylinder series

16 20 25 32 40 50 63 80 100

[MY1B (Basic)

[MY1M (Slide bearing)
[MY1C (Cam follower guide)

MY1HT (F!igh rigic}it_y/

High precision guide)

Auto Switch Specifications Weight Unit: g
Model |Lead wire length 0.5m | Lead wire length 3m
D-Z701 (with indicator light) D-Z73 7 31
Auto switch part no. D-Z73 \ D-Z76 D-Z76 10 55
Electrical entry direction In-line D-Z80 9 49
Applicable load Relay, PLC IC circuit . . . .
Load voltage 24V DC 100 VAC 4t08V DC AUto SWItCh Internal. CerUlt.S
Load 4 Let%dl g/ge tcolgur(s] inside ( ) are those prior to conformity
oad current range an wi standards.
max. load current 5to0 40 mA 51020 mA 20 mA
Contact protection circuit None
Internal voltage drop 2.4V orless (to 20 mA)/3 V or less (to 40 mA) [ 0.8 V or less . i Contact 0 OUT (+)
Indicator light Red LED lights up when ON 12 i protection;  Brown [Red]
i H :
i g ; I8 L CDP1 L~
D-Z80 (without indicator light) i ' eppi2 |
: : Lo OUT (=
Auto switch part no. D-Z80 Bme[(._:,éck]
Electrical entry direction In-line
Applicable load Relay, PLC, IC circuit, . DC )
Load voltage 24 V € or less 48 V¢ or less 100 V &S or less ' +)
Maximum load current 50 mA 40 mA 20 mA (:‘é 5
Contact protection circuit None 12 K Reverse : i §g
Internal voltage drop 1 or less (including lead wire length of 3 m) i g‘,’er\',ee?.tt,on: Black [White] Q5
« Leakage current —— None ! diode . =)
« Operating time 1.2ms il 1 DC (-)
¢ Lead wires Heavy duty oil resistant vinyl cord, @ 3.4, Blue [Black]
0.2 mm?2, 2 wire (Brown, Blue [Red, Black]), 3 wire (Brown, Black, Blue [Red, White, Black]),
0.5 m* D-Z73 only @ 2.7, 0.18 mm2, 2 wire) R (': """" ouT ()
« Impact resistance 300 m/S2 'S T : %t];?:%ton "° Brown [Red]
* Insulation resistance — 50 MQ or more at 500 V DC (between lead wire and case) 2 H : on :
* Withstand voltage 1500 V AC for 1 min. (between lead wire and case) -1 - !
* Ambient temperature — 10 to 60 °C E§ H CD-P11 UT ()
* Enclosure IEC529 standard IP67, watertight (JISC0920) ! . ' CD-P12 7° Bie [Black]
+For a lead wire length of 3 m, "L" is shown at the end of the part number. Example)D-Zz73L | 7 L T

Dimensions Contact Protection Boxes/CD-P11, CD-P12
D-Z73 D-Z76, Z80 D-Z70 and D-Z80J type switches do not have
internal contact protection circuits.
1. The operated load is an induction load.

¢ Operating range (refer to the table below)

Operating range

12.5 _|Most sensitive position

Switch mounting screw
Slotted set screw
(M2.5 x 4¢)

30.5

23
»

i p{{ osvc -5y

H=——-

Indicator light

Bore size Bore size [mm]
Operating range 180 200
Operating range ¢ [mm] 15 15

(refer to the table below)

12.5 Most sensitive position

Switch mounting screw

Slotted set screw
(M2.5x 49 Indicator light
Type D-Z80 without indicator light
27.6 1.5

e e

Note) There is a guide including hystersis, but is not
guaranteed.
There may be large variations (as much as 30 %)
depending on the ambient environment.

°E

O
2

—p-

2. The length of wiring to the load is 5 m or more.
3. The load voltage is 100 V AC.

A contact protection box should be used in any of
the above situations.

Contact protection box specifications

Part No. CD-P11 CD-P12
Load voltage 100 V AC 24V DC
Max. load current 25 mA 50 mA

D-280 type switches are 100 V AC or less. Since there is
no particular specified voltage, select a type based on the

operating voltage.

Contact protection box internal circuits
Lead wire colours inside ( ) are those prior to conformity

with IEC standards.

CD-P11 O—EQR%OOUT Brown [Red]
Surge ! | Choke N
absorber 3 coil
~——————O00UT Blue [Black]
CD-P12 ouTE)
i Brown [Red]
Zener diode
OUT(-)
Blue [Black]



D-M9N (V), D-M9P (V), D-M9B (V)

=

i

Auto Switch Specifications

Solid State Switches
D-M9/3 Wire, 2 Wire (Direct Mount Type)

Applicable ‘ Bore size [mm]
cylinder series 10 16 20 25 32 40 50 63 80 100
[MY1B (Basic)

[MY1M (Siide bearing) |——

[MY1C (Cam follower guide) ——

| MY 1H (High precision guide)

Auto switch internal circuits
Lead wire colours inside ( ) are those prior to conformity
with IEC standards.

D-M9C], D-M9CIV (with indicator light)

D-MON(V)

Power supply voltage

5,12, 24V DC (4.5 to 28 V DC)

Current consumption

Auto switch partno. | D-MON | D-M9NV | D-M9P | D-MOPV | D-M9B [ D-M9BV T R

Electrical entry direction In-line Perpendicular In-line Perpendicular In-line Perpendicular <

Wiring type 3 wire 2 wire PoE: our
= Black [White]

Output type NPN PNP — s

Applicable load IC circuit, Relay, PLC 24 V DC Relay, PLC =

10 mA or less

DC ()

Leakage current

100 pA or less at 24 V DC 0.8 mA orlessat 24V DC

Indicator light

Red LED lights up when ON

Blue [Black]
Load voltage 28 V DC or less — 24V DC (10 to 28 V DC)
Load current 40 mA or less 80 mA orless 510 40 mA
Internal voltage drop [1.5 V or less®® {2 jese al l0mA 0.8 V or less 4V orless DC (+)

Brown [Red]

e Lead wires ——

* Insulation resistance
« Withstand voltage

¢ Indicator light —

* Ambient temperature

¢ Operating time —

D-M98(V)

Heavy duty oil resistant vinyl cord, @ 2.7, 0.5 m
D-M9IN(V), D-M9P(V) 0.15 mm?x 3 wire (Brown,Black, Blue [Red, White, Black])
0.18 mm2x 2 wire (Brown, Blue [Red, Black])

50 MQ or more at 500 V DC (between lead wire and case)

1000 V AC for 1 min. (between lead wire and case)

Lights up when ON

-10t0 60 °C

1 ms or less * Impact resistance — 1000 m/s?

DC ()
Blue [Black]

¢ Enclosure —————— |EC529 standard IP67, watertight (JISC0920) : |
* For a lead wire length of 3 m, "L" is shown at the end of the part number. Example) D-MONL 1 L ' OgUT (+)
' = ! rown [Red]
i
. Cole s ’ZS/ H
Weight Unit: [g] E :
Model D-M9N D-M9P D-M9B D-M9NV D-M9PV D-M9BV : | :
Lead wire length 0.5 m 7 7 6 7 7 6 : ——o0UT ()
2 5 s s s s e Blue [Black]
Lead wire length 3 m 37 37 31 37 37 31
Dimensions
D-M9N, D-M9PF, D-M9B D-M9NV, D-M9PV, D-M9BV
~
o ©
| Q Nﬁ
S
‘ p=s=
1 o R— o
| 1 4 ©

6 | Most sensitive positon

Mounting screw M2.5 x 4¢

Slotted set screw

6 | Most sensitive positon

2
—> Indicator light
Mounting screw M2.5 x 4¢
] _@: i Eé N — — 3 Slotted set screw
I ) 0 A X

®© I 2 Indicator light

o 22
© © 20
< o

O
2



I D-M9LIW/3 Wi

D-MONW(V), D-MOPW(V), D-M9BW(V)

Applicable
cylinder series

2 Colour Indication Solid State Switches

re, 2 Wire

‘ Bore size [mm] ‘

10 16 20 25 32 40 50 63 80 100

| MY1B (Basic)

[MY1M (Siide bearing) |

[ MY C (Cam follower guide)]

2,

Auto Switch Specifications

[ MY 1H (High precision guide) )_T

Auto switch internal circuits

Lead wire colours inside ( ) are those prior to
conformity with IEC standards.

D-M9CIW, D-MOCIWV (with indicator light)

D-MINW(V)

Auto switch partno | D-MONW | D-MONWV | D-M9PW | D-M9PWV | D-M9BW | D-M9BWV | | ,_K]—_O DC (+)
Electrical entry direction In-line | Perpendicular|  In-line Perpendicular|  In-line | Perpendicular ' Brown [Red]

i ; ; out
Wiring type 3 wire 2 wire Black [White]
Output type NPN [ PNP —

Applicable load IC circuit, Relay, PLC

Main switch

24 V DC Relay, PLC

Power supply voltage 5,12,24V DC (4.5 to 28 V DC)

Current consumption 10 mA or less

DC (-)

--------------------------- Blue [Black]
Load voltage 28 V DC or less — 24V DC (10 to 28 V DC)
Load current 40 mA or less 80 mA or less 5 to 40 mA
Internal voltage drop |1.5 V or less©8 Y2 /essat 10 mA 0.8V or less 4V orless D-MOPW(V)
Leakage current 100 pA orless at 24 V DC 0.8 mA or less at 24 V DC ST T } 0DC ()
Indicator light Actuated position ............c.ccccveennne Red LED lights up Brown [Red]
ndicator fig Optimum operating position ............. Green LED lights up s :
i = '
* Lead wires Heavy duty oil resistant vinyl cord, @2.7, 0.5 m 2 o OUT
D-MINW(V), D-MOPW(V) 0.15 mme x 3 wire (Brown, Black, Blue [Red, White, Black]) ! g © i Black [White]
D-M98W(V) 0.18 mmz2x 2 wire (Brown, Blue [Red, Black]) : H
¢ Insulation resistance —— 50 MQ or more at 500 V DC (between lead wire and case) . : DC ()
* Withstand voltage 1000 V AC for 1 min. (between lead wire and case) teseseeeoiesooiceooooool Blue [Black]
* Ambient temperature —— -10 to 60 °C  Operating time —— 1 ms or less * Impact resistance — 1000 m/s2
* Enclosure IEC529 standard IP67, watertight (JISC0920)
* For a lead wire length of 3 m, "L" is shown at the end of the part number. Example) D-MONWL
D-M9BW(V)
T o 0OUT()
. : i Brown [Red]
WE|ght Unit: [g] s
Model D-MONW | D-MONWV | D-M9PW | D-MSPWV | D-M9BW | D-M9BWV 3 3 v :
ek |
Lead wire length 0.5 m 7 7 7 7 7 7 I © :
Lead wire length 3 m 34 34 34 34 32 32 :
[ »———o OUT (-)

Dimensions

D-M9NW, D-M9PW, D-MO9BW

D-M9NWYV, D-M9PWV, D-M9BWV

Indicator light/Display method

Q27
~ ° o ON
o > perating T T
QA ' ]
R S @ 3 2 range | : | l OFF
% - q—t__"gi 4 ‘ . indcationi i E
—+ i Red iGreen: Red |
] ——e—
6 | Most sensitive positon t - 4 \, Most sensitive position
3] —
Mounting screw M2.5 x 4¢ 6 | Most sensitive positon

Slotted set screw

Mounting screw

2 Indicator light M2.5 x 4¢
43 Slotted set screw
Fee = - '_é' ' > Indicator light
S o 22
ol B Y
o]
9 & 20

111



Water Resistant 2 Colour Indication
Solid State Switch

D-M9

D-M9NA(V), D-MOPA(V), D-M9BA(V)

Applicable l
cylinder series

A(V) (Direct Mount Type)

Bore size [mm]

|

10

| MY1B (Basic)

16 20 25 32 40 50 63 80 100

I MY 1M (Slide bearing) }

1: I MY 1C (Cam follower guide)}

*

-~ [MYiA

BE

Auto Switch Specifications

(High precision guide) )—T

Auto Switch Internal Circuit

D-M9UJA, D-M9OCIAV (with indicator light) PLC: Programmable Logic Controller
Auto switch part no. | D-MONA |D-M9NAV| D-M9PA |D-M9PAV | D-M9BA |D-M9BAV
Electrical entry direction In-line Perpendicular|  In-line  |Perpendicular| In-line  |Perpendicular
Wiring type 3-wire 2-wire

Output type NPN [ PNP —

Applicable load IC circuit, Relay, PLC 24 V DC relay, PLC
Power supply voltage 5,12,24V DC (4.5t028 V) —

Current consumption

10 mA or less

Load voltage

28 VDC or less [

24 VDC (10 to 28 V DC)

Load current

40 mA or less

2.5t0 40 mA

Internal voltage drop

0.8 Vorless at 10 mA (2 V or less at 40 mA)

4V or less

Leakage current

100 A orless at 24 V DC

0.8 mA orless

Indicator light

Operating position
Optimum operating position

Red LED illuminates.

Green LED illuminates.

® Lead wires — Oilproof heavy-duty vinyl cable: @ 2.7 x 3.2 ellipse

D-M9NA(V)

Switch

main circuit

...........................

Switch

D-M9BA(V) 0.15 mm2 x 2 cores
D-M9NA(V), D-M9PA(V)  0.15 mm?2 x 3 cores D-MQBA(V)
Weight Unit: [g] A——— T o)
E Brown
Auto switch part no. D-M9NA(V) D-M9PA(V) D-M9BA(V) 5 g
0.5 8 8 7 &s <
£ .
Lead wire length 1 14 14 13 5
[m] 3 41 41 38 ——ee—e—e——o0uT ()
Blue
5) 68 68 63
. . Indicator light / Display method
Dimensions oN
= Operating : :
S range H H OFF
Q0 1 1
D-M9CIA N D-M9CAV | = b
& [} ispla’
ﬁ % : dey: Green : Red :
= —-H == g
6 _| Most sensitive position g :))c?st:'?i’]ol:\m operating
D-M9NA, PA common ©
i 2.7
T } e @ g I ©
= —H = 0 - &
6 _| Most sensitive position - @ ‘ v
D-M9BA —

Mounting screw M2.5 x 4 ¢
Slotted set screw (Flat point)

Indicator light

@
o 24

~
oi

500 (1000) (3000) (5000)

D-M9BA, NA, PA common

112

D-M9BAV, NAV, PAV common

Mounting screw M2.5 x 4 ¢ Indicator light

Slotted set screw (Flat point)
8
,Zr/ |32

vt . - L
@ 22

D-M9NAV, PAV common

SVC

4.6

O

s
6 | Most sensitive position
[

Mounting screw M2.5 x 4 ¢

Indicator light

Slotted set screw (Flat point)

2

- L

3.2

4.6

-

22

«©
o

D-M9BAV




D-Y5943, D-Y693, D-Y7P(V)

Applicable |
cylinder series

Solid State Auto Switches
D-Y5, Y6, Y7P(V)/3 Wire, 2 Wire (Direct Mount Type)

Bore size [mm] ‘

[IMY1B (Basic)

16 20 25 32 40 50 63 80 100

[MY 1M (Slide bearing)

[MY1C (Cam follower guide)

||V|Y1 HT High rigidity/High precision guide)}

Auto Switch Specifications

D-Y5, D-Y6, D-Y7P, D-Y7PV (with

indicator light)

Auto switch internal circuits

Lead wire colours inside ( ) are those prior to
conformity with IEC standards.

Auto switch model no. | D-Y59A D-Y69A D-Y7P D-Y7PV D-Y59B D-Y69B
Electrical entry direction| In-line Perpendicular In-line Perpendicular In-line Perpendicular
Wiring type 3 wire 2 wire

Output type NPN ‘ PNP —

Applicable load

IC circuit, Relay, PLC

24V DC Relay, PLC

Power supply voltage

5,12, 24 V DC (4.5 to 28 V DC)

Current consumption

10 mA or less

Load voltage 28 V DC or less

24V DC (10 to 28 V DC)

Load current 40 mA or less

80 mA orless

510 40 mA

Internal voltage drop 1.5V orless

(0.8 V or less at 10mA load current)

0.8 Vorless

4V orless

Leakage current 100 pA or

less at 24 V DC

0.8 mA or less at 24 DC

Indicator light

Red LED lights up when ON

* Operating time 1ms or less

* Lead wires

* Impact resistance —— 1000 m/S?

Heavy duty oil resistant flexible vinyl cord,
@ 3.4, 0.15 mm2, 3 wire (Brown, Black, Blue [Red, White, Black]), 2 wire (Brown, Blue [Red, Black]) 0.5m™
* For a lead wire length of 3m, "L" is shown at the end of the part number.

Example) D-Y59AL

* Insulation resistance — 50 MQ or more at 500 V DC (between lead wire and case)
» Withstand voltage —— 1000 V AC for 1min. (between lead wire and case)

* Ambient temperature — -10 to 60 °C

D-Y59A, D-Y69A

ouT
Black [White]

Main switch

DC (-)
Blue [Black]

DC (+)
Brown [Red]

ouTt

: Black [White]
o DC ()

""""""""""""""" Blue [Black]

* Enclosure IEC529 standard IP67, watertight (JISC0920)
D-Y59B, D-Y69B
Weight it: F I—m -------------------- ° OUT (4)
g unit: [g] : H Brown [Red]
Model Lead wire length 0.5 m Lead wire length 3 m ! :
D-Y59A, Y69A, Y7P, Y7PV 10 53 : 2= :
3 3 3 ' =5 H
D-Y59B, Y69B 9 50 I A
I % :
: | +—o OUT (-)
R RERCEEEEERED ' Blue [Black]
Dimensions
D-Y59A, D-Y7P, D-Y59B D-Y69A, D-Y7PV, D-Y69B
$3.4
G ——] o -
125 |Most sensitive position 12.5 | Most sensitive position
Mounting screw M2.5 x 4¢ Mounting screw M2 x 4¢
25 Slotted set screw Slotted set screw
' g 25 Indicator light
|
al Shme—— T
29 ©
113



Solid State Switches
D-Y7

W/3 Wire, 2 Wire (Direct Mount Type)

D-YZNW(V), D-Y7PW(V), D-Y7BW(V)

Bore size [mm]

Applicable |

cylinder series 16 20 25 32 40 50 63 80 100
[IMY 1B (Basic) |
| MY 1M (Slide bearing) }
| MY 1C (Cam follower guide) }
|MY1 HT (High rigidtyHigh precision guide)}
Auto switch internal circuits
. . g . Lead wire colours ineid h )
Auto Switch Specifications B S ey those prcr o
D-Y7LIW, D-Y7LIWV (with indicator light) D-Y7NW(V)/3 wire NPN outout
Auto switch partno | D-YZNW | D-YZNWV | D-Y7PW | D-Y7PWV | D-Y7BW | D-Y7BWvV | | [~ o pC ()
Electrical entry direction In-line Perpendicular In-line Perpendicular | In-line Perpendicular Brown [Red]
Wiring type 3 wire 2 wire £ SIUTK Whi
Output type NPN [ PNP —_ 3 ack [White]
2

Applicable load
Power supply voltage
Current consumption
Load voltage

Load current

IC circuit, Relay, PLC 24V DC Relay, PLC
5,12,24 V DC (4.5t0 28 V DC) —
10mA or less —
28 V DC or less — 24V DC (10 to 28 V DC)
40 mA or less 80 mA or less 5to 40 mA

1.5Vorless
(0.8 V orless at 10 mA load current)

100 pA orless at 24 V DC 0.8 mAorlessat 24 VDC

Actuated position ..........cccceeeeiiiiinins Red LED lights up
Optimum operating position Green LED lights up

¢ Impact resistance —— 1000 m/sz

* Insulation resistance — 50 M or more at 500 V DC
(between lead wire and case)

* Withstand voltage —— 1000 V AC for 1min.
(between lead wire and case)

* Ambient temperature —-10 to 60 °C

* Enclosure |IEC529 standard IP67,
watertight (JISC0920)

Internal voltage drop 0.8 Vorless 4 orless

Leakage current

Indicator light

* Operating time — 1ms or less
* Lead wires Heavy duty oil resistant flexible vinyl cord,
@ 3.4, 0.15 mmz, 3 wire (Brown,Black, Blue
[Red, White, Black]), 2 wire (Brown, Blue
[Red, Black]), 0.5m"
+ For a lead wire length of 3 m, "L" is shown at the end of the part
number. Example) D-Y7ZNWL

Auto switch weights Unit: [g]

Model Lead wire length 0.5 m Lead wire length 3 m
D-Y7NW, Y7PW, Y7BW 10 53
D-Y7NWV, Y7PWV, Y7BWV 9 50

Auto Switch Dimensions

DC ()
Blue [Black]

D-Y7PW(V)/3 wire PNP outout

: oDC (+)

' i Brown [Red]
e !

e !

125 :

e —o0UT
8 ! Black [White]
L= % } :

5 7o DC ()

p——0 OUT (+)
Brown [Red]

Main switch

——-0 OUT ()
""""""""""""""" Blue [Black]

D-Y7OWV

12.5

Most sensitive position

Mounting screw M2.5 x 4¢
Slotted set screw
Indicator light

EBe]

D-Y7OW
mi  E— g
@ S l 5
| s
o
12.5 | Most sensitive position :# 8
Mounting screw M2.5 x 4¢ . §
Slotted set screw 034 =
<
25 Indicator light )
Q
o S =S T 0
ol 14 L N © t
29 (500) (3000) (5000)
2.5
[aV)
3] 6

O
2




Series MY'1

Auto Switch Mounting 1

Proper Auto Switch Mounting Position (Detection at stroke end)

MY1B (Basic type)

Proper Auto Switch Mounting Position

[mm]
910,816,020 Autoswitch| - p_popT D-Y5901/Y7P
modell  p.M9mIv D-Y69C1/Y7PV
B @ i D-M9CIW D-A9C] D-Y7OW
. D-M9CIWV D-A91V D-Y7OWV
D-M9CIAV D-Z701/Z280
A B Bore size A B A B A B
10 24 86 20 920 — —
16 315 128.5 275 1325 — —
050to @ 100 20 39 161 35 165 — —
50 — — — = 2725 1275
@ 63 3225 137.5 — — 3175 1425
@ 4} 80 4895 | 200.5 — — 484.5 | 205.5
== = 100 5745 | 2255 — — 569.5 | 2305
: il il Note 1) D-M9OOOtype cannot be mounted on @ 50.
Note 2) Adjust the auto switch after confirming the operating condition in the actual setting.
A B
MY1M (Slide bearing guide type . . -
( 99 ype) Proper Auto Switch Mounting Position [mm]
Q 16’ Q 20 Auto switch
D-M9[]
model D-Y5901/Y7P
EglASiey D-Y69Y7PV
D-M9CIW D-A9C]
D-MOCIWV D-A9CIV oy
—— ,¢ D-M9CIA :
% D-MOLIAV D-Z70/Z80
A B Bore size A B A B A B
16 74 86 70 90 — —
20 94 106 90 110 — —
Q@ 25 to @ 63 25 1435 75.5 — — 139.5 80.5
) 32 189.5 90.5 — — 184.5 95.5
S 40 2345 | 1055 — — 2295 | 1105
@® | @{{) 50 2835 | 1165 — = 2785 | 1215
© ) i!E © 63 3285 1815 — — 3235 | 1365

MY1C (Cam follower guide type)

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

Proper Auto Switch Mounting Position [mm]
Auto switch u
oy I e D-Y5901/Y7P
DALY D-Y69C/Y7PV
D-M9CIW D-A90] D-Y7LIW
D-M9OIWV D-A901V
D-Y7OWV
gl D-Z701/Z80
D-M9LIAV
Bore size A B A B A B
16 74 86 70 90 — —
20 94 106 90 110 — —
25 102 118 — — 97 123
32 132 148 — — 127 153
40 162.5 175.5 — — 157.5 182.5
50 283.5 116.5 — — 278.5 121.5
63 328.5 131.5 — — 323.5 136.5

g 16, 0 20
|
A B
@ 25to @ 63
— & T D]
==
A B

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

115



Series MY'1

Auto Switch Mounting 2

Proper Auto Switch Mounting Position (Detection at stroke end)

MY1H (Linear guide type)
010,016,090 20

— ]

|

Su—

3]

r

>

MY1HT (High rigidity/Linear guide type)

@ 50, @ 63

K—%A

How to Mount the Auto Switch (For MY1HT)

Proper Auto Switch Mounting Position [mm]
Auto switch
ool il D-Y5901/Y7P
pgtdsisly D-Y69C/Y7PV
D-M9CIW D-A9C] BITE
D-M9CIWV D-A9CIV
D-Y7OWV
AL LIEL D-Z701/280
D-M9CIAV
Bore size A B A B A B
10 24 86 20 90 — —
16 &l 128.5 27.5 132.5 — —
20 39 161 35 165 — —

Note) Adjust the auto switch after confirming the operating condition in the actual setting.

Proper Auto Switch

Mounting Position jmm
Auto switch D-Y59C1/Y7P
model | p_ye9r/Y7PV
D-Y7OW
D-Y7OWV
D-Y7BA
D-Z7[1/Z80
Bore size A B
50 290.5 123.5
63 3355 138.5

Note) Adjust the auto switch after
confirming the operating condition
in the actual setting.

When attaching an auto switch, first take a
switch spacer between your fingers and press it
into a switch mounting groove. When doing this,
confirm that it is set in the correct mounting
orientation, or reattach if necessary.

Next, insert an auto switch into the groove and
slide it until it is positioned under the switch
spacer.

After establishing the mounting position, use a
watchmakers flat head screwdriver to tighten the
auto switch mounting screw which is included.

T Wy

Correct Incorrect

116

O

Switch mounting groove

\

Switch Spacer No.

Note) When tightening an auto switch mounting

screw, use a watchmaker’s screwdriver with
a grip diameter of 5 to 6 mm. Also, tighten
with a torque of about 0.05 to 0.1 N-m

As a guide, it should be turned about 90°
past the point at which tightening can be
felt.

Cylinder series

Applicable bore size [mm]

50 63

MY1HT

BMP1-032




Operating Range

Auto Switch Mounting Series MY1

Note) Since this is a guideline including hysteresis, not meant to be guaranteed. (Assuming approximately + 30% dispersion.)
There may be the case it will vary substantially depending on an ambient environment.

MY1B (Basic type) mm MY1H (Linear guide type) mm
i A Bore size m T Bore size
HioSWIEhMOdet ™10 [ 16 | 20 | 50 | 63 | 80 | 100 Hio SWIEnmOdet 10 [ 16 | 20
D-ASC/A9CIV 6 | 65|85 — | — | — | — D-A9C/A9CIV 11 | 65| 85
D-M9OC/M9TIV D-M9L/MOCIV
D-MOCIW/MOCIWV | 35 | 4 |55 | — |12 |12 |115 D-MOCIW/MOCIWV | 3 | 45 | 5
D-M9LIA/MITIAV D-M9LIA/MOTIAV
D-Z70/Z80 — | — | = [115]115] 115|115 D-Z701/Z80 — | =1 =
D-Y5901/Y69L] D-Y59C1/Y69L]
D-Y7P/Y7PV — | — | — | 35| 35| 35| 35 D-Y7P/Y7PV — | = =
D-Y7OW/Y7OWV D-Y7OW/Y7OWV
D-M900Otype cannot be mounted on @ 50.
MY1HT
MY1M (Slide bearing guide type) [mm] (High rigidity/Linear guide type) {mmj
. Bore size ) Bore size
Auto switch model 16 20 25 32 40 50 63 Auto switch model 50 63
D-ASC/A9CIV 1 |75 =] = =] =1 = D-Z701/280 1 1 11
D-M9OLC/M9TIV D-Y5901/Y690]
D-M9CIW/M9CIWV 75|75 85| 85| 95| 7 6 D-Y7P/Y7PV
D-M9CIA/MOTIAV p-yzownyzowy | ° | °
D-Z701/Z80 — | — [12 |12 |12 |115|115 D-Y7BA
D-Y5901/Y69L]
D-Y7P/Y7PV — — 5 5 5 55 55
D-Y7OW/Y7OWV
MY1C (Cam follower guide type) [mm
i e Bore size
o swiChmocel ™16 [ 20 | 25 | 32 | 40 | 50 | 63
D-ASC/A9CIV 1 |75 — | [ =] =1=
D-M9LI/M9CIV
D-MOCIW/MOCIWV | 75| 75| 7| 8| 85| 7 | 6
D-M9LIA/MILIAV
D-Z701/Z80 —_ — 12 12 | 12 115|115
D-Y5901/Y69]
D-Y7P/Y7PV — — 5 5 5 55 5.5
D-Y7OW/Y7OWV
Switch Mounting Bracket: Part No.
@ 50, @ 63: MOI(V)/MOLIW(V)/MIIA(V)
) Bore size [mm]
Auti tch del BMG2-012
o swiieh moce 210, 0 16, @ 20 050, 0 63
D-A9LI/A90IV
D-M9C/MOCIV
D-MCIW/MOTIWV BMG2-012
D-MOTIA/MOCIAV

Note1) MY1B/MY1C/MY 1M, D-A90Otype cannot be mounted on @ 50 to @ 100 of
Series MY1. D-M9OOO type cannot be mounted on @ 50 of Series MY 1B.

e |

N e e e e e e e e e e e mmm—m = — ==y

Besides the models listed in How to Order, the following auto switches are applicable.

1
Refer to pages 107 to 117 for the detailed specifications. |
Auto switch type Part no. Electrical entry (Fetching direction) Features Applicable bore size 1
D-Y69A, Y69B, Y7PV _ — 1
Grommet (Perpendicular) - — — 1
. D-Y7NWV, Y7PWV, Y7BWV Diagnostic indication (2-colour indication)

Solid state @25t0 @ 100 1

D-Y59A, Y59B, Y7P ) -
Grommet (In-line) - — — 1
D-Y7NW, Y7PW, Y7BW Diagnostic indication (2-colour indication) 1
= For solid state auto switches, auto switches with a pre-wired connector are also available. Refer to website on www.smc.eu for details. 1

= Normally closed (NC = b contact) solid state auto switches (D-FOG/F9H/Y7G/Y7H types) are also available.

117

SVC

O



Series MY1
Made to Order Specifications

Please contact SMC for detailed dimensions, specifications, and lead times.

Made to Order application list

Helical Dust seal | Shock Absorber | Konck Pin
insert threads | band NBR Soft Type holes
X168 XC67 XB22 XC56
MY1B |Basic type [J [ J [ J
MY1M |Slide bearing guide type [ ® ®
MY1C |Cam follower guide type ® [ ] [ ] [ ]
MY1H |High precision guide type [J ([} (] °
MY 1HT| High rigidity/High precision guide type ([ ]

ﬂ Helical Insert Thread Specification i qL:}:]

The mounting threads of the slider are changed to helical insert
threads. The thread size is the same as standard.

MY1|B| [Bore sizeHStroke[HAuto switch| [Symbol|-X 168

Series/Bore size 10 16 20 25 32 40 50 63 80100
B | Basic type (@)
M | Slide bearing guide type
C | Cam follower guide type
H | High precision guide type [

1 Tallalt 4 LB
HT H:gr? ;glrgelgig?gn guide type R

Example) MY1B40G-300L-Z73-X168

E Dust Seal Band NBR Lining Specification . (e:-y4

The standard vinyl chloride lining specification is changed to NBR
lining. Improved oil resistance and peeling resistance.
Note) Consult SMC for specific oil resistance.

(@) indicates available by special order.

MY1|B)| [Bore size|HStrokeHAuto switch||Symbol-XC67

Series/Bore size 10 16 20 25 32 40 50 63 80100
B | Basic type

M | Slide bearing guide type
C | Cam follower guide type
H | High precision guide type

HT High rigidity/
High precision guide type

Furthermore, @ 10, @ 80 and @ 100 are
available only in stainless steel plate and the
NBR lining specification is not available.

Example) MY1B40G-300L-273-XC67
For ordering dust seal band (NBR lining) only

MY [Bore size|-16 B N [ |- [Stroke]

Dust seal band[ Dust seal band hexagon socket
NBR lining head set screw treatment
— | Black zinc chromated
W | Nickel plated

Refer to "Dust seal band" in the construction
figures of each series for details.

Example) MY25-16BNW-300

118



Series MY1
Made to Order Specifications

Please contact SMC for detailed dimensions, specifications, and lead times.

Symbol
B Shock Absorber Soft Type Series RJ Type -XB22

« Values in the maximum impact mass graph

Maximum Impact Weight Graph (Shock Absorber Performance Line Graph) are at room temperature (20 to 25 °C).

Ensure that the impact mass and the impact speed are within the absorbed energy graphs below.
Refer to each cylinder selection calculation for load factors and guide load factors.

MY1|B| [Bore size |-[Stroke || Auto switch || Symbol | -XB22

® Series/Bore size

B |Basic type
M | Slide bearing guide type
C | Cam follower guide type
H | High precision guide type

Example) MY1B40G-300L-Z73-XB22

H Type of collision
Horizontally-applied impact
Air cylinder impact (horizontal/upward) Air cylinder impact (downward)

RJ0805 Absorbed Energy RJ0806H Absorbed Energy
25 4.0
g gv 35—\
2.0 N
£ . E 30
5 Horizontal or 5 :
2 <upward impact Q2
8 15 8 25 N :
> \ &> | mmmmmmee- . Horizontal or
% Downward impact \ % 2.0 )\ upward impact
1] 1] Downward ‘\\
a 1.0 el 2 15 N -
E T ——_ E impact \
5 e S 49 BN
2 o5 2 \
= S os Bl =
0.0 0.0 -
0 0.2 0.4 0.6 0.8 1 0 0.5 1 1.5
Collision speed v [m/s] Collision speed v [m/s]
RJ1007H Absorbed Energy RJ1412H Absorbed Energy
12 18
— — AN
) \ > 16
= 10 = Horizontal or
E \ E 14 upward impact \\
i 8 \ 2‘)_3‘ 12 e ———— ~
s \< Horizontal or 8 o \
= R > upward impact o 10 >
£ 6 hON & P £ Downward impact/ Sy \
S Downward /"\~ S 8 T
Q H Sso a S
g 4 ImpaCt Rt ~ \ g 6 ~~~‘“~
© ~~~'~ \ f E
» el o 4
% 2 == e %
= N s 2
0 0
0 0.5 1 1.5 0 0.5 1 1.5
Collision speed v [m/s] Collision speed v [m/s]

= Be sure to read “Specific Products Precautions” on RJ catalogue Series.

119



Series MY1
Made to Order Specifications

Please contact SMC for detailed dimensions, specifications, and lead times.

Symbol
nWith Knock Pin Holes -XC56

Cylinder with knock positioning pin hole.

MY1 @ [Bore size |-[Stroke|-[ Auto switch |[Symbol| -XC56
s

eries/Bore size
H | Linear guide
C | Cam follower guide type

Example) MY1H40G-300L-Z73-XC56

Dimensions
Series MY1C Series MY1H
XGh7_ -
Long hole XA
depth XG E Long hole XGH7
! depth XG
3 * L lF L4 [ lﬁ ®— @ ]
o —o ° B I | _¢ —
ol _ _3 t — > %:" .@f'_,l'[ T ‘4’_@ _é_%
—ﬂ | — Sl
o S o (IS ] ] %
ol ] X — °
XA | \@XGHdepth XG - <+ -%\ <+ —3
Mounting surface of a workpiece for the slide table 9 @ XGH depth XG
— T . Mounting surface'of a workpiece for the slide tat);(ls
o -
@ i ow o 5
o e ! e ==
J e &
E%.:H Long hole x| & @'é' x
OXGirdepth XG  depth XG/ ||| XJ ] z o !
XE_ | (XD + Stroke) £0.3 - b [
@ XGH7 depth XG Long hole
Mounting surface of cylinder tube XE | (XD + Stroke) £0.3 depth XG
Mounting surface of cylinder tube
[mm] [mm]
Boresiz XA | XB | XD | XE | XG | XH | XJ Egj XA | XB | XC | XD | XE | XF | XG | XH | XJ
16 40 40 80 40 4 5 9 10 25 33 3.5 70 20 21.5 3 4 5
20 50 40 100 50 4 5 9 16 40 40 7.5 80 40 30 4 5 7
25 51 50 110 55 5 6 10 20 50 40 | 145 | 100 | 50 39 4 5 7
32 66 60 140 70 6 7 11
40 81 80 180 80 6 7 11
50 100 90 230 85 8 9 13
63 115 110 280 90 10 10 15
Symbol
E Magnet for o010 Solid State Auto Switch Specifications -X1810

By incorporating the use of the magnet for solid state auto switches, switch operation stability can be achieved.
= |f you are using, or planning to use, the cylinder in combination with a solid state auto switch, but are currently only ordering the cylinder,
please add the “-X1810” suffix to the end of the product number.

MY1|B|10G —|Stroke ?—xmo
S

lMagnet for 010 solid state auto switch specifications

Type troke adjustment unit
B |Basic

H |Linear guide

* |f an auto switch is included in the product number, the “-X1810” suffix does not need to be added to the end of the product number.
Example) MY1B10G-300H-M9BL

120 SvC

O



Series MY1
Specific Product Precautions

Be sure to read before handling.

A\ Caution

1. Do not inadvertently move the setting of the
guide adjustment unit.

* The guide is already adjusted at the factory, and readjustment
is not necessary under normal operating conditions. Therefore,
do not inadvertently move the setting of the guide adjustment
unit. However, series other than series MY1H allow readjust-
ment and bearing replacement, etc.

In this case, refer to the outline for bearing replacement in the
instruction manual.

A\ Caution

1. External air leakage may occur.
¢ In operating conditions where negative pressure is generated
inside the cylinder because of external or inertial forces, etc.,
take note that external air leakage may occur due to separa-
tion of the seal belt.

Mounting

A\ Caution

1. Do not apply strong impact or excessive
moment to the slide table (slider)
e Since the slide table (slider) is supported by precision bearings

(MY1C, MY1H) or resin bearings, do not subject it to strong
impact or excessive moment when mounting work pieces.

2. Perform careful alignment when connecting
to a load which has an external guide mecha-
nism.

e Mechanically jointed rodless cylinders can be used with a
direct load within the allowable range for each type of guide,
but careful alignment is necessary for connection to a load
which has an external guide mechanism.

Since fluctuation of the centre axis increases as the stroke
becomes longer, use a method of connection which can
absorb the variations (floating mechanism).

Furthermore, use the special floating brackets, which have
been provided for series MY 1B.

3. Avoid use in environments where a cylinder
will come in contact with coolants, cutting oil,
water, adhesive matter, or dust, etc. Also
avoid operation with compressed air that con-
tains drainage or foreign matter, etc. :
* Foreign matter or liquids on the cylinder's interior or exterior

can wash out the lubricating grease, which can lead to deterio-
ration and damage of dust seal band and seal materials, !
causing a danger of malfunction.
When operating in locations with exposure to water and oil, or .
in dusty locations, provide protection such as a cover to
prevent direct contact with the cylinder, or mount so that the !
dust seal band surface faces downward, and operate with !
clean compressed air.

SVC 121

O



Series MY1

Specific Product Precautions

Be sure to read before handling.

/A Caution

Centralised Piping Port Variations

* Head cover ports can be freely selected to best suit different situations.

Applicable cylinder

Port variations

Note 1) These ports are not applicable to MY1H10.

[ S—
Note1E)é;><:II @

MY1B10
MY1H10 S s
) N
> | ¢
1

@ @;:::L:ll\loteﬂ
O =

Slide table operating direction

MY1B16 to 100

MY1M16 to 63
MY1C16 to 63
MY1H16 to 40 e — —
Lel&E (8 8 =l
ENoteBz) @ ® HNogz)
s of
Slide table operating direction
Note 2) Refer to the above diagram for bottom piping.
MY1HT50, 63
e A A R S e
T A S <
I I T —
fffffffffffffffffffffffffffff

@ =

Slide table operating direction

122







A\ Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or
equipment damage. These instructions indicate the level of potential hazard with the
labels of “Caution,” “Warning” or “Danger.” They are all important notes for safety

and must be followed in addition to International Standards (ISO/IEC)*1), and other

safety regulations.
r A Caution indicates a hazard with a low level of risk 1
I A Cautlon: which, if not avoided, could result in minor or moderate
1 injury.
|
|
|
|

. Warning indicates a hazard with a medium level of risk
/A Warning:

yvhich, if not avoided, could result in death or serious
/\ Danger :

injury.
U g U R R U U R ———

Danger indicates a hazard with a high level of risk 1
which, if not avoided, will result in death or serious injury. |

/A Warning

1. The compatibility of the product is the responsibility of the person
who designs the equipment or decides its specifications.
Since the product specified here is used under various operating conditions, its
compatibility with specific equipment must be decided by the person who designs the
equipment or decides its specifications based on necessary analysis and test results.
The expected performance and safety assurance of the equipment will be the
responsibility of the person who has determined its compatibility with the product. This
person should also continuously review all specifications of the product referring to its
latest catalogue information, with a view to giving due consideration to any possibility of
equipment failure when configuring the equipment.

. Only personnel with appropriate training should operate machinery
and equipment.
The product specified here may become unsafe if handled incorrectly. The assembly,
operation and maintenance of machines or equipment including our products must be
performed by an operator who is appropriately trained and experienced.

3.Do not service or attempt to remove product

machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be performed
after measures to prevent falling or runaway of the driven objects have been
confirmed.

. When the product is to be removed, confirm that the safety measures as mentioned
above are implemented and the power from any appropriate source is cut, and read
and understand the specific product precautions of all relevant products carefully.

. Before machinery/equipment is restarted, take measures to prevent unexpected
operation and malfunction.

. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use outdoors or in
a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air navigation,
space, shipping, vehicles, military, medical treatment, combustion and recreation, or
equipment in contact with food and beverages, emergency stop circuits, clutch and
brake circuits in press applications, safety equipment or other applications unsuitable
for the standard specifications described in the product catalogue.

3. An application which could have negative effects on people, property, or animals
requiring special safety analysis.

4.Use in an interlock circuit, which requires the provision of double interlock for possible
failure by using a mechanical protective function, and periodical checks to confirm
proper operation.

N

and

n

w

IS

#1) ISO 4414: Pneumatic fluid power — General rules relating to systems.
1SO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.

(Part 1: General requirements)
ISO 10218-1: Manipulating industrial robots - Safety.
etc.

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and
Disclaimer” and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1.The warranty period of the product is 1 year in service or 1.5 years
after the product is delivered, wichever is first.2
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly
our responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty
terms and disclaimers noted in the specified catalogue for the particular
products.

%x2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum

pad or failure due to the deterioration of rubber material are not covered by the limited
warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly prohibit-
ed.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries
involved in the transaction. Prior to the shipment of a SMC product to
another country, assure that all local rules governing that export are known
and followed.

A\ Caution

1. The product is provided for use in manufacturing industries.
The product herein described is basically provided for peaceful use in manufacturing
industries.
If considering using the product in other industries, consult SMC beforehand and exchange
specifications or a contract if necessary.
If anything is unclear, contact your nearest sales branch.

A\ Caution

SMC products are not intended for use as instruments for legal
metrology.

Measurement instruments that SMC manufactures or sells have not been qualified by
type approval tests relevant to the metrology (measurement) laws of each country.
Therefore, SMC products cannot be used for business or certification ordained by the
metrology (measurement) laws of each country.

’ASafety Instructions | Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

SMC Corporation (Europe)

Austria @ +43 (0)2262622800  www.smc.at office@sme.at Lithuania @ +370 52308118 www.smlt.ft info@smclt.lt

Belgium @ +32 (0)33551464  www.smcpneumatics.be  info@smcpneumatics.be | Netherlands @ +31(0)205318888  www.smcpneumatics.nl info@smcpneumatics.nl
Bulgaria & +359 (0)2807670  www.smc.bg office @smc.bg Norway @ +47 67129020 WWW.SmC-norge.no post@smc-norge.no

Croatia @ +385 (0)13707288  www.smc.hr office@sme.hr Poland @ +48 222119600 Www.sme.pl office@sme.pl

Czech Republic @& +420 541424611 WWWw.Smc.cz office@smc.cz Portugal @ +351226166570  www.smc.eu postpt@sme.smees.es
Denmark @ +45 70252900 www.smedk.com smc@smedk.com Romania @ +40 213205111 WWw.smcromania.ro smcromania@smcromania.ro
Estonia @ +372 6510370 www.smepneumatics.ee  smc@smcpneumatics.ee | Russia @ +7 8127185445 www.sme-pneumatik.ru info@smc-pneumatik.ru
Finland @& +358 207513513 www.smcfi smcfi@sme.fi Slovakia @ +421(0)413213212  www.smc.sk office @smc.sk

France @ +33(0)164761000  www.smc-france.fr info@smc-france.fr Slovenia @& +386 (0)73885412  www.smc.si office@smc.si

Germany @ +49(0)61034020  www.smc.de info@smc.de Spain @ +34 902184100 WWW.Smc.eu post@smc.smces.es

Greece @+302102717265  www.smchellas.gr sales@smchellas.gr Sweden @ +46 (086031200  www.smc.nu post@sme.nu

Hungary @ +36 23513000 www.smc.hu office @sme.hu Switzerland @ +41(0)523963131  www.smc.ch info@smc.ch

Ireland @ +353 (0)14039000  www.smcpneumatics.ie  sales@smcpneumatics.ie | Turkey @+902124890440  www.smcpnomatik.com.tr  info@smcpnomatik.com.tr
Italy & +39 0292711 www.smeitalia.it mailbox @smcitalia.it UK @ +44(0)845 1215122 www.smepneumatics.co.uk sales@smcpneumatics.co.uk
Latvia @ +371 67817700 www.smelv.lv info@smclv.lv

SMC CORPORATION Akihabara UDX 15F, 4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN Phone: 03-5207-8249 FAX: 03-5298-5362

1st printing VS printing VS 00 Printed in Spain

Specifications are subject to change without prior notice and any obligation on the part of the manufacturer.



